e e
Machine Tools Price

E-mail:eva@mzgtool.cn

¢

—]

WeChat Linkedin

QB0 0N?, STV V0DTE X
Scanning, Contact Us

P 0 1 B0, B* D’ on* Be3e3TE E P 1 6 waEoh I 0BT | RRRT* Be RGRF on® G o tapw*
. Carbide Milling Cutter External Cylindrical/Inner Hole Ri*8pa’on® 80 = o< @3

P2, doowsoudsuus pegpem P17, [urviesesna g0 g

Cemented Carbide Cutter Grooving/Cut-Off Turning Tool

P O 3 BTV TDNBS I*3*T e b B¢ % P 1] 00000/ 000000 0000 t*des’on® 88t ont®
- Extrusion Screw Tap -

End Face/lnner Hole Grooving Turning Tool

9B L30T S — TR’ 383 on* et .
P04 - AF;\)GX Tap N P1 9(0 CNg Turning Tool

P ()5 BF 0207 1 ORea w50t ey P 2 (JF R wevs daririeh wd‘é’o?& ﬁ /N"

Spiral Grooved Tap * CNC Turning Tool Parts

P 0 6 B 208" *AhIBS/ RBBRV B \ P 2 1&”@5” 3% sone D we’on* BeteTT. gy « é
* Hand Tap/Circular Die =5 . BAP Cutright right —

o B
P? J00-000000000 00000 00000000000 jﬁm‘ﬁ
* Machine-Clamped Round Nose Milling Cutter e

PO7. S CCMT..

-] =
P08' , DCMT.. DNMG.. P23' KM12.. SEHT.. &239.. P3200..
P09. | o [N SNMG.. P24. :“:‘:‘:;:;”::Z:‘?;:;“?:;teyiii;‘ifi’;‘iiif;??;*E:f
P10. A e A . P2smTes o B
P11. JVBMT.. = VNMG.. P2 zf%éf;?:;a?:;alﬁggfw E&E
P12. @WNMG_ 4 ) WNMG.. P27. ER. . g ‘FMA/B.. l
P13, sy 6 rs e, K.

P14 BerS-es3< | 0Rcort* | weabod® Bevn gonnh Soor? .ﬂ P2Q CNCaavt BreerBa% IFRIRG % -
. Cut-Off/Grooving/Back Turning Of Small Parts . g -

CNMG..

CNC Tool HolderAccessories

woB<ab B0’ 0BTIBITT TGRS or* 3T or* erper® 0 ¥3* IF°30NW . o 3 e
P 1 5 External °0°0@3398933 R 3ea’on® Turning TQ P3 O * Lathe Chuck Accessories ub @ w
3)3*B°BT BT*F’ort?, D’ V’ont?, FET’BE on* DB NPT o BWeV* T TPI’ T oN* LPU* T I P NTEBI*.

Professional Turning, Mil ling, Threadingand,Boring Hole Processing Tool Configuration.



mailto:eva@mzgtool.cn

390*Y’ Ci" D’’on® 3e3%e3T*

Carblde Milling Cutter

saa orasnw ssesesesa | [ ] 111 0] 107 O O [T 0 O OO O O O 0 T O T g A Bl e dkdigB a1 I 10
&eew® 45HRC BVt e’ 55 a0 R B9t Tee’ew* 58HRC B°9r” 60HRC 3°9r" g*es’ew® 65HRC 8"¥rt" 83 Sfe’ew®
D1IEID Black Coatings Can Cut | Copper Coatings Can Cut Nano Black Coatings Can Cut Nano Copper Coatings Can Cut Nano Blue Coatings Can
E#J L ‘ Steel Below 45 HRC Steel Below 55 HRC Steel Below 58 HRC Steel Below 60 HRC Cut Steel Below 65 HRC
R R R R R
e ——— b v a8 AR
PN [ f; i N %
P! A
Right-Angle Ball End
Milling Cutter Milling Cutter A
D1 L1 DL RL1IDL
1. 0x3xD4x50 | RO. 5x2xD4x50 2026 2.7 | 3.1 4.6 5.1 5.1 5.715.7
1. 5x4xD4x50  |RO. 75x3xD4x50 2026 2.7 | 3.1 4.6 5.1 5.1 57|57
2. 0x6xD4x50  |R1. 0x4xD4x50 2.0 2.6 2.7 3.1 4.6 5.1 5\ 5.7 5.7
2.5x8xD4x50 |R1.25x5xD4x50 | 2.0 | 2.6 2.7 ] 3.1 4.6 5.1 5.1 5.7156.7
3. 0x8xD3x50  |R1. 5x6xD3x50 2026 2.7 | 3.1 4.6 5.1 5.1 57| 5.7
3. 0x12xD3x75 |R1. 5x6xD3x75 3.1 139 4.4 5.1 7.1 7.7 7.7
3. 0x15xD3x100 |R1. 5x6xD3x100 3.6 (4.4 5.0 5.6 8.7 8.7 8.7
3. 0x8xD4x50  |R1. 5x6xD4x50 2.0 2.6 2.7 3.1 4.6 5.1 5.1 5.7 5.7
3.5x10xD4x50 |R1.75x7xD4x50 | 2.0 | 2.6 2.7 ] 3.1 4.6 5.1 5.1 5.7156.7
4. 0x10xD4x50 |R2. 0x8xD4x50 1.7 126 (3.4]27|3.1]|49|44[46](60 6 6.7 516,151 [61]57]|57]|76
4. 0x20xD4x75 |R2. 0x8xD4x75 22913.6|50[44]51] 61 711 7.9 6.6 816781 7.7|(7.7]|8.7
4. 0x25xD4x100 |R2. 0x8xD4x100 3.3141]16.4]15.0|5.4(7.7 7.6 9.0 7.8 19.117.9[9.1]18.7]8.7]10.0
5. 0x13xD5x50 |R2. 5x10xD5x50 3.7 147169475677 8.1(9.3 9.5 [11.6[ 9.6 [11.6[10.7]10.7[12.3
5. 0x13xD5x75 |R2. 5x10xD5x75 5361 7.7(7.4(81[91 11.3(13.5 13.0113.0(14.7
5. 0x13xD5x100 |R2. 5x10xD5x100 | 6.6 | 7.6 | 11.0[ 8.9 [ 9.6 | 11.1 13.0115.7 15.3116.3|17.1
5. 0x13xD6x50 |R2. 5x10xD6x50 3.7143)6.4]|147)57]8.4 8.1[19.3 9.5 [11.6] 9.6 [11.6[10.7]10.7[12.3
6. 0x15xD6x50 |R3. 0x12xD6x50 3114364475784 7.4]181]93]|94]10.5]19.5(11.6]|9.6]11.6]110.7]10.7]12.3
6. 0x20xD6x75 |R3. 0x12xD6x75 4.9 (56| 7.1(7.4(8.1([10.0 11.1(12.4 11.4(13.6(11.4(13.6[13.0|13.0(14.7
6. 0x30xD6x100 |R3. 0x12xD6x100 | 6.0 | 7.0 | 10.3| 8.9 | 9.6 | 11.4 13.6(15.0 13.4(16.3(13.4(16.3[15.3|156.3|17.3
6. 0x30xD6x150 |R3. 0x12xD6x150 | 12.3 | 14.3 | 18.7[18.7|19.9|23.4 27.6 26.5 26. 6 26.3126.3]129.7
8. 0x20xD8x60 |R4. 0x16xD8x60 5.9 7.6 (10.4( 8.4 (10.0({13.3| 13 [13.9(15. 156.3(16.5(15.3(18.4(15.3(18.4[17.6|17.6(20.3
8. 0x25xD8x75 |R4. 0x16xD8x75 8.119.4111.6[11.0(12.4]15.3 17.6119.3 17.7(21.1(17.7(21.1120.0|20.0(22.6
8. 0x35xD8x100 |[R4. 0x16xD8x100 | 9.6 | 11.1[14.0[14.0[15.4|19.6 21.4123.8 22.1126.6122.1|26.6125.0]25.0|28.7
8. 0x40xD8x150 |R4. 0x16xD8x150 | 19.0|22.129.0|25.9|27.3|32.3 35.4 37.1 37.1 41.0141.0/45.0
10x25xD10x75 |R5.0x20xD10x75 | 9.6 (12.7 (16.6]15.1]16.6|21.6|21.4(23.3(25.7(24.3|126.2|24.7(30.3(24.7130.3]|27.7|27.7(32.0
10x40xD10x100 |R5. 0x20xD10x100| 14. 6| 16.9 [ 21.0]20.3|21.3 | 29.1 30.3(33.1[32.5|34.8(31.3]|37.4(31.3|37.4(31.7(31.7(37.3
10x45xD10x150 |R5. 0x20xD10x150| 28. 1 | 32.9 | 41.7|39.4 | 41.7|48.3 56. 1 54.4 54. 4 54.7154.7]63.0
12x30xD12x75 |R6. 0x24xD12x75 | 14.9|17.4122.0121.1]23.3|28.7|28.3]33.1|36.4(32.9|35.5(32.6|39.4(32.7|39.4(37.0(37.0(42.0
12x45xD12x100 |R6. 0x24xD12x100| 19.4 | 22. 6| 28.1(27.7|28.7|37.0 40.4144.5)|148.6|52.4143.5|47.3|143.6|47.3|147.0|47.0|53.0
12x50xD12x150 |R6. 0x24xD12x150| 34. 3 | 40.0 | 50. 7] 49.3|52. 1| 60.3 72.9 70.7 70.7 77.6177.6]85.6
14x35xD14x80 |R7.0x28xD14x80 | 25.6 | 29.7 32.3]34.1 49.3 54.3| 58
14x40xD14x100 |R7. 0x28xD14x100| 27. 1 | 31.7 34.6]38.0 52.9 54.4 54.4 61.0|61.0(70.6
14x60xD14x150 |R7. 0x28xD14x150| 49. 6 | 57.9 64. 6] 68.3 95.4 91.2 91.1 100. 6/100. 6
16x40xD16x100 R8. 0x32xD16x100| 35. 7 | 38. 9 51.0153.0 63.6(74.0 67.4| 73 |72.8 72.9 78.7178.7191.3
16x65xD16x150 |R8. 0x32xD16x150| 63.3 | 73. 9 86.0(91.0 129.0 116.3 116.3 127.6|127. 6[143.0
18x40xD18x100 |R9. 0x36xD18x100| 43. 3 | 50. 4 59.1165.1 89.7 82.3]|87.9188.4 88.4 96.7196.7(111.3
18x65xD18x150 |R9. 0x36xD18x150| 74.9 | 86. 7 101.3|101.3 148. 1 153. 1 153.1
20x40xD20x100 |R10x40xD20x100 | 52.7 | 57. 6 73.1175.9 95.31106.7 93.5(102.9{105. 5 105. 4] 115.7|115.7(133. 7
20x65xD20x150 |R10x40xD20x150 | 86. 3 |100. 7 126.11126.1 168. 3 180. 3 180. 3 196. 3|1196. 3(220.0

55 BT 0T T 0 FoR B L 0RO G U205
roseror ettt
55 Deuma\ Point Non-Standard Flat-End Milling Cutter

RN =

55° @rabur Faaout FsFeRutdnodded ot aodt oo sersss. L DO OO000 0000000 0000000000000 O000000000000000IO00 0000 00000C

55° Decimal Point Non-Standard Ball End Milling Cutter

60HRC 391" eud*8°s 3e3* 230D

Small Diameter Long Neck Flat-End Milling Cutter
| Can Cut Steel Below 60 HRC

60HRC 39" eu8“8°s 3e* 3B
Small Diameter Long Neck Ball-End Milling Cutter
Can Cut Steel Below 60 HRC

k2 S
D11 =4mm R e ——— —[D=4mm
Fowrstes R D L we Fowratus R D L Jt Pl =somm It
D1. 1-D3. 9xD4x50 4.3 RO.6-R1.9xD4x50 i < ! N
D4. 1-D5. 9xD6x50 6.9 2903 B 3003 DB DB*ao33 RO. 1mm R ot & R R
D6. 1-D7. 9xD8x60 12.4 "RO.5-R1. 5xD4x75 6.9 0.3 4.6 5.3 0.3 |2/3/4 4.6 5.3
D8. 1-D9. 9xD10x75 20.4  R0.5-R1.5xD4x100 7.6 0.4 | 2/3/4/5/6 4.6 5.3 0.4 | 2/3/4/5/6 4.6 5.3
D10. 1-D11. 9xD12x75 29.0  RO.5-R2. 0xD6x50 7.6 0.5 | 2/3/4/6/8 4.6 5.3 0.5 | 2/3/4/6/8 4.6 5.3
3793 FId a3 3 DHabosd 0. 1mm 0. 5-R2 6x75 10. 7 0.6 |2/3/4/6/8 4.6 5.3 0.6 | 2/3/4/6/8 4.6 5.3
RO. 5-R2. 5xDéx
D1. 0-D3. 0xD4x75 6.0 RO.5-R2. 5xD6x100 12. 6 0.7 | 3/4/6/8/10 4.6 | 5.3 0.7 |3/4/6/8/10 4.6 | 5.3
D1. 0-D3. 0xD4x100 6.4 S0P PEOWII DS DFWoIT RO. 26mm 0.8 | 3/4/6/8/10 4.6 5.3 0.8 | 3/4/6/8/10 4.6 5.3
D1. 0-D4. 0xD6x50 6.4 0.9 | 3/4/6/8/10 4.6 5.3 0.9 | 3/4/6/8/10 4.6 5.3
R4x120 20.7

D1. 0-D5. 0xD6x75 9.6 R4x200 43.6 1.0 | 6/8/10/12/15/20| 3.9 | 4.6 1.0 | 6/8/10/12/15/20| 4.6 | 5.3
9‘1-_0"05-‘0X06§100 1.9 R5x120 32.4 1.5 | 6/8/10/12/15/20| 3.9 4.6 1.5 | 6/8/10/12/15/20| 4.6 5.3
B;is;:{gé BB ees0 O Sun 77 R5x200 40. 3 2.0 | 8/10/12/15/20 3.9 4.6 2.0 | 8/10/12/15/20 4.6 5.3
D4x15xD4x50 40 E(é»g(z)g gg g 2.5 ’\:.0/1D2./15t/2;)” - dM”3. ‘i - 4(1: 6C t 2.5 | 10/12/15/20 4.6 | 5.3
D6x20xD6x50 6.9 X . icro-Djame ﬁi a ! nd Milling Cutter Can Cu 300 F90bITB VT T b '8 T0T RpeR UL 20T BFVFor* BT
DB§30§D8§60 12.4 R8x200 154.7 e Be-End Milling Cutter Can Cut Small Diameter Long Neck Round Nose Flat End Milling Cutter
D8x40xD8x120 20.7 R10x200 222.9 Steel Below 60 HRC T =1 -
D8x200 43. 6 Micro-Die’zmthiiFlat-(End Milling Cutter Can Cut n T L1, E;SOrﬁm \ﬂm_m
D10x30xD10x75 20.4 V?/I?(’:"rlé-CD\sa?nr;l:r EI;TTE;I)-End Milling Cutter Can Cut R‘I- = ‘D=4mm DLs -
D10x35xD10x75 20.4  Steel Below 60 HRC ¥ elLt 5omm i D1 R L1 Slacestorieri
D10x50xD10x100 26.1 D1 T e D=4mm ' ' D1RO. 1 4/6/8/10 10.3
D10x45xD10x120 32.4 AL L=50mm [y D1RO. 2 4/6/8/10 10.3
D10x200 64.3 - - D1.5R0. 1| 6/8/10/12 10.3
D12x35xD12x75 27. 4 55’%‘155’D3‘E33’ Ypeeorient Ri’d;ﬁ’Da*l’_wé’ S D1.5R0. 2| 6/8/10/12 10.3
D12x50xD12x100 34.7 D2RO. 1 8/10/12/16 | 10.3
D12x45xD12x120 42.9 0. 3xD4x50 4.6 5.3 RO. 15xD4x50 5.3 5.4 D2RO0. 2 8/10/12/16 | 10.3
D12x200 86.9 0. 4xD4x50 4.6 5.3 RO. 2xD4x50 5.3 5.4 D3RO. 2 12/16/20 19.3
D13xD14x100 54.7 0. 5xD4x50 4.6 5.3 RO. 25xD4x50 5.3 5.4 D3RO. 5 12/16/20 19.3
D15xD16x100 66.7 0. 6xD6x50 4.6 5.3 RO. 3xD6x50 5.3 5.4 D3RO. 5 26/30 24.6
D16x50xD16x100 63.1 0. 7xD6x50 4.6 5.3 RO. 35xD6x50 5.3 5.4 D4RO0. 2 16/20 19.3
D16x200 154.7 0. 8xD8x50 4.6 5.3 RO. 4xD8x50 5.3 5.4 D4R0. 5 16/20 19.3
D20x200 222.9 0. 9xD8x50 4.6 5.3 RO. 45xD8x50 5.3 5.4 D4R0. 5 26/30 24. 6

PR

NRRARI

A I T A A r A r 1ttt ety rrariririrarirtreririririr1riririr1e

De’I WO’ IVR, T DB DO BT BRIDVIB IS IT’.
e aBO%’ BB BT E BoT* 3T

http:// www.mzg.tw

eva@mzatoo! cn


http://www.mzg.tw

o’ 0e3* 8‘@6‘&36‘ 5639630

Cemented Carbide Cutter

u-00000 DOD0OOO0O00 fedeblabéblibleder b bbb 101 [

[0 55 0u*88s° 9" ev3*3d’ s 3u3° BB

Single-Edge Acrylic / Aluminium Milling Cutter

3-Edged Taper Milling Cutter For Tungsten

0Ry00 00000
EQEL(_ID

COO00dooo oogoe
i i M i i |

CuﬂerCan Cut Steel Below 55 HRC

OOD000 55 od¢esss vt oudse's sa* sl } H, b2
f D1Jj‘%-:-
D1 7m_ D 30D W’ 30h DR e’
L1 L D1 a° L1 D2D L 3F en D1 a® L1 D2D L 3F en T P
D1x0. 5°x4LxD1. 07xD4x50Lx3F | 6.9 D4x0.5°x15LxD4. 26xD6x50Lx3F |11.9 DIR D L en
D1x1°x4LxD1. 14xD4x50Lx3F 6.9  D4x1°x15LxD4. 52xD6x50Lx3F 11.9 D4x0.5HxD1. 5xD6x50 | 6. 4
BobaDR AL D1x1.5°x4LxD1. 21xD4x50Lx3F | 6.9 D4x1.5°x15LxD4. 79xD6x50Lx3F |11.9 DAx1HxD1. 5xDé6x50 6.4
LU CRES SR D1 x2°x4LxD1. 28xD4x50Lx3F 6.9 DAx2°x15LxD5. 04xD6x50Lx3F  |11.9 Dax1.5HxD1. 5xD6x50 | 6. 4
D1 L1DL D1x3°x4LxD1. 42xD4x50Lx3F 6.9 DA4x3°x15LxD5. 57xD6x50Lx3F  |11.9 D4x2HxD1.5xD6x50 | 6.4
D1x5°x4LxD1. 7xD4x50Lx3F 6.9  D4x5°x15LxD6. 62xD8x60Lx3F 18.1 D4x3HxD1. 5xD6x50 6.4
D2x6xD3. 175x50 2.0 D1. 5x0. 5°x5LxD1. 59xD4x50Lx3F| 6. 9 D4x8°x14. 93LxD8xD8x60Lx3F  |18. 1 D6x0. 5HxD2. 5xD8x50 | 10. 4
D2x8xD3. 175x50 2.0 D1. 5x1°x5LxD1. 67xD4x50Lx3F | 6.9 D4x10°x15LxD9. 29xD10x75Lx3F [28.9 D6x1HxD2. 5xD8x50 | 10. 4
D2x10xD3. 175x50 2.0 D1. 5x1. 5°x5LxD1. 76xD4x50Lx3F| 6. 9  D4x15°x14. 93LxD12xD12x75Lx3F|39. 6 Déx1. 5HxD2. 5xD8x50 | 10. 4
D2x12xD3. 175x50 2.0 D1. 5x2°x5LxD1. 85xD4x50Lx3F | 6.9 D6x0. 5°x20LxD6. 35xD8x60Lx3F |18. 1 D6x2HxD2. 5xD8x50 10. 4
D2x22xD3. 175x50 2.0 D1. 5x3°x5LxD2. 02xD4x50Lx3F | 6.9 D6x1°x20LxD6. 7xD8x60Lx3F 18.1  D6x3HxD2. 5xD8x50 10.4
D2 5x8xD3. 175x50 2.0 D1. 5x5°x5LxD2. 37xD4x50Lx3F | 6.9  Déx1.5°x20LxD7. 05xD8x60Lx3F |18.1 D8x0. 5HxD3. 5xD8x60 | 16. 9
D2, 5x15xD3. 175x50 20 D2x0. 5°x6LxD2. 1xD4x50Lx3F | 6.9 D6x2°x20LxD7. 4xD8x60Lx3F 18.1 D8x1HxD3.5xD8x60 | 16 9
D2. 5x22xD3. 175x50 2.0 D2x1°x6LxD2. 21xD4x50Lx3F 6.9 D6x3°x19LxD8xD8x60Lx3F 18.1 D8x1.5HxD3.5xD8x60 | 16. 9
D3. 175x12xD3. 175x50 | 2.0 4.0 4.3 D2x1. 5°x6LxD2. 31xD4x50Lx3F | 6.9 D6x5°x20LxD9. 5xD10x75Lx3F 26.9 D8x2HxD3. 5xD8x60 16.9
D3 175x154D3. 175x80 | 20 | 40 | 4 3 D2x2°x6LxD2. 41xD4x50Lx3F 6.9 D6x8°x20LxD11. 62xD12x75Lx3F [39. 6 DBx3HxD3.5xD8x60 | 16.9
g . : : : D2x3°x6LxD2. 62xD4x50Lx3F 6.9 D6x10°x17LxD12xD12x75Lx3F  139. 6 D10x0. 5HxD4xD10x75 | 24. 6
D3. 175x17xD3. 175x50 | 2.0 | 4.0 | 4.3 pjy50,60 xD3. 05xD4x50Lx3F 6.9 DBx0.5°x25LxD8. 44xD10x75Lx3F|28. 9 D10x1HxDAxD10x75 | 24. 6
D3.175x22xD3. 175x50 | 3.1 | 4.3 | 4.7 D340 5°%10LxD3. 17xD4x50Lx3F | 6.9 D8x1°x25LxD8. 87xD10x75Lx3F |28.9 D10x1. 5HxD4xD10x75 | 24. 6
D3. 175x25xD3.175x50 | 3.4 | 4.3 | 4.7  D3x1°x10LxD3. 35xD4x50Lx3F | 6.9 D8x1.5°x25LxD9. 31xD10x75Lx3F|28. 9 D10x2HxD4xD10x75 | 24. 6
D3. 175x28xD3.175x50 | 3.9 | 5.7 | 6.1 D3x1.5°x10LxD3. 52xD4x50Lx3F | 6.9 D8x2°x25LxD9. 74xD10x75Lx3F |28.9 D10x3HxD4xD10x75 | 24.6
D3. 175x32xD3. 175x50 | 4.0 6.4 6.9 D3x2°x10LxD3. 69xD4x50Lx3F 6.9 D8x3°x25LxD10. 62xD12x75Lx3F [39. 6 D12x0. 5HxD5xD12x75 | 31.9
D3. 175x42xD3. 175x60 | 7.9 9.3 9.7  D3x3°x9. 5LxD4xD4x50Lx3F 6.9 DB8x5°x22.8LxD12xD12x75Lx3F |39. 6 D12x1HxD5xD12x75 31.9
D3. 175x52xD3. 175x70 | 10.3 | 12.1 | 12.6 D3x5°x10LxD4. 75xD6x50Lx3F  |11.9 D12x1. 5HxD5xD12x75 | 31.9
D4x12xD4x50 4.7 | 5.4 | 6.1 D3x10°x10LxD6. 53xD8x60Lx3F |18. 1 D12x2HxD5xD12x75 | 31.9
D4x15xD4x50 4.7 54 6.1 D3x15°x13. 06LxD10xD10x75Lx3F|29. 0 D12x3HxD5xD12x75 31.9
D4x17xD4x50 4.7 | 5.4 | 6.1 OO LII_IULIULI |
D P S A i B T i ' HoD0 D000 g
D4x25xD4x50 5.3 | 5.7 | 6.4 G Steel Bolow 55 HRC Cuner Can Cut Sleel Be\ow 60 HRC ?:] %Tf & O0O0O
D4x28xD4x50 6.0 7.1 7.9 R D X(Uu D2 ChamferCutterCan Cut Steel
D4x32xD4x50 6.4 |86 |93 N : Y Below 58 HRC(60°/90°/120°)
D4x42xD4x60 10.3 [12.1 [12.9 D@%—-—‘—""‘I o1 %—ID 5
D4x52xD4x70 13.3 |17.1 |17.9 Lt 2 R :
D6x12xD6x50 9.3 [10.0 [11.4 30" > T— 1 D
Déx15xD6x50 9.3 [10.0 [ 11.4 BaoRYy sabazriv ! L |
D6x17xD6x50 9.3 [10.0 |11.4 DIR.D.L voo § Dia® D2.L1 SN
D6x22xD6x50 9.3 (10.0 | 11.4 D4R0. 5xD4x50 6.7 DA4x90°xD1. 5x6xD4x50 BB AL oeeforter
D6x25xD6x50 9.3 [10.0 | 11.4 D4R0. 75xD4x50 6.7 D6x90°xD2. 5x8xD6x50 | 10. 4 D L
D6x28xD6x50 1.1 1121 113.6 D4R1. 0xD4x50 6.7 D8x90°xD3x6xD8x50 16.9 D1xD4x50L 4.6 5.0
D6x32xDéx50 11.1112.9 (14.3 D6R1. 0xD6x50 11.9  D10x90°xD4x10xD10x60 | 24. 6 D2xD4x50L 4.6 5.0
D6x42xD6x60 15.7 117.7 (19.3 D6R1. 5xD6x50 11.9  D12x90°xD5x12xD12x60 | 31.9 D3x50L 4.6 5.0
D6x52xD6x70 20.3 122.3 | 25.7 D6R2. 0xD6x50 11.9 D4x50L 4.6 5.0
D6x62xD6x80 25.0 |132.1 133.6 D8R2. 0xD8x50 20.0 D5x50L 8.6]9.3
D6x72xD6x90 31.4139.3 140.7 D8R2. 5xD8x50 20.0 D6X50L 8.69.3
D8x20xD8x50 19.7 133.3 [ 42.6 D8R3. 0xD8x50 20.0 D8x60L 13.6|14.3
D8x32xD8x50 19.7133.3 | 42.6 D10R4. 0xD10x60 29.1 D10x75L 20.0(21.1
B}gxggxglgxgg gg g gg ; ig- g D12R5. 0xD12x60 40. 1 D12x75L 26.9(27.9
x32xD10x : - . IRTINIIRIIN)] 1NN
D12x20xD12x50 46.9 [50.0 | 53.6 Duglﬁu%zl_u,gu%lu%muu‘m_,m%uum ﬁuar%&ﬁéfaga«mwmmgaﬂgmm |
D12x32xD12x50 46.9 [50.0 [53.6 55HRC 89T o8’ 8u* Bacusicd

poial Milling Cuttar fo ngsten
e HH AL AT T & me

Can Cut Steel Below 55 HRC

Oooooooooo0d O

55HRC 8¢’ eu8*8’ 3 8t Dr3waT
Spiral-Edged e30n*=us* I¥ew’ew® Reamer

Steel Below 58 HRC

Tungsten Steel Drills Tungsten Steel Bar

i o o o o o

Use Of Fixed PointAnd Chamfer Can Cut

Can Cut Steel Below 55 HRC D1 ~m= D e ——
T —1, . . i - ‘L—‘I o0 $g=;0
11 >Q§F —_— | |

e 3 =
‘ sobracbriv: ﬁ%'EiD
D1 L1 DL
D3x50xD3x100Lx4T | 7.6 savasive SIRREUN  D4x15xD4x50 40 pprent (ave | ssies | gamia®
D4x50xD4x100Lx4T | 8.1 " DL SRR Dexs0xDext00 1.1 guemmteleen e e
D5x50xD5x100Lx6T 1.1 D1.0-D1.5 1.9 D3x100L D8x30xD8x60 12.1 AL gpeerorir
D6x50xD6x100Lx6T | 13.3  D1.6-D2.0 2.4 D4x100L 3 9 6 0 D10x30xD10x75 20.4
D8x50xD8x100Lx6T 21.1 D2.1-D2.5 2.6 D5x100L 6 11 7.4 D10x45xD10x100 26.1 D1xD4x50L 3.3[3.9
D10x50xD10x100Lx6T | 30. 7  D2.6-D3.0 3.3 D6x100L 7.4 8.6 D12x35xD12x75 27.1 D1.5xD4x50L | 3.3 | 3.9
D12x50xD12x100Lx6T | 40.7 ~ D3.1-D3.5 4.0 D8x100L 1431211 D12x50xD12x100 34.7 D2xD4x50L 3.3|3.9
DO000000 00004 I 00EH Gk DODEHh frkespdiedn 579 DadbeL | 3.3) 27
SSHRC VIt evd e’ su* saduabcd D4. 6-D5. 0 6.9 I O O O DO000) 3oy PRIHNoO0000
Straight-Edged Tungsten Steel Reamer D5.1-D5.5 7.9 ooodo DDDDDDD:I:IDDDDD%%DDDD .
Can Cut Steel Below 55 HRC D5- 6—D6. 0 9' 6 Boz0* 58HRC &9 6088’ s 81 SBdwH ﬁxé J-d 2 (1) 2 Z
TEE=——=—siD D6.1D65 |11.1 Douts tess COOOCCO00 00CCRRgeem | 501 5
D'”‘—" L1 L ‘ gg 16—3; g 12 Z Chamfer Can Cut Steel Below 58 HRC D6x50L 6.0 6.4
‘ ‘ .1-D7. . D6x100L 12.112.9
NG D7. 6-D8. 0 18.9 D8§60L 11.1[12.1
D1 L1DLT = D8. 1-D8. 5 22.4 D8x100L 19.0(20.0
D3x50xD3x100Lx4T 6.0 D8. 6-D9. 0 24.7 D10x75L 18.9(19.3
D4x50xD4x100Lx4T 6.4 D9.1-D9.5 28.3 Sobezbrivy JYNEIEI  D10x100L 27.1(28.3
D5x50xD5x100Lx6T 8.9 D9. 6-D10. 0 30.7 D L D12x75L 25.4|27.1
D6x50xD6Xx100LXx6T 9.6 D10.1-D10.5 35.7 D3x100L-DB 7.4 8.1 D12x100L 37.9138.9
D8x50xD8x100Lx6T | 14.6  D10.6-D11.0 | 37.4 D4x100L-DB 7.4 8.1 D14x100L 51.4]52.6
D10x50xD10x100Lx6T | 22. 1 D11.1-D11.5 | 46.0 D5x100L-DB 14.3/15.0  D16x100L 64.0|65.7
D12x50xD12x100Lx6T | 30. 0 D11.6-D12.0 50.0 D6x100L-DB 14.3115.0 D20x100L 94.6196.9
DI WL’ IV, BT D3R DO*ITI*R BRIV NI*3T.
WeIBot’ FeTead VoI R BouTT B3 IIT 9B @I W’

http://www.mzg.tw
T T I T T ava @ st en] ~m



http://www.mzg.tw

ARV XM oM M Al e ToR X A Il
Extrusion Screw Tap

BT RNRIC 330 3093t BB X &3¢ x 0u3*B BB X U x B3

Extrusion Screw Tap (/ BBV e5%e3<)

Fa03’ Shape 2’

(/ BBV 3% 3%)

B 70 | 7.9 M4x1.0 RH8 | B 26.1 | 28.9
M3. 0x0. 5 RH4 | P 4.7 | 5.4 M14x1.25 RH8 | B 26.1 | 28.9
RH4 | B 4.7 | 5.4 M14x1.5 RH8 | B 26.1 | 28.9
RH5 | P 4.7 | 5.4 M14x2.0 RH8 | B 26.1 | 28.9
RH5 | B 4.7 |54 "MI6x1.0 RH8 | B 34.0 | 37.1
81 RH6 | P 4.7 | 5.4 MI6x1.25 RH8 | B 34.0 | 37.1
_ RH6 | B 4.7 | 5.4 M6x1.5 RH8 | B 34.0 | 37.
Tin RH7 | P 4.7 | 5.4  MI6x2.0 RH8 | B 34.0 | 37.1
BB XFEXNTT o ghane 2 — RH7 B 4.7 | 5.4
T E— RHS | B 4.7 | 5.4 UNFO-80 RH4 | P 57 | 6.1
RH9 | B 4.7 | 54 RH4 | B 57 | 61
mg-gxg-]§5 Y g-f ]é-g M3. 0x0. 5-80L 8.9 UNCT—64 RA4 | B 57 61
H o 155 S o 231100 me.0x0.5-100L 9.7 |10.4 UNF1-72 RH4 | B 7.4 | 7.9
W0 a0 i 2o weox0. 51500 17.6 | 18.3  TUNC2-56 RH4 | P 57 |6
h o2 il &7 | 19 MB.O0X0.SLosswuss | RHO | B 67 |74 RH4 | B 57 | 61
- - s - M3. 5x0. 6-100L 9.7 110.4 RH5 P 5.7 | 6.1
M1. 0x0. 25 E:i g g-g 2-8 M3 5x0. 6l e | RH6 | B 6.7 | 7.4 RH5 | B 5.7 | 6.1
R 23100 Waox0.35 RH6 | B 71 [ 7.9 UNC2-56-100L 10.0 | 10.7
N 22100 Waoxos RH6 | B 7.1 | 7.9 UNF2-64 RH5 | B 6.7 | 7.9
Wi 028 — e ok 7 RH5 | P 4.7 | 5.4 TUNC3-48 RH5 | B 57 |61
- 1x0. il I Y - OxE RH5 | B 4.7 | 5.4  UNF3-56 RH5 | B 7.4 | 7.9
- - RH6 | P 4.7 | 5.4  TUNCA-40 RH5 | P 4.7 | 5.4
1. 2x0.25 E:i g g-g 2-8 RH6 | B 4.7 | 5.4 RH5 | B 4.7 | 5.4
I e RH7 | P 4.7 | 54 RH6 | P 4.7 | 5.4
R | g A I RH7 | B 4.7 | 5.4 RH6 | B 4.7 | 5.4
- - RHS | P 4.7 | 54 RH7 | B 4.7 | 5.4
m1-jxg-§ Eﬂj E g-; Z-g RHS | B 4.7 | 5.4  UNC4-40-100L 10.0 | 10.7
- 4x0. iyt s W13 RHY | B 4.7 | 5.4 UNF4-48 RH5 | P 7.4 7.9
A 23100 waoxo0. 7-80L 8.9 | 9.7 RH5 | B 7.4 | 7.9
: : i 9.7 | 10.4 "UNC5-40 RH5 | P 53 ] 6.0
RH5 | B 5.3 | 6.0  M4.0x0.77100L 17.6 | 18.3 RH5 | B 53|60
m1.g§8.g-80L Sy 3-? 1?-;' M4 0x0. 771501 RH6 | B 6.7 | 7.4 UNG5-40-100L 10.0 | 10.7
- 5x0. : : DS RH7 | B 74 [ 8.3  UNF5-44 RH6 | B 7.4 | 7.9
i 02 Eﬂj E ;-1 ;-Z M4. 5x0.5 RH7 | B 57 | 6.9 TUNC6=32 RH5 | P 47 | 5.4
JOX : : LABTEAIE T RH6 | B 7.4 183 RH5 | B 4.7 | 5.4
woos | Ml |7h|7y MaeE TR |G AR
- OXD. ria | B 2 | &0 M5'o§o'8 RH6 | P 53 | 6.1 RH6 | B 4.7 | 5.4
: : - 0x0. RH6 | B 53 | 61 RH7 | B 47 | 5.4
RH5 | P 53 |60
RH7 | P 53 | 6.1  UNC6-32-100L 10.0 | 10.7
W1 640, 35-80L RSN B >3 155 RH7 | B 53 | 61  UNF6-40 RH6 | P 6.7 | 7.4
M1-7§0-2 g 1B T 7.9 RH8 | B 5.3 | 6.1 RH6 | B 6.7 | 7.4
M1. 7x0. 35 RH4 | P 53 | 6.0  M5.0x0.8-80L 9-3 | 10. 31" R Ri6 | P S
10.0 | 11.0 RH6 | B 50 |57
RH4 | B 53 |60 M5 0x0 8-100L 189179 3 Rz | p 20 W&
Eng g 2'§ 2-8 4”2-9*9-§T15°L RH6 | B 7.1 |81 RH7 | B 50 |57
T e R ~OxO-8tomw =Ry [ B 74 | 8.3  UNC8-32-100L 10.0 | 10.7
M1-8X0-35 A b 57 | 67 M6. 0x0. 5 RH7 | B 7.4 | 8.3  UNF8-36 RH7 | B 7.4 | 8.1
aliih ria | B 57 | 67 M6. 0x0. 75 RH6 | P 53 | 6.1 UNS8-40 RH6 | B 7.4 | 8.1
N0 Ox0. 25 RHd TP 1T 9 M6. 0x1. 0 RH6 | B 5.3 | 6.1 UNC10-24 RH6 | P 53 | 6.0
X RH4 | B 8 AN RS RH7 | P 53 | 6.1 RH7 | B 53 | 6.0
: : RH7 | B 53 | 6.1  UNC10-24-100L 10.0 | 11.0
M2. 0x0. 4 Em g j; gj RHS | B 53 | 6.1  UNC10-24Loaswress RH7 | B 7.1 | 8.1
: : 9.3 |10.3 " RH7 | P 67 | 7.4
Eng g j-; g-j M6. 0x1. 0-80L 160 | 11,0 UNF10732 RH7 | B 6.7 | 7.4
: : M6. 0x1. 0-100L 18.3 [19.3  UNF10-32-100L 10.0 | 11.0
RH6 | P 47| 5.4 M6.0x1.0-150L RH6 | B 7.1 | 8.1 o RH7 | B 7.1 | 8.
6 8 _UNF10-321 coirece e 8
RH6 | B 4.7 | 5.4 W6 OXT OLosswwe | RH7 | B 9.3 [10.4 RH7 | B 54 |67
RIZL P47 154 M7.0x0.5 RH7 | B | 93 |104 (NEA5 o8 RH7 | B 6.7 7.6
W | 5 |47 |sa MEOOIS L RELE L2 1104 s R
. UxT. . . _ . .
. AL SO me0x05 RH7 | B 9.3 |10.4 UNCI/420 RH7 | B 54 |67
- 0x0. : : M8. 0x0. 75 RH7 | B 9.3 | 10.4 o 10.0 | 11.0
M2. 0x0. 4Losew s | RH6 | B 7.1 1 7.9 UNC1/4~20-100L
o 8 Ll we.0x1.0 RH7 | B 9.3 [10.4  NC1/420Lomernse RH7 | B 7.1 | 8.
M2. 2x0. 45 : : M8. Ox1. 25 RHO | B 9.3 |10.4 ? RH7 | P 6.7 | 7.6
RH4 | B 53 |60 G0 lia s UNF1/4-28 ey | g e 7 a\&%s
M2. 3x0. 4 RHS | P 47154 yg 0x1. 25-100L 18.9 | 20.3 RH7 | B 7.1 | 8.
RO B ?-z g-g M8.0x1.25-150L | RH7 | B 11.0 | 124 UNF1/4-28lesswcnss 7 | 67|76
M2. 3x0. ALzt e Rie B 75— WB.OXT. 25Louswws| RH7 | B T0.4 [12.1  UNEF1/4-32 RH7 | B 6.7 1 7.6
M2. 5x0. 25 e | B Sl hg m.0x0.5 RH7 | B 10.4 | 12.1 UNST/4-36 RH7 | B 9.3 |10.4
M2. 5x0. 35 g | p 27|54 M9.0x0.75 RH7 | B 10.4 | 12.1 :mgﬂgng RH7 | B 1.1 [12.6
M2. 5x0. 45 . : M9_0x1.0 RH7 B 10.4 [ 12.1 "~ | OLoaows erea 13.6 | 15.0
RH4 | B 4.7 | 5.4 o
M9 Ox1. 25 RH7 | B 104 [ 12,1 UNC5/6-18-100L  RH7 10.0 | 11.1
ﬁg g j; gj M10x0. 5 RH7 | B 10.4 | 121 TUNF5/16-24 RH7 1.0 [13.1
ael p 47 |54 M10x0. 75 RH7 | B 10.4 | 12.1 UNC3/8-16 15.3 [ 16.7
RG> P S5 moxto RH7 | B 10.4 | 12,1 UNC3/8-16-100L  RH7 | B 13.1 | 14.7
RHe | B S5 Mot 25 RH7 | B 10.4 |12.1  UNC3/8-16losewews RH7 | B 1.9 113.9
AN IS Lol 2y moxts RH9 | B 10.4 | 12.1  UNC3/8-24 RH7 | B 14.6 1 16.4
A 59 24 15.3 | 16.7 _UNC7/16-14 RH7 | B 15.7 117.9
g9 | o7  MOx1.5-100L 20.3 | 21.7  UNF7/16-20 RH7 | B 17.1 [19.7
M2. 5x0. 45-80L 9' 7 10‘ 4 M10x1. 5-150L RH7 B 12.6 114.0 UNC1/2-12 RH7 B 17.1 119.7
M2.5x0.45-100L | .| o I SN TTTiC T RH7 | B 11.9 [13.9  -UNF1/2=20
M2. 50451 R 8 T W0 RH7 | B 1.9 [13.9 RH6 | P 53|60
M2. 6x0. 45 re | B SO 20 w205 RH7 | B 11.9 1139 W1/8-40 RH6 | B 53 | 6.0
R e LT W20 75 RH7 | B 1.9 113.9 RH7 | B 53|60
il SOl Th w0 RH7 | B 11.9 113.9  W5/32-32 RH7 | B 53 |60
e s SLITL W2 25 RH7 | B 1.9 [13.9  W3/16-24 RH7 | B 54 |67
SLh madals RH7 | B 11.9 1139 W1/4-20 RH7 | B 9.3 |10.4
M2. 6x0. 45-100L : : M12x1. 75 RHS | B 11.9 1139 W5/16-18 RH7 | B 1.9 [13.9
19.7 | 21.7  W3/8-16 RH7 | B 14.6 | 16. 4
c 229 |25.0  W7/16-14 RH7 | B 17.1 [19.7
M12x1. 75-100L
e et RH7 | B 14.0 1161 W1/2-12
AN A M12x1. 75Losrswss Y ,
DE’I W’ IV, 33T D3R DOBIN ) BRITIB I3T’.
FeIB0te’ Fedead dVOIT* R Bo0T* B30I T 9B RIIT WO’ http://www.mzg.tw

10100 0 0 100, oo o000 11 eva@mzatool.en


http://www.mzg.tw

O R ARV AR XM O WD TN

OB BT e3Toh 0BT FOXFEXNTT | o 5 | shape 22 FISXSUXWTTS 5 shape
Apex Tap (/ ST &% 3%) (/ BT 6% 3¢)
= - ———-—-—;} M7. 0x0. 5 P2 6.7 1 7.9  UNC1/2-12 P3 13.1 | 15.3
by . | . 0x0.75 P2 6.7 | 7.9 UNF1/2-20 P3 14.6 | 16.4
.0x1.0 P2 6.0 | 7.4
.0x0.5 P2 6.7 7.9 Wi1/8-40 P1 4.7 | 5.4
. 0x0.75 P3 6.7 1 7.9  W5/32-32 P2 4.7 | 5.4
. 0x1.0 P3 6.7 1 7.9 W3/16-24 P2 4.7 | 5.4
. 0x1.25 P3 6.0 | 7.4 W7/32-24 P2 4.7 |57
P4 6.0 | 7.4 W1/4-20 P2 4.7 | 5.7
FUAXFEXNDTD L g . 0x1. 25-100L 12.6 W5/16-18 P2 6.0 | 7.4
(| PR e . 0x1. 25-150L 18.3 W3/8-16 P2 7.9 1 9.6
M8. 0x1. 25 canice P4 433 W7/16-14 P3 1.9 [13.9
M1. 0x0. 25 P1 53160 “y9 0x0.5 P2 83 | 10  Wi/2-12 P2 13.1 | 15.3
M1. OXO. 25 Carbide P2 27. 6
M9. 0x0. 75 P3 8.3 | 10
M1. 2x0. 25 P1 53 | 6.0
M1 220, 25 P2 2o M9.0x1.0 P3 8.3 | 10
e 4X0- = i o Tt M9.0x1.25 P3 7.9 | 9.6 PS1/8-28 caice P4 56. 4
M1-4X0- = B 24 L WMox0.5 P2 8.3 | 10 PS1/4-19 carae P4 91.7
2628tk P2 25 e Mox0.75 P3 8.3 | 10 PT1/8-28 canice P4 62.9
S 05 : M10x1. 0 P3 8.3 | 10 PT1/4-19 carice P4 95.7
- ax. : M10x1. 25 P3 8.3 | 10
M1. 4x0. 3 cabice P2 22.4 M10x1.5 P3 7.9 9.6
M1.5x0. 3 P2 5.7 6.7 ’ P4 7' 9 9' 6 NPS1/8-27 cavie P4 56 4
M1. 6x0. 2 P2 6.7 | 7.4 L A ] NPS1/4-18 carice :
M10x1. 5-100L 14.6 P4 91.7
M1. 6x0. 35 P2 5.3 | 6.0 8 NPT1/8-27 catise
M10x1. 5-150L 19.7 P4 62.9
M1. 6x0. 35-80L 9.3 M10x1. 5 cone P4 511 NPT1/4-18 cunae P4 95. 7
M1. 6X0. 35 Carbide P2 0. 0 21. 0 - - :
M11x1. 0 P3 10.4 [12.6
M1. 7x0. 35 P2 53 160 “wi2x05 ) 1o T131
M1. 7x0. 35 canice P2 21.0 : : i
e 5 ot M2x0.75 P3 11.0 | 13.1
M1-8X0- 35 P2 27 e M0 P4 11.0 | 13.1
X0 - : M12x1. 25 P4 11.0 | 13.1
M2. 0x0. 25 P2 6.7 | 7.4
o o) 2ol Ey maxas P3 11.0 | 13.1
- UXE. P3 A7 e, M2x1.75 P4 10.4 | 12.6
Pa 47 |2, Wm2x1.75-100L 18.9
A P : M12x1. 75-150L 22.4
Y oxo' 4-100L 93 M12x1. 75 carice P4 62.9
b : M14x1.0 P3 17.1 [19.7
MZ. OXO. 4 Carbide P3 19.7
S 5 77 WMax1.25 P3 17.1 119.7
- X : : M14x1.5 P3 17.1 119.7
M2. 2x0. 45 P2 4.7 | 5.4
M2 5x0 4 P2 e Max2.0 P2 15.7 1 18.3
N2 5X0' 35 P2 o7 171 M16x1.0 P3 19.7 | 22.4
M. 5"0- 45 b7 275, Mext.25 P3 19.7 | 22.4
X P3 27 |2, Mmoext5 P3 19.7 | 22.4
o 22y mex2.0 P4 18.3 | 21
M2. 5x0. 45-80L 8.3 _
M2. 5x0. 45-100L 9.3 T 4 530
M2. 5X0. 45 Carbide P3 19. 7 UNF1 _72 P1 6- 7 7.4
M2. 6x0. 35 P2 6.7 174 “UNC2=56 5 573 3
M2. 6x0. 45 P2 4.7 | 5.4 pa 5 3 6
M2. 6x0. 45-100L 9.3 = i
M3. 0x0. 35 P2 47 |54 ﬂngg_gf{ (il P2 Z? 74
M3. 0x0. 5 P2 4.0 | 47 “NC3-48 P 573 3
ﬁj j- 8 j— ; UNF3-56 P2 6.7 | 7.4
: : UNC4-40 P2 47 [ 5.4
+0.1 4.7 | 5.4 P3 47 |54
M3. 0x0. 5-80L 8.3 P4 47 |54
M3. 0x0. 5-100L 9.3 UNCA-40-100L 9 6 ;
M3. 0x0. 5-150L 17.1 UNF4-48 P2 67 |74
M3. OXO. 5 Carbide P3 19. 7 UNC5—40 P2 4' 7 - 4
M3. 5x0. 6-100L 9.3 UNGB-40—100L 9 6 :
M4. 0x0. 35 P2 6.7 74 UNCe=32 7 757
M4. 0x0. 5 P2 4.7 | 5.4 P3 47 | 54
M4. 0x0. 7 P2 4.0 | 4.7 1 47 | 54
Ei j- 8 j- ; UNC6-32-100L 9.6
0.1 4o | s, _UNF6-40 P2 6.7 | 7.4
: : : UNC8-32 P2 4.7 | 5.4
M4. 0x0. 7-80L 8.3 P3 47 |54
M4. 0x0. 7-100L 9.3 P4 47 |54
M4. 0x0. 7-150L 17.1 UNC8=32-100L 9 6 :
M4. 0x0. 7 carsice P3 197 UNF8-36 P2 67 | 74
mg 8"8- g ﬁ; j- g g g UNC10-24 P2 47 |57
X P3 40 | 2o UNc10-24-100L 9.6
o 20 |2 UNF10-32 P2 4.7 | 5.7
g 4o | 25 _UNF10-32-100L 9.6
M5. 00, 8-80L 4 8 6 : UNC12-24 P2 47 [ 5.7
M5 oxo' 8-100L 96 UNF12-28 P2 6.7 | 7.6
- X : UNC1/4-20 P2 47 |57
M5. 0x0. 8-150L 17.9 P3 47 |57
M5. 0x0. 8 carsice P3 21.0 pa 47 157
mg- 8"8- ?5 ﬁ; j- ; g ; UNG1/4-20~100L 9.6
MG, OX1- 0 P2 40 |2 UNcl/a-28 P2 6.7 | 7.6
aL2lle P3 40 |50 UNS1/4-32 P2 6.7 | 7.6
P4 40 | 2o _UNEF1/4-36 P2 6.7 | 7.6
0.1 47 | 25 UNc5/16-18 P3 6.0 | 7.4
M6, Oxcl. 0-80L : 8% : UNC5/6-18-100L 13.1
MG, 0X1-0_100L 94 UNF5/16-24 P2 7.4 | 8.6
MG, o§1'o—150|_ 7.9 UNC3/8-16 P3 7.9 9.6
M6, Ox1. 0 carne P3 |24 UNC3/8-16-100L “
2 Wl U emiio : UNF3/8-24 P2 9.3 [10.7
UNC7/16-14 P3 1.9 113.9
UNF7/16-20 P3 12.6 | 14.7
De’T WO’ IV, 33N D3R DOBIT R 2RI NI 3T’.
FeSn0te’ BeBead BaTE’ BTt 3093 T 9T @S W, http://www.mzg.tw

1 Ar i iririririrairaririraririraririrairirir1 ririrararaririri1raraiririri1riririrlt ava@mmm=zatool en


http://www.mzg.tw

DD Vo0 T eI *B* 3*ahoa®

Spiral Grooved Tap

VS C20* R30I B* e3°adh a3 BB B X 03 x ouB*3
Spiral Grooved Tap (| PSR ed)

BT3¢ X %3¢ x T3 BB X U x B3

Fads o’

=
5

(/ B°BT*TE e3%3%) (/ B°SITEE 3% 37)

— M4. 0x0. 7 +0.1]4.7 [ 5.4 M2x0.5 P2 [11.0[13.1 UNF1/4-28 P216.7]7.6
m% P2 | 4 |47 M2x0.75 P2 |11.0[13.1 Pa|67 |76
Seee—— P3| 4 | 4.7 M2x1.0 P2 |11.0|13.1 UNF1/4-28-HT s | 1B 7.4
2’ P4 4 4.7 P4 111.0(13.1 UNF1/4-28Lczcws e P2|7.41]8.3
N M4. 0x0. 7-100L 9.3 M12x1. OLososss ereas P2 |12.6|14.7 UNEF1/4-32 P216.7|7.6
m M4. 0x0. 7-150L 17.1 M12x1. 25 P2 [11.0]13.1 |NS1/4-36 P216.717.6
‘ M4. 0x0. 7-AL P2 4 4 P4 11101137 UNC5/16-18 P2|6.0|7.4
Tin M4. 0x0. 7-HT shean 1B | 4.7 | 6.1 M12x1. 25Lossweerss | P2 [12.6]14.7 P3| 6.0 7.4
OB XFExEB o G 0x0. PLosowewress | P2 | 4.7 1 5.7 Moyq. 5 P2 |11.013.1 P4|6.0|7.4
(| PBTR* %) M5. 0x0. 5 P2 | 4.7 5.4 P4 {11.0/13.1 UNC5/16~18-100L 1811
M1 0x0. 25 P1 15360 P3TAT 54 Wxd Blosgsewess | 2, | 120 147 UNC5/16-18-AL P2|6.7
. 0x0. . . P4 | 4.7 |5.4 +0.1[11.0113.1 | 1B|7.918.3
P2 15360 V5. 0x0. 5L P 57160 M12x1. 75 P2 110 4112 6 UNC5/16~18-HT seain o | 7alse
. : . Ox0. 3¢ e - . . . 2 e . .
P3| 53160 L e |+0.1] 47|54 P3 [10.4]12.6 Hﬁggj}:;j“’“‘ “* p2l74|86
T 3075 E? gg 2-8 O P2 | 4 |47 P4 [10.4]12.6 P4|7.4]|8. 6
. XU, . .
P2 15360 gi j j‘ ; M12x1. 75-100L ;g Z UNF5/16-24-HT srearr | |B 10.0
: M12x1. 75-150L . UNES /16=241 P2 19.3110.4
bl 23190 s ox0.8-100 REs M12x1. 75-AL el o1y uncasete PZVLT g
. - = - & : : = P3|7.9]9.6
W1, 4x0. 2 Pl [6.7]7.4 mg 8’;8- g_J\EOL P2 | 4 | 4 M2 75 HTswan | py |12 1]14.7 pal 70|96
M1.4x0. 3 P1 153 6.0 M5‘ 0x0- 8-HT < 1B | 4.7 6.1 MTZXT. 70l cacw eea P2 [17.1119.7 14.7
P2 |15.3|6.0 _M5.00-81 heatn p2 | 4.7 157 M4x1.0 P2 [17.1119.7 UNC3/8-16-100L P2 |83
P3| 5.3 | 6. 0 i 52 47154 M4x1.25 P2 |17.1119.7 UNC3/8-16-AL '
1B19.6(10.4
P4 53160 M6.0x0.5 P3 | 4.7 |57 M4x1.5 P2 |15.7/18.3 UNC3/8-16-HTswar | py | 0 4 |11 0
M1.5x0.3 P1 6774 P4 | 4.7 |57 mgxf-g P2 19.7]22.9 UNC3/8-16Lsaswwes | py | 9 3|10 7
M1. 6x0. 2 P1 67|74 P2 |5.7]|6.9 x1. P2 119.7/22.9 UNF3/8-24 ) '
M1. 6x0. 35 P1 53|60 M6.0x0.5bummwa| py | 47|57 Méx1.25 P2 [19.7]22.9 ﬁ’é 7 13?
P2 | 5.3]6.0 M6.0x0.75 P3 | 47|57 M6x1.5 P2 [18.3]21.4 UNF3/8-24-HT snearr P2 111.0112. 6
P3|5.3]6.0 P4 | 4.7 |57 Meéx2.0 UNF3/8-24Lsaswwe | P2 | 9.3 |10.7
P4 | 53|60 P2 |57 6.9 PL 1531 6 Ns3/8-32 P2 119113 9
M1. 6x0. 35-HT siearn | 1B 6.9 M6.0x0. 78Losswweat +0. 1| 4.7 | 5.7 UNFO-80 PS5 3] 6 uNc7/16-14 P2 112 6114 7
M1.7x0. 2 PTT 67174 M6.0x1.0 P2 | 4 | 5  UNC1-64 P1 | 67174 UNF7/16-20 P2 113 1115 3
M1. 7x0. 35 P1]5.3]6.0 P3| 4 | 5 UNFT-=72 PITS3] 6 unot/2—-12 P2 114 6116 4
P2 |53)|6.0 P4 4 5 UNC2-56 P2 | 5.3 6 UNF1 /220 ) )
P3| 53|60 9.6 by |25 | o UNFH2-20
P1|4.7]|5.4
PA | 5.3 6.0 M6 0x1.0-100L 17.9 P4 1531 6 /g0 P2l a7l5a
M1. 8x0. 2 P11 6. 7] 7.4 M6 0x1.0-150L P2 | 4 | 4 9.6 W5,/32-32 P2l 47|52
M1.8x0. 35 P1 |5 7|67 M6 0x1.0-AL 1B | 4.7 ] 6.1 UNG2-56-100L 1B 161169 wiieon pla7!57
M2. 0x0. 25 PI | 6.7]7 4 M6 0x1.0-HTswean | P2 | 4.7 |5 7 UNC2-56-HT siearn Pl 67174 s 5y o la7!57
M2. 0x0. 4 0.1/ 5.3 | 6.0 "M6.0x1. OLgaoweeress | P2 | 6.7 | 7.9 UNFZ=64 PUTS 3] 6 wia=0 mleol7a
Pl | 47|54 WM7.0x0.5 P4 | 6.7 | 7.9 _UNG3-48 Pl | 6.7|7.4 < - :
P2 47|54 P2 | 67|79 TUNF356 Pl 4754 ng;ﬂls P2)7.919.6
P3| 4.7 154 M7.0x0.75 P4 | 6.7 |79 UNCA=40 P2 | 4.7 5.4 W7/16_14 E% 1; ‘1? 12 Z
Pa | 47|54 P2 [7.9]9.3 P3 | 4.7 | 5.4 W/1070 : :
M2. 0x0. 4-100L 9.3 W7. 00 75Lossvis| P21 6| 7.4 P ET |54 nree 70
. 0x0. 4~ P1|4.7 |47 . _ :
M2. 0x0 4_A|- M7.0x1.0 p2 | 74186 UNCA-40-100L P2 | 4 7 PS1/8-28 wowras sstoirsondas 22. 4
M2.0x0. 4~HT sweern | 1B | 5.4 | 6.7 TSNt PS1/4-14 79
M2. 0x0. Alososewsese | P1 | 5.7 | 6.7 M7.0x1. OLoasswewress | F2 | 67 | 7-9 o 1B 1547167 R
M2. 2x0. 25 P1 6.7 7.4 P4 16.7|7.9 UNC4-40-HT snean P1 6.7 | 7.4  PS1/418 carersse weessotraooas .
M2 240, 45 Pl | 47|54 W0x05 P2 | 67| 7.9 TUNFA~aS 2 [ 4754 PSt/a19.. 131
M2. 3x0.4 P1 4.7 5.4 M8. 0x0. 75 P4 6.7 7.9 UNC5-40-100L 9.6 PS3/8—18emu-s;rmrum 17: 1
P2 [7.9]9.3 P2 | 6.7 7.4
M2 3xQ A4l sosee e P1157]67 = PS3/8-19 v s 19.7
PI 167174 P2 | 6.7 | 7.9 "UNF5-44 P2 | 4.7 5.4 :
M2. 5x0. 35 +0 1 5' 3 6. 0 M8. 0x0. 75 o e P4 | 6.7 7.9 UNC6-32 P3 | 4.7 | 5.4 PS1/2-14 easersss sstotraodorase 25.0
M2. 5x0. 45 pilazlsa M8. 0x1. 0 P2 179193 pa | 4.7 |54 PS1/2-14. 41.9
i ' +0.1] 6.7 | 7.9 9.6 PS3/4-14 41.9
E% j— ; g j M8. Ox1. OLusoswewess | po | 6 | 74  UNG&-32-100L P2 | 47 P T=TT o
pa| a7 |54 M8.0x1.25 P3| 6 | 7.4 H“gg—gg-ﬁ% 1B 15467 pgi—11 1-2 ;g
i ' P4 | 6 | 7.4 =32-HT shearn P2 |5.7|6.7 . -
M2.5x0. 45-100L | . 33 . 126 UNG6-32Lssswswnss | P2 | 6.7 | 7.4 b1y /1628 10. 4
M2. 5x0. 45-AL 1B 15467 18.3 UNF6-40 P2 | 4.7 5.4 15.7
M2. 5x0. 45-HT spezin i i M8. Ox1. 25-100L P2 6 UNC8-32 P3| 4.7|5.4 19.7
M2-5x0-45tomor E} 2; ?'Z M8. 0x1. 25-150L 1B |7.4]7.9 P4 | 4.7 |54 27.6
M2. 6x0. 35 pi | 47|54 M8.Ox1.25-AL P2 | 7.4]8.6 9.6 46.0
M2. 6x0. 45 po | 4754 MBOXT.25-HTswan | P2 | 7.9 [ 9.6  UNCB-32-100L P2 | 4.7
47100 Moaa | B (70|56 Messaan | B2 |57 (67 PTIAIA 10's
o5 M9 0x0.75 P2 | 10 |11.4 _UNC8=32leusescwress | P2 | 6.7 | 7.4 18 7
M2. 6x0. 45-100L : M9_0x1_0 P2 179196 UNF8=36 P2 | 4.7 5.7 . .7
P1 5 7 6 7 NPT1 /8 2703}’:883‘6‘&3‘%"50‘3‘
o e » _ ; 75 27.6
M2-6x0-4Stomswws| 51 4 7 5 4 M9. Ox1. OLcaowms erems E% g g }8 UNC10-24 Ei i ; g ; NPT /418 wsecs oo s 46.0
M3. 0x0. 35 P2 147154 M9.0x1.25 . . . . I .
P3 47 54 M10X0 5 P4 8.3 10 9.6 NPT3/8 18@:1:’=d$;3‘ﬁ‘u‘nir EOT
pA | 4754 MOxO0.75 P2 | 10 |11.4  UNG10-24-100L P2 | 4.7 NPT1/2-14 caorsse seranpeorse
15767 P2 18.3 1 10 UNG10-24-AL 1B | 5.4 6.7  NPT1/4~14 carrass sessinprores
M3. 0x0. 35Lowerwcas | +0 1| 4.7 | 5 4  MI0X0. 78Lososwerreae | 4 | 83| 10 UNC10-24-HT e | P2 | 5.7 1 6.9 NpT1-11.1-2
M3. 0x0. 5 P2 | 10 [11.4 UNC10-24Lgsswsesess | P2 | 4.7 | 5.7
. 0x0. P1| 4 | 4.7 MOx1.0 P 183l 10 sy Sl S I
P21 4 147 ps | 83| 10 UNF10-3 P4 | 4.7 5.7
P3 4 4.7 M10x1. OLoaows ereas
ba| 4 |47 Wiow 25 P2 | 10 |11.4 9.6
: x1. +0.1] 8.3 | 10 e 1B 7.4
9.3 P2 | 7.9 | 9.6 UNET07S27100L P2 | 7.418.3
M3. 0x0. 5-100L
- Ox0. 17.1 M10x1. 25Lososwwreas | P3 | 7.9 | 9.6 yibis oL tHbswan o, TS s Ty
M3.0x0.5-150L | P2 | 4 | 4.0 yiox1.5 Pa | 7.9 | 9.6 UNFI0S2bvaswuwa| o | 717
M3. 0x0. 5-AL 1B| 4.7/ 6.1 ' 14.6|  UNG12-24 P2 | 67|76
M3.0x0.5-HT s | P2 | 4.7 | 5.4 19.7 UNF12-28 P2 | 67|76
M3. 0x0. SLoaowws wreas 9.3 P2 ' 7 ¢ TUNEF12=32 P2 | 47157
M3. 5x0. 6-100L P21 4.7 154 W10ox1.5-100L 1B |9.3| 10 UNS12-36 P3 | 4.7 | 5.7
M4. 0x0. 35 P21 4.7 1 5.4 M10x1.5-150L P2 | 9.6| 11 UNG1/4-20 P4 | 4.7 (5.7
M4. 0x0. 5 P31 4.7 1 5.4 "M10x1. 5-AL P2 | 11 [13.1 9.6
PA| 4.7 |54 M1Ox1.5-HT s | P2 | 11 |13.1 UNG1/4-20 P2 | 4.7
P21 5.7] 6.7 WOK!. Blowswrunsr | P2 | 11 13,1 UNGL/4-207100L | 4g | 5.4 | 6.7
M4. 0x0. SLosows v M11x0.5 P2 110.4(12.6 i P2 | 5.7 6.9

W11x0. 75 UNG1/4-20L 5o
) 9 2 2 D 51 ; 2 _d)dd(“’s‘i?‘ 2
- DR WO’ IO, WEE DR DO BBI R BRVDBEF DI BT.
)

FeRHBO® BeB%eah BVORTIE BoOT* LTI R B BRI w0’ http://www.mzg.tw
FAr 1 rararararirarirairarirarictrarairirarairairarirairyy raariririrairairir1triariririri1riririrl avamMmzatonl en


http://www.mzg.tw

Do 20BE Bt IDE/ V33 e’ d’é

Hand Tap/Circular Die

ofed’ T3 8¢ efodbezT® w AR-D Adjustable Circular Die BT X PE X003 B External
HT Straight ere Ta (| PBTR* e’es*) AR-D Adjustable Circular Die (| PSTR* ee3%) Diameter
g p J
UNF0-80 4.3 UNF0-80 20 .9
e UNC1-64 P 4.3 UNC1-64 20 10. 4
UNF1-72 P1 5.0 UNF1-72 20 11.9
UNC2-56 P1 4.3 UNG2-56 20 10. 4
UNF2-64 P1 5.0 UNC3-48 20 10. 4
e UNC3-48 P1 4.3 UNF3-56 20 11.9
s UNF3-56 P1 5.0 UNC4-40 20 10. 4
UNC4-40 P2 4.0 UNF4-48 20 11.9
BB XTI YTV e P3 4.0 BB X B°E X 03B External o UNC5-40 20 10.4
(&S ) UNF4-48 P2 4.7 (PSgeaepess)  Diameter UNC6-32 20 10. 4
M1. 0x0. 25 Pt | a3 NE240 2ol rY wmoxozs 20 | 331 (NeeTed 200
M1. 2x0. 25 P1 4.3 Noe32 = 0 M1.2x0.25 20 13.1 [ % o
M1. 6x0. 35 P1 4.3 o 20 ML4x0.3 20 13.1 RS % 04
M1. 7x0. 35 P1 4.3 ineetio P2 47 M1.5x0.3 20 13.1  [neioie) 2 N\
M1. 8x0. 35 P1 4.3 Tmee32 ~ 20 M1.6x0.35 20 13.1 R % > M
M2. 0x0. 25 P1 4.7 Py 1o ML.7x0.35 20 13. 1, CRIE e % s
M2. 0x0. 4 P2 4.0 : M1. 8x0. 35 20 13. 1 :
UNF8-36 P2 4.7 UNC1/4-20 20 10. 4
Pl 40 uncto-24 P2 | 4.0 M2.0x0.25 2001 1LY UNF1/4-28 20 | 11.9
P4 4.0 " M2. 0x0. 4 20 10. 4 -
UNF10-32 P2 4.7 UNS1/4-32 20 11.9
2. 2x0. 25 P 4.7 - M2. 0x0. ALoscwsewess | 20 11.9 >
UNC12-24 P2 2.0 UNEF1/4-36 20 11.9
mg-gxg-gg E% j—g UNF12-28 P2 4.7 M2.2x0.25 20 ]é-z UNC5/16-18 25 | 11.9
o S, : UNC1/4-20 P2 4.0 -M2.2x0.45 20 : UNF5/16-24 25 13.1
M2. 3x0. 4 P2 40 uNF1/4-28 P2 4.7  -M2.3x0.4 20 | 10.4  yne3/g-16 25 | 11.9
mg-gig-ig - S0 UNF1/4-32 P2 4.7 mg-gxg-ig 58 ]é-z UNF3/8-24 25 | 131
2 - UNC5/16-18 P3 5.3 . 5x0. : UNC7/16-14 25 11.9
Ei j—g UNF5/16-24 P3 6.1  M25x0 45| uasecnag 20 ]]-Z UNF7/16-20 25 | 13.1
. UNEF5/16-32 P3 6.7 M2.6x0.35 20 : UNG1/2-12 25 11.9
M2. 6x0. 35 P2 47 TUNC3/8-16 P3 69 _M26x0.45 20 | 104 gNFq/2-20 25 | 131
M2. 6x0. 45 P2 40 UNF3/8-24 P3 81  M3.0x0.35 20 | 11.9
P3 40 UNEF3/8-32 P3 8.1 M3.0x0.5 200 | 104wy /840 20 | 10.4
PR Eg j—g UNC7/16-14 P3 9.3 M3-0x0- Blowmr 20 ]]-g W5/32-32 20 | 10.4
kT s 5L UNF7/16-20 P3 10.4 M4 0x0.35 20 o W/16-24 20 10. 4
- Uil o S5 UNC1/2-13 P3 9.3 M4 0x0.5 %8 o4 Wi/a-20 20 10. 4
: UNF1/2-20 P3 10.4 W4 0x0. 7 : W5/16-18 25 11.9
P4 3.3 WA Ox0. 71 20 | 1.9 yw3/8-16 25 | 11.9
M3 5X0 35 P2 4 7 . WMa.UXU T 7T Loa0@ e 20 11 9 -
: . : Tube Tapplng M4.5x0. 5 : W7/16-14 25 1.9
M3. 5x0. 6 P2 33 [ o e - 5x0. 20 104 ye"219 2 e
P3 3.3 ’ ' N4.5x0. 75 20 11.9 :
P4 3.3 PS1/8-27 wasersse sussamonoas 6.7 M5. 0x0. 35 20 11.9
W4, 0x0. 35 P2 47 PS1/8-28.... 53 a M5. 0x0. 5 20 10.4
M4. 0x0. 5 P2 L7 PS1/A N 79 _M5.0x0.8 20 | 1.9
M4. 0x0.7 Eg g-g PS1 /418 wreruc oo 79 Amz.gxg.ngawswﬂw %8 1]-3
: PS1/4-19 s . 13.1 e i
4. 0x0. 75 Py | &7 PSY/B-tBummmnan B Neono 20 | 119
M4. 5x0. 5 P2 4.7  PS3/8-19. et ];'] M6. Ox1. OLowowsecre | 25 13.1
M4. 5x0. 75 P2 3.6 PS1/2- 14umcdsa ¢ ssabaodd a 22 4 M7.0x0. 5 25 13.1
M5. 0x0. 35 P2 4.7 PS1/2-14 ssowas : 38 1 M7.0x0Q.75 25 1.9
M5. 0x0. 5 P2 4.7 PS3/4- 14 o cpnaramsaosss 38 1 M7.0x1.0 25 13.1
M5. 0x0. 8 P2 3.6 PS+—4H4+—— . M8. 0x0. 5 25 13.1
P20 sttt 2 6.7 MB.0x0.75 2| 13
6. 0x0. 35 P2 | 5.3 6.7 MaOxt. D % | 15
. UxU. . 8.6 _M8_0x1._25 25 .
M6. 0x0. 5 P2 4.7 14,6 M8.0x1. 25Lsussrireat 25 13.1
i B oopme | L
- Ox1. : _ M9. 0x0. 7 :
P3 | 3.6 2.9 HEeEL 25 | 11.9
P4 3.6 PT1/2-14.. ) M9' 0X1' 25 25 13.1
M7.9x0.5 P2 &1 prasata. 6.7 M10x0.5 25 | 131
W o6 o ER B 86  M0x0.75 B¢ 131
M8 0x0. 35 P2 | 7.4 146" NI AN
- U0, : 18.3  M10x1.25 25 -9
M8. 0x0. 5 P2 6.1 NPT1/8=27 covcen st 250  -M40x1+5 25 13.1
he. ox0. 15 P2 &1 NPT1/418 cntfie 419 MWOxH Bl 25 | 1.9
MB. 0§1' 25 EZ (5) 3 NPT3/B1Bumominnicn M11x1.0 %g ]g 1
SOt A 23 NPT1/2-1 s M12x0. 5 o 13 1
M9 OXO 5 P3 8 1 NPT1/4_14mmﬁxm_mmu M1 ZXO 75 25 13 1
M9. 0x0. 75 P3 g1 NPT1-11.1-2 M12x1.0 25 | 131
M9. 0x1. 0 P3 8.1 m1%xl-§5 25 | 1.9
M9. 0x1. 25 P3 6.9 X 25 13.1
M10x0. 5 P3 8.1 M 2xt75 38 25.0
M10x0. 75 P3 8.1 M12x1. 7SLosowewa | 35 | 250
M10x1. 0 P3 8.1 M14x1. 0 38 25.0
M10x1. 25 P3 8.1 M14x1. 25 38 23.6
M10x1.5 P3 6.9 MT4xT.5 38 25.0
P4 6.9 M14x2.0 38 25.0
M11x0.5 P3 10.4 M16x1. 0 38 25.0
M11x0. 75 P3 10. 4 M16x1. 25 38 23.6
M11x1. 0 P3 10. 4 M16x1.5
M11x1.5 P3 9.3 M16x2. 0
M12x0.5 P3 10.4
M12x0. 75 P3 10. 4
M12x1. 0 P3 10. 4
M12x1. 25 P3 10. 4
M12x1.5 P3 10. 4
M12x1. 75 P3 9.3
P4 9.3
M14x2. 0 P3 10. 4
M16x2. 0 P3 13.1
DT WL’ IV, BTN DB DOFBTT R BRVAIBE VI3,
FeSdote’ B3eBeadh BLOTEE’ BouTT 3093t 9TTRIT W’ http://www.mzg.tw n

10000000000 000 J0ooooooot, dooodoono 0oOodnd OO0 0, eva@mzgtool.cn


http://www.mzg.tw

Joodooodoooddoood gooodooot
Turning Inserts

VB BIR I BITETE S o= 33

2VBBRA Y By’ s 3D Rt ab oy
eheleduhey Fababod,

CCGT060202

CBN1

CCGT060204 CBN1

CCGT060208
CCGTO09T302

CBN1
CBN1

CCGTO9T304 GCBN1

CCGTO9T308
CCGT120402
CCGT120404 CBN
CCGT120408 CBN

CBN1
CBN1

1
1

e

Zaeh B Reb s
Snmohabos,

CCGT060202 PCD
CCGT060204 PCD
CCGTO9T302 PCD
CCGT09T304 PCD
CCGTO9T308 PCD
CCGT120402 PCD
CCGT120404 PCD
CCGT120408 PCD

1
1
1
1
1
1
1
1

cooooo0o00 |[coooo0000
OBRANOORANIBAN CORNOORANOOIAN

00000000 |00
00000000 |0~0-0-0-0-0000

S0 DI voahe’S obo F9593
R3*320dh abo3*3

by

CCGT060202-AL
CCGT060204-AL
CCGT060208-AL
CCGTO9T302-AL
CCGT09T304-AL
CCGTO9T308-AL
CCGT120402-AL
CCGT120404-AL
CCGT120408-AL

ZKO1
ZKO1
ZKO1
ZKO1
ZKO01
ZKO1
ZKO1
ZKO01
ZKO01

OO0 00
ORNOANDOIAN

NNNAAAAAA
WWWAAD

TR I eew® ST RIS o

CCMT060204 ZM3
CCMT060208 ZM3
CCMT09T304 ZM3
CCMTO09T308 ZM3
CCMT120404 ZM3
CCMT120408 ZM3

0
0
0
0
0
0

coeeoce
[o o >N N N0 I

NN = = =

AANNOO

"\

f....ﬁ, > (¢

Fhresygednadasd e %ee)
sRindiem 3 THrnach

CCMT060204-FG
CCMT09T304-FG
CCMTO9T308-FG

ZN60
ZN60
ZN60

eee
[« W NIN

0 O~

ﬁ’d:ﬂaa“‘mdmahdiéacﬁmeﬁ %)
PAPTAlE ATV S T mTao)

CCMT060202-HQ
CCMT060204-HQ
CCMT09T302-HQ
CCMTO09T304-HQ

ZN60
ZN60
ZN60
ZN60

coe
ANAN

RN NN
Rl NN

-

T BT RADRD, s en oy B
3R eI DI 23D

CCMT060204-MT
CCMTO9T304-MT
CCMTO9T308-MT

ZN60
ZN60
ZN60

coo
0 0 N

O O

——

IR FI e’
BINNW VB BT T

CCGT060202EL-U
CCGT060204EL-U
CCGTO9T302EL-U
CCGTO9T304EL-U

ZN90
ZN90
ZN90
ZN90

e
ANAN

ARAAA
cococo

o)

RO FI I

BINNW e BT T

CCGT060202ER-U
CCGT060204ER-U
CCGTO9T302ER-U
CCGTO9T304ER-U

ZN90
ZN90
ZN90
ZN90

SLCL
ANAN

e
cococo

DI WO’ IV, T DB DO BII R BRIDIITD
WeSaB0%’ BB BNIT B BoT* 3T
1000000000000 000000000., Oo0oooDO O0Ooo OO0, eva@mzgtool.cn

http:// www.mzg.tw

PBBIR BUTRE oIS
6 CNMG120402 CBN1 0.2 | 6.9
: CNMG120404 CBN1 0.4 | 6.9
h CNMG120408 CBN1 0.8 | 6.9
2TBBLadit) mabire winn e’ a2y
S’es’eshin manahod) plefcide]
Q CNMG120402 PCD1 0.2 | 69
CNMG120404 PCD1 0.4 | 6.9
h CNMG120408 PCD1 0.8 | 6.9
BoayrRymngedahar ‘abay®
oo
@& CNMG120404-TM ZC25 | 0.4 | 2.6
Pl el CNMG120408-TM 2G25 | 0.8 | 2.6
Bt CNMG120412-TM ZC25 1.2 | 2.6
DB SNBB0DT GVB€B) 0o T
CNMG120408R-X ZG25 | 0.8 | 2.6
CNMG120408L-X 2625 | 0.8 | 2.6
6‘8”3 dm‘ﬁo
CNMG120404-TM 2635 | 0.4 | 2.6
CNMG120408-TM G35 | 0.8 | 2.6
Medium Finish
BudtmfgaTnis - - —3
ﬂ ’f
CNMG120404-HA ZKO1 0.4 | 2.0
gd;:abm CNMG120408-HA ZKO1 0.8 | 2.0
el ma'%mwﬁmv Eriailel]
CNMA120404 ZK50 0.4 | 2.6
CNMA120408 ZK50 0.8 | 2.6
U8B R IF MGEMTF0E 3¢ abo3{d
CNMG120404 ZK50 0.4 | 2.6
CNMG120408 ZK50 0.8 | 2.6
Dgcabd Bn3*Bood o L DT3¢ abod o]
CNMG120408-HS ZM30 | 0.8 | 2.6
BB RBFOP o ori
{ N CNMG120404-MA ZM30 0.4 | 2.6
LA CNMG120408-MA ZM30 | 0.8 | 2.6
BRI INT AT 0w e T ONRS
CNMG120404-MS ZM30 | 0.4 | 2.6
CNMG120408-MS ZM30 | 0.8 | 2.6
BRI F S 2 S T -Pori
CNMG120404-HQ ZN60 | 0.4 | 2.3
CNMG120408-HQ ZN60 | 0.8 | 2.3
ﬁ’d‘d}’m‘)dm;ﬁ)?ﬁﬁ‘(&%ev < Jeeo)
PR
/ 3
> i { CNMG120404-TS ZN60 | 0.4 | 2.3
S e CNMG120408-TS ZN60 | 0.8 | 2.3
Fo D whrnddalde T LI STy
333°.
BRI W


http://www.mzg.tw

oot ooouogugd

Turning Inserts

B BIS B BITETE

B T r

Zhelkbabey, mabaod,

TR’

DCGT070202 CBN1
DCGT070204 CBN1
DCGT070208 CBN1
DCGT11T301 CBN1
DCGT11T302 CBN1
DCGT11T304 CBN1
DCGT11T308 CBN1
DCGW11T308 CBN1

oo AN =0 AN B

maaEhdw e daiEsr
Sumahchod,

DCGT070201 PCD1
DCGT070202 PCD1
DCGT070204 PCD1
DCGT070208 PCD1
DCGT11T301 PCD1
DCGT11T302 PCD1
DCGT11T304 PCD1
DCGT11T308 PCD1

POLOOOORe PO eo

OAN—=00AN—

00000000 | OO0
~0 "0 000000 | 00000000

!.‘/
e

SobEbEvughddbomatn des

DCGT070202-AL
DCGT070204-AL
DCGT11T302-AL
DCGT11T304-AL
DCGT11T308-AL

ZKO01
ZKO01
ZKO01
ZKO01
ZKO01

DO OOoo
©ANAN

RN NN N
[e N e N A

DCMT070204-MV
DCMT11T304-MV

ZM30
ZM30

oo

~N o

DCMT11T304 ZM30
DCMT11T308 ZM30

3
LN

~N -~

RO For 00 DI F R B
3200 3 BRZ 2B

e

DCMT070204-FG ZN60
DCMT11T302-FA ZN60
DCMT11T304-FG ZN60

ceg
ANN

O O~

{ &

S’d‘:mﬂlqmdmm@j‘ﬂn“‘ed e
AT NI o Pt

DCMT070202-HQ ZN60
DCMT070204-HQ ZN60
DCMT11T302-HQ ZN60
DCMT11T304-HQ ZN60

Cooo
ANAN

OO NN

ﬁzs;rséd(aweef

RISV Bty

DCGT11T302FL-U ZN90
DCGT11T304FL-U ZN90

e

AN

oo

fxz&r%‘xﬁm&ef
Pt b) eTE DD s0a

DCGT11T302FR-U ZN90
DCGT11T304FR-U ZN90

e o

AN

[eNe)

VB BIR I BITTC

&

PO EBS’

DNMA150404 CBN1 0.4 |6.9
DNMA150408 CBN1 0.8 | 6.9
2082 et mehdinic uind hog
S’ fedeben Saabobod, s}
DNMA150404 PCD1 0.4 | 6.9
DNMA150408 PCD1 0.8 |6.9
EERRELIER Ty T
ansmihod
DNMG150404-HA ZKO1 0.4 | 4.3
DNMG150408-HA ZKO1 0.8 | 4.3
DNMG150604-HA ZKO1 0.4 4.9
DNMG150608-HA ZKO1 0.8 | 4.9
Foab odintgebdabomaiatn flaplel]
iz b o,
DNMG110404-FG ZN60 0.4 |26
TO D’ W* TP 236 DIS*R ﬁ’éé‘ Teeeof
3anRe) enSBRRRR
DNMG150404-HQ ZN60 0.4 | 2.6
DNMG150408-HQ ZN60 0.8 | 2.6
ﬁ’d‘m%mdmm@qﬂﬁef fereff
T ent3;
DNMG150404L-VF ZN60 | 0.4 | 2.6
Cermet MediumAnd Rough Steel
Riifden3shanda
DNMG150404R-VF ZN60 | 0.4 | 2.6

Cermet MediumAnd Rough Steel
NP B BT ST

DeV’IT WL’ ITR), BT DR BOBTIR BRIBDIBEF 33T .

FeS2B0%0° BB BNATTE BT B30I TT 0T @ W,
AT r It ar Iy rarar i arirrar ey rrararararirrirarririr1 riririrl eva@mzatool.cn

http://www.mzg.tw


http://www.mzg.tw

Joodooodoooddoood gooodooot
Turning Inserts

VB BIR I BITETC S o TR 33 NI BII B BITETE e ATcE

Py

208E R EDVE B H EE @ nutw’abad
P abo T B8 Faab ohodT

SNMG120404 CBN1
SNMG120408 CBN1

e
© A~

oo
0 0o

B3 wa e St aiha I abad®
Sn3“B20d aho3*d

SNMG120404 PCD1
SNMG120408 PCD1

oce
© M

oo
© o

VBB’ B3 Jox BT

SNMG120408L-S

2025

0.8

2.6

B0°3* Fe3% 0 Ig° 3TN S ort*

SNMG120408L-S

2035

0.8

2.6

VBB’ 33 Jox 8T

SNMG120408R-S

2025

0.8

2.6

B0B* e’ e S 8 ST’ ot

SNMG120408R-S

2035

0.8

2.6

SNMG120408-TM

2025

0.8

2.6

B0 DB*D vofaed’Fabo 3200

Zwd*3Brab aho3*3

SNMG120404-HA
SNMG120408-HA

ZKO01
ZKO01

=5 4
LN

Mo
co

ol

TR e BTN’ o

SNMG120408-MA

ZM30

0.8

2.6

SNMG120404-MS

ZM30

0.4

2.6

TR VR FFwew® TR T o

SNMG120404-HQ
SNMG120404-HQ

ZN60
ZN60

°&Z
CEN

NN
w w

BT’ BIFI00 DIBD 3¢ Bwew®

Bannd) en a3 dad

SCMTO9T304-MT

ZN60

0.4

1.9

oL

B C DB v aed’ P abo JE 200
Sws*Brab abo3*d

SCGTO9T304-AL
SCGT09T308-AL
SCGT120404-AL
SCGT120408-AL

ZKO1
ZKO01
ZKO1
ZKO1

oL
[ ENY N

RGN NN
OO DM D

203BRWE Buw’n DI D nuw’ a3
D'’ Ao s Bad abo3*d

TBGT060102 CBN1
TCGT110302 CBN1
TCGT16T302 CBN1
TCGT16T304 CBN1
TCGT16T308 CBN1
TPGT080202 CBN1
TPGT080204 CBN1
TPGT090202 CBN1
TPGT090204 CBN1
TPGT110202 CBN1
TPGT110204 CBN1
TPGT110302 CBN1
TPGT110304 CBN1
TPGT110308 CBN1

B0 IR v’ S abad®
Sws*3vad cbo3*3

TBGT060102 PCD1
TCGT110202 PCD1
TCGT110204 PCD1
TCGT110304 PCD1
TCGT16T302 PCD1
TCGT16T304 PCD1
TCGT16T308 PCD1
TPGT080202 PCD1
TPGT080204 PCD1
TPGT090202 PCD1
TPGT090204 PCD1
TPGT110204 PCD1
TPGT110302 PCD1
TPGT110304 PCD1

COOOR/LLOLOLCROL (COTOO0OOCOPROCC
ANBAANANORANARANN|[OANANANBNDOANNN

SOOI OOOO
0 ~0 "0 ~0 0 ~0 0 0 ~0 0 ~0 0 0 O [ 0 0 0 0 0 0 0 0 00 0000

A

TO e TG00 DI &3¢ e

Pannw ev3<3D3dD

TBGT060102L ZN90
TBGT060104L ZN90
TCGT110202L ZN90
TCGT110204L ZN90
TPGH080202L ZN90
TPGHO080204L ZN90
TPGH090202L ZN90
TPGH090204L ZN90
TPGH110302L ZN90
TPGH110304L ZN90

COoocooo0o00o0oo

ANDBNAEANBANAN

W WWwWwwwwwww

ABRDMAADADDDADN

4 : I P i)
V'O’ I 200 DI D 3 Fweo*

i v Z 03D

TBGT060102L-W
TBGT060104L-W
TPGT080202L-W
TPGT080204L-W
TPGT090202L-W
TPGT090204L-W
TPGT110302L-W
TPGT110304L-W

ZN90
ZN90
ZN90
ZN90
ZN90
ZN90
ZN90
ZN90

cCoROoLOoLO
ANANANAN

W W www www
N N AN NN N

VoD’ FG 200 DI 3 I weo

Fannwh w33 Z 03D

TCMT090202-HQ
TCMT090204-HQ
TCMT110202-HQ
TCMT110204-HQ
TCMT110208-HQ
TCMT16T304-HQ

TPMT110304-HQ
TPMT110308-HQ

ZN60
ZN60
ZN60
ZN60
ZN60
ZN60

ZN60
ZN60

coocooo

o

(o> AOBANAN

N
ANNNNN

N~

BID*T0 DB vefahed’Iobo 9523
B3 3oad aho3“3

TCGT090202-AL
TCGT090204-AL
TCGT110202-AL
TCGT110204-AL
TCGT110302-AL
TCGT110304-AL
TCGT16T302-AL
TCGT16T304-AL
TCGT16T308-AL

ZKO1
ZK01
ZKO01
ZKO01
ZK01
ZKO01
ZKO1
ZK01
ZKO01

Ceooooooee
CORANBNENBAN

N~N~NoohRADMPAN

ST O T eu @ 0w Jorte

TCMT110204 ZM30
TCMT110208 ZM30
TCMT16T304 ZM30
TCMT16T308 ZM30

e ore
[ NJ NN

NN ==

wwo o

DUV WL’ ITR), BT DB DO BBI R BRTBIBE 3BT .

eSS aBOT’ BB BT B BoOT® 3T D93 @ W’

http://www.mzg.tw

1O 00000000 dooooooonDd, Dooooooo 0o OO0 OO0 0, eva@mzgtool.cn


http://www.mzg.tw

Oo0dooodooodoootdd gobodoood
Turning Inserts

PUBTBIR BBUSRT T RES PBBIR BIWTRE IR LS
® \ TNMG160404L—C ZN60 | 0.4 .9
TNMA160402 CBN1 02 | 6.9 () TNMG160408L-C ZN6O | 0.8 .9
TNMA160404 GBN1 0.4 | 6.9 S
TNMA160408 GBN1 0.8 | 6.9 TNMG160404R-C ZN6O | 0.4 .9
[ AU\ RC_ LG | TNMGI60408R-G ZN6O | 0.8 .9
i e B R n); ‘j.,ﬁ\r’iriﬁv
Q TNMG160404L-S ZN60 0.4 .9
TNMA160402 PCD1 0.2 | 69 TNMG160408L-S ZN6O | 0.8 .9
TNMA160404 PCD1 0.4 | 69
TNMA160408 PCD1 0.8 | 6.9 TNMG160404R-S ZN6O | 0.4 .9
e RS, ... LS. | TNMG160408R-S ZN60 | 08 9
SnREEmal St~ : o L
S\ 2 (i} E X
F % £ TNMG160404-CQ ZC25 | 0.4 | 2.3 N 4 TNMG160404L-VF ZN6O | 0.4 .9
/'_,Hf._a . ® . | TMG160408-CQ 2625 | 0.8 | 2.3 g 5 TNMG160408L-VF ZN60 | 0.8 .9
RN S| \ye160404-HO 2625 | 0.4 | 2.3 ﬁ h TNMG160404R-VF ZN6O | 0.4 .9
¢ HQ TNMG160408-HQ 2625 | 0.8 | 2.3 _R-VF_L-VF | TNMG160408R-VF ZN60 | 0.8 .9
DN RNRIARGDTLASE: Ahomenin NG, e Ty
(| TNMG160404L-S zC25 | 0.4 | 2.3 TNMG160404L—FS ZN60 | 0.4 .9
@ | TNMG160408L-S ZC25 | 0.8 | 2.3 TNMG160408L—FS ZN6O | 0.8 .9
NS SRR 1nMG160404R-S ZC25 | 0.4 | 2.3 TNMG160404R-FS ZN60 | 0. 4 9
R-S L-S TNMG160408R-S ZC25 | 0.8 | 2.3 TNMG160408R-FS ZN6O | 0.8 .9
LB B’ BF* JoJT BT
TNMG160404L-S 2€35 | 0.4 | 2.3
TNMG160408L-S 2€35 | 0.8 | 2.3 TNMG160404-HQ ZN6O | 0.4 9
TNMG160404R-S 2635 | 0.4 | 2.3 ULLIEERA AED | 7
R-S L-3 TNMG160408R-S 2C35 | 0.8 | 2.3 o RSN
B0 AL Fhaee sl oR° R’ orte 23a5RY) :ma{‘:&d\,ivr;m
£
e TNMG160404-TM ZC25 0.4 | 2.3 ~
18 TNHG160408-TH 2625 | 0.8 | 2 3 ® e e 04| 7
I~ TNMG160412-TM 2C25 | 1.2 | 2.3 — : ;
O DTGP TRALSF o o SO
DF DR Fastr 3 e wo3*onRY Pannw) e BB
TNMG160404-TM 2C35 | 0.4 | 2.3 TNMG160404-TS ZN6O | 0.4 .9
TNMG160408-TM 2C35 | 0.8 | 2.3 W it TNMG160408-TS ZN60 | 0.8 9
g
chrth Shazmads O R TROnE R, 3, e Feew*
B20°3¢ 8’ F abo3*3 A rialatts I ;S
A TNMG160402-HA ZKO1 0.2 | 1.9
7 RN TNMG160404-HA ZKO1 0.4 | 1.9
' TNMG160408-HA ZKO1 0.8 | 1.9
RS Rl plartat] El~rlelx]
AnRB 20D :lhn#‘d
TNMA160404 ZK50 0.4 | 2.3
TNMA160408 ZK50 0.8 | 2.3
TNMG160404 ZK50 0.4 | 2.3 L
TNMA TNKG TNMG160408 ZK50 0.8 | 2.3 /_{ :\ TNGG160402L-P ZN90 | 0.2 -6
() ® TNGG160404L—P ZN9O | 0.4 6
'@ Fonf sad*Castiron &S on eszd<Cast Iron| =
a A a TNGG160402R-P ZN9O | 0.2 6
TNMG160404-HA ZM30 | 0.4 | 2.3 RP |2 TNGG160404R—P ZNOO | 0 4 V)
TNMG160408-HA ZM30 | 0.8 | 2.3 i e e
‘ TNMG160404-MA ZM30 | 0.4 | 2.3 R IR e
HA MA TNMG160408-MA ZM30 | 0.8 | 2.3
BRI FPe RePazr Pori
TNMG160404-MQ ZM30 | 0.4 | 2.3
TNMG160408-MQ ZM30 | 0.8 | 2.3
/A . TNGG160402L-S ZN9O | 0.2 6
R — OB - TNGG160404L-S ZN9O | 0.4 6
A H TNGG160402R-S ZN9O | 0.2 6
R-S Lo TNGG160404R-S ZN9O | 0.4 6
TNMG160404-MS ZM30 0.4 2.3 O FI I
TNMG160408-MS ZM30 0.8 2.3 Bonnw e BB 2B
BRI TR U @ wsen STONE

DV’ WL’ VTR, BT DB DO BBI R BRITBIBEF 3BT .

e aB0%’ B30 BT R BT 3T I TT 0FT @S W,

http://www.mzg.tw

OO00OOoO00Ooood oboboootoon, OOoooOood Oooo o OO0, eva@mzgtool.cn



http://www.mzg.tw

oo doododon doooooon
Turning Inserts

VB BIR I BITETC

20BBRDT Bafw’n DB*D Restes’ b7
e’ Ao IS 320d abo3*3

FOTEBS’

VBMT110302 CBN1
VBMT110304 CBN1
VBMT 160402 CBN1
VBMT160404 CBN1
VBMT160408 CBN1

VCGT110302 CBN1
VCGT110304 GCBN1
VCGT110308 CBN1
VCGT160402 CBN1
VCGT160404 GCBN1
VCGT 160408 CBN1
VCGT160412 CBN1

OPe OO
OANBN

eSS Ll
NoOAN®OAN

o000 0O O

~O 0 0 0 000

O 0 0 00

NI BII B BITETE

i s el i
e, Fohoiios,

PR

VNMG160404 CBN1
VNMG160408 CBN1

S
0o N

oo

Rele]

o

mueEhdwugdaay
dwzaahehod

VNMG160402 PCD1
VNMG160404 PCD1
VNMG160408 PCD1

O o
® AN

oo o
000

.

B0 DBB v abeR’ Fabd®
w83 aab oPo3<d

VBGT110301 PCD1
VBGT110302 PCD1
VBGT110304 PCD1
VBGT110308 PCD1
VBGT160402 PCD1
VBGT160404 PCD1
VBGT160408 PCD1

VCGT110301 PCD1
VCGT110302 PCD1
VCGT110304 PCD1
VCGT110308 PCD1
VCGT160401 PCD1
VCGT160402 PCD1
VCGT160404 PCD1
VCGT160408 PCD1
VCGT160412 PCD1

coocooRo
©AN®AN=

g AR
NOAN—=0AN=

o000
<0 "0 0 0 0 0 ©O

o000
<0 ~0 \0 "0 "0 0 0 0 O

SidyEougddiom et 3
Susmohoiod,

VBGT110302-AL ZKO1
VBGT110304-AL ZKO1
VBGT160402-AL ZKO1
VBGT160404-AL ZKO1
VBGT160408-AL ZKO1

VCGT110302-AL ZKO1
VCGT110304-AL ZKO1
VCGT160402-AL ZKO1
VCGT160404-AL ZKO1
VCGT160408-AL ZKO1

COoRY e
©OANAN

Coooo
OANAN

NN =2

M ST

OO ==

OO ==

VBMT160404-MV ZM30
VBMT160408-MV ZM30

o
LN

ww
~~

ﬁ;ijraa"mde?dm‘u_‘ayquezf <
sminsbudhadd

VBMT110304-HQ ZN60
VBMT160404-HQ ZN60

oo

W

oD’ BB 206 DI 3 ot
PanAs eu3<B30aS

VBMT160404-MT ZN60

Bdoeeyd et
FAETATEN N It Ta o)

VBGT110302L ZN90
VBGT110304L ZN90

oo

AN

éé)?d&ﬁnﬁwetf

P IS T Tt

VBGT110302R-Y ZN90
VBGT110304R-Y ZN90

oce
AN

N~

ShgEhanmahzuudLaodiid

VNMG160404-TM ZC25
VNMG160408-TM ZC25

oo

[ooJ=N

o
~N~

Medium Finish
Femroavd Suhod,

VNMG160404-TM ZC35
VNMG160408-TM ZC35

es
NN

NN

Foshshdiwugddohomreta
Zumchohod,

VNMG160404-AL ZKO1
VNMG160408-AL ZKO01

oo
[N

NN
ww

VNMG160404 ZM30
VNMG160408 ZM30

oo
LN

NN

VNMG160404-HS ZM30
VNMG160408-HS ZM30

oo

o A

NN

Tehrenmonddg;q e
i dmhamdd

VNMG160404-MT ZN60
VNMG160408-MT ZN60

oo

©

SN
ww

DeV'RV WL’ ITR), BT DBTR) DUBBI R BRTIBEF BT .

WFeSaB0%e’ BB BNAITE BoT* 3T BT @ W’

http:// www.mzg.tw
1 O000000000oon 0Ootooodon, OoOooood O0Ooo OO H, eva@mzgtool.cn


http://www.mzg.tw

Turning Inserts
Turning Inserts

3-6—»5-63 33'6?36'6_"€ ﬁpd'sdpa"&iés 3’6_’ﬁ'€5 98.6?36.5_:.6 Ki’d‘d’a"ad’
: 1. 4 Ll SUSTLE BET 0442 6.7 WNMGOBO404-MA ZM30 | 0.4 | 2.6
‘ LI EUC 0 el 0.8 169 WINMGOBO408—MA ZM30 | 0.8 | 2.6
WNMGO80412 CBN1 1.2 | 6.9 : :
o8 bED s RN nhad Eaxdeirial
B eFedindy, STEDNIST~~ ~03g
WL UL AL 0271 6.9 WNMGOB0404-MQ ZM30 | 0.4 | 2.6
WNMAO80404 PCD1 0.4 | 6.9 WNMGO80408-MQ ZM30 | 0.8 | 2.6
WNMAO80408 PCD1 0.8 | 69 : :
BAD GRS e S G Tifloan DI
Huafimah.ah ~ =4 T TE e SCRI’ T ontt
J \ WNMGOB0404-CQ ZC25 | 0.4 | 2.6 WNMGOB0404-MS ZM30 | 0.4 | 2.6
/ \ WNMGO80408-CQ ZC25 | 0.8 | 2.6 MG080406-4s M0 | o8 | 26
% WNMGOB0412-CQ ZC25 | 1.2 | 2.6 : :
DFTDD InB*B20h 3 uB*R aboIS*TRY E%) eé‘o’é‘ TfePew* ST RI T on*
o
7N
WNMGO80404-HQ ZC25 | 0.4 | 2.6 c WNMGO80404-HS ZN6O | 0.4 | 2.3
WNMGO80408-HQ zC25 | 0.8 | 2.6 g“ WNMGOB0408-HS ZN6O | 0.8 | 2.3
FTR ORI R LT méf\i‘ Tee3en)
WNMGOB0404L-S ZC25 | 0.4 | 2.6
B 0.8 | 2.6 @ N WNMGOB0404-HQ ZN60 | 0.4 | 2.3
WNMGOBO404R-S 2625 | 0.4 | 2.6 “E e 08 | 2.3
3 WNMGOB0408R-S ZC25 | 0.8 | 2.6 I e e g D
gER,05 Sor*30n iR
WNMGOB0404L-S ZC35 | 0.4 | 2.6 / \ WNMGOB0404L-X ZN6O | 0.4 | 2.3
WNMGO80408L-S ZC35 | 0.8 | 2.6 QSS 220 WNMGOBO408L-X ZN6O | 0.8 | 2.3
WNMGOB0404R-S ZC35 | 0.4 | 2.6 WNMGOB0404R-X ZN6O | 0.4 | 2.3
WNMGOB0408R-S 7C35 | 0.8 | 2.6 R-S WNMGO80408R-X ZN6O | 0.8 | 2.3
B} ﬁ'u?"*‘ 5‘%@.@9‘"}*“‘ ”‘” ”“’#“”‘ Zannw s BB B
- HNNGOB0404-TH 2C25 | 0.4 | 2.6 G? WNHGO0B0404-MT ZN60 | 0.4 | 2.3
ey WNMGOB0408-TM ZC25 | 0.8 | 2.6
- WNMGOB0408-MT ZN6O | 0.8 | 2.3
WNMGOB0412-TM ZC25 | 1.2 | 2.6 —
™ ZC25 TM ZC35 BRI o Tl ey o 43 B
P E'ms‘d?(_k_i)d E!PS‘&) abo3*3n PR su3*3DS2BR
@./ P WNMGO80408-CM ZC25 | 0.8 | 2.6 WNMGO80404-TS ZN6O | 0.4 | 2.3
% WNMG080412-CM ZC25 1.2 2.6 WNMG0O80408-TS ZN60 0.8 2.3
DFFabaD BB BT euBB o3 TRy TR’ S50 DR 3¢ T
Panneh ev3* BT B
WNMGOB0402-HA ZKO1 | 0.2 | 2.3
WNMGOB0404-HA ZKO1 | 0.4 | 2.3
WNMGOB0408-HA ZKO1 | 0.8 | 2.3
BT amtiaMninmarmia_ - 898900
Swd*32ab oabo3*3
WNMGOB0404-HA ZM30 | 0.4 | 2.6
WNMGOBO408-HA ZM30 | 0.8 | 2.6
TS0 T T ST WRI T ot
WNMAOB0404 ZK50 0.4 | 2.6
WNMAOB0408 ZK50 0.8 | 2.6
QTBBR AT EDR N Wt 08 aho3*d
WNMGO80404 ZK50 0.4 | 2.6
WNMGO80408 ZK50 0.8 | 2.6
DD BB I BT DO ahoI3*T|

eV’ W’ IBRD, BT D3R DOFBTI BRIIIBBF 33T’
FeJdwte’ Bdedead BT E BT B30I 9TRIT W’ http://www.mzg.tw
AT AT AT Ar A rar A ar 1t rararararararararary rarararar i arart e ar i r1 rririre eva@mzatoo!l cn



http://www.mzg.tw

B0’ B3* o I’ on*t Lew*t
Thread Turning Tool

3°BIVBBWS®C  FTTFI U NI BID PIUT T SRS
ZP10 16ER 050150 ZP10 0.50 2.0
Woamieing 16ER 075150 ZP10 0.75 | 2.0
16ER 1001S0 ZP10 1.00 2.0 16ER 2TR ZP10 2.0 2.0
16ER 125180 ZP10 1.25 2.0 16ER 3TR ZP10 3.0 2.0
16ER 150180 ZP10 1.50 2.0 30+ e e e e rarP
16ER 175180 ZP10 1.75 2.0 e e
16ER 2001S0 ZP10 2.00 2.0 ~n
16ER 250180 ZP10 250 | 20 DHOOHHE e THUHHHH
PCD1 | 16ER 300150 ZP10 3.00 2.0
ziﬁg%mm 16ER 350150 ZP10 3.50 2.0 16IR 2TR ZP10 2.0 2.0
J 16ER A60 ZP10 0.5-1.5 | 2.0 16IR 3TR ZP10 30 20
16ER AG60 PCD1 0.5-3.0 | 6.9 30° s camior s
- 16ER AG6O ZP10 0.5-3.0 | 2.0 A
) 16ER G60 ZP10 1.5-3.0 | 2.0 R
& | 22ER 350150 ZP10 3.50 5.1 HDHOOOGEGTT == s OO0
22ER 4001S0 ZP10 4.00 5.1 General
- 22ER 500150 ZP10 5.00 5.1 Machining 16ER 11W ZP10 Tinch] 1700ty 2.0
A i 22ER 6001S0 ZP10 6.00 5.1 16ER 14W ZP10 11noh1 4700t 2.0
BTG BT 22ER N60 ZP10 3.5-5.0 5.1 16ER 19W ZP10 Tinch19Tooth 2.0
16ER 24W ZP10 11nch24T00t) 2.0
SER1616H16 - 7.1 Pebt .| 16ER 8W ZP10 11nch8Tooth | 2.0
SER2020K16 - 71 SIS 0T g TR 16ER A5 ZP10 0.5-1.5| 2.0
SER2525M16 - 9.3 s gaabighoza 16ER AG55 PCD1 0.5-3.0| 6.9
SER2020K22 Al 9.6 ) 16ER AG55 ZP10 0.5-3.0( 2.0
SER2525M22 - 13.1 é 16ER G55 ZP10 1.5-3.0| 2.0
B-SEL SER SER3232P22 - 20.3 22ER N55 ZP10 3.5-5.0| 5.1
B-SEL1212H16 - 9.6 55° @ou* w
B-SEL1616H16 - 9.6 GG ST T
B-SEL2020K16 - 9.6 zP10
wasah OB s Tar | B-SEL2525M16 - 13. 1 it 06IR A55 ZP10 0.5-1.25| 4.7
ZP10 06IR A60 ZP10 0.5-1.25 | 4.7 08IR A55 ZP10 0.5-1.5| 4.1
General 08IR 150150 ZP10 1.50 4.1 111R 19W ZP10 Tinch97o0t| 2. 0
Machining 08IR A60 ZP10 0.5-1.5 | 4.1 16IR 11W ZP10 Tinoh1 1700t 2. 0
111R 150180 ZP10 1.5 2.0 16IR 12W ZCO1 Tinoh12Toote| 2. 0
111R 2001S0 ZP10 2.0 2.0 16IR 14W ZP10 Tinh4toott| 2. 0
11I1R A60 ZP10 0.5-1.5 2.0 PCD1 16IR 19W ZP10 Tinch19To0th 2.0
16IR 05010 ZP10 0.50 2.0 370 DI BUabe @ | 16IR A55 ZP10 0.5-1.5| 2.0
16IR 075150 ZP10 0.75 2.0 a3 aab ho3T ] 16IR AG55 PCD1 0.5-3.0| 6.9
16IR 10010 ZP10 1.00 2.0 16IR AG55 ZP10 0.5-3.0| 2.0
. 16IR 125180 ZP10 1.25 2.0 é 16IR G55 ZP10 1.5-3.0| 2.0
Somes s socanmrrabad  161R 150180 ZP10 1.50 2.0 U . 22IR N55 ZP10 3.5-5.0| 5.1
NN+ A 16IR 175180 ZP10 1.75 2.0 I
16IR 2001S0 ZP10 2.00 2.0 d
e 2 | 29 668 1N P10 12| 2.0
161R 350150 ZP10 3 50 20 16ER 14UN ZP10 Tinch4to0tt| 2. 0
161R A0 ZP10 0515 | 20 16ER 16UN ZP10 Tinoh16Toots| 2.0
161R AG60 PCD1 0530 | 69 16ER 18UN ZP10 Tinoh18Toote| 2.0
16|R AG60 ZP10 0 5,3: 0 2 0 EU“Ufnﬁﬁm,ﬁ( 16ER 20UN ZP10 1Inch20Tocth 2. 0
16IR G60 ZP10 1.5-3.0 | 2.0
22IR 350150 ZP10 3.50 5.1
221R 4001S0 ZP10 4.00 5.1 16I1R 12UN ZP10 1inch12700th 2.0
221R 5001S0 ZP10 5.00 5.1 161R 14UN ZP10 Tinch14100th 2.0
60 ° a’usrss wosa’ s aeee’ | 22|R 6001S0 ZP10 6. 00 5.1 16I1R 16UN ZP10 Tinch16Tooth 2.0
BOE BB o 221R N60 ZP10 3.5-5.0 5.1 16IR 18UN ZP10 1inch18Tooth 2.0
0 aneneines o- | T6IR 20UN ZP10 T1nch20Toote| 2. 0
SNROO05K06-A12 - 7.1 R
SNR0007J08 - 5.1
SNROOOSK08 _ 5 1 16ER 11BSPT ZP10 Tinehl T1ooth| 2. 0
16ER 14BSPT ZP10 Tinch4toott| 2. 0
SNROO10K11 - 1 16ER 19BSPT ZP10 Tinch 19700t 2.0
SNROO12M11 p 5 4 16ER 28BSPT ZP10 Tinch28Tooth| 2. 0
W aR B’ wionE Rt £330° grabew®
SNR0OO13N16 - 6.1 R o
SNROO14N16 - 6.7 ;
SNR0O016Q16 - 6.7
SNROO20R16 - 7.1 16IR 11BSPT ZP10 Tinoh1 1700t 2.0
SNR0025S816 - 1.7 16IR 14BSPT ZP10 Tinch4toott| 2. 0
SNR0032T16 - 20.3 WoR W s 0BEFHT 10°6* o
3°0ew* BT BE RowT IV
SNRO020R22 - 10.7 — X
) SNR0025522 - 14.3 o
P A SNR0032T22 - 22.9
FeEE TP 16ER 11.5NPT ZP10 | 1,11 50| 2.0
16ER 14NPT ZP10 Tinch14tooth| 2.0
TKFT. . TTP. . 16ER 18NPT ZP10 1inch18Tooth| 2. 0
l \¢ TKFT6001 ZP15 0.5-3.0 | 5.9 oF T Ba geoEe
o o o o
SO BERAD © e o TTP6001 ZP15 0.5-3.0 | 5.9 )
7P 16IR 11.5NPT ZP10  Jimenl1. 5rooty 2.0
- 16IR 14NPT ZP10 Tinch1dtooth| 2.0
puwmSs  TTPR12 - 9.3
TTPR16 - 11.7 aai‘a“u"a’:;‘ar’!j‘%%“\fuuv 3 BUEL
o cte s A s
De’I WO’ IV, T DB DO BT BRIV IIT.
FeS B0’ Fed%ab aVaR*E’ BT 33 R IT RS W’ http://www.mzg.tw

A1 rarararirirarirairairairairairi1rararirarairairairirir1 rairariririrariri1rarirariri1riririrlt ava@mmm=zatonl on


http://www.mzg.tw

B3°-83° / N*BRD°on® / WD 95® T 3NNY) 33’
Cut-Off/Grooving/Back Turning Of Small Parts

B BIR B BT o PR Width PV BN B BT TR Width
T16E100 ZP15 1.0 | 3.0 TKF12R100-S ZP15 1.0 | 5.9
T16E150 ZP15 1.5 | 3.0 ) TKF12R150-S ZP15 1.5 | 5.9
T16E160 ZP15 1.6 | 3.0 TKF12R200-S ZP15 2.0 | 5.9
T16E200 ZP15 2.0 | 3.0 g 3 TKF16R100-S ZP15 1.0 | 6.6
T16E250 ZP15 2.5 | 3.0 \ > | TKF16R150-S ZP15 1.5 | 6.6
T16E300 ZP15 3.0 | 3.0 gt derinv ifdedor - TKE] 6R200-S ZP15 2.0 | 6.6
/8e3*-33° JoIT*BT6
Taner TKF12R100-816R ZP15 | 1.0 | 5.9
ol TKF12R150-S16R ZP15 | 1.5 | 5.9
" B TKF12R200-S16R ZP15 | 2.0 | 5.9
{ ) TKF16R100-S16R ZP15 | 1.0 | 6.6
N W TKF16R150-S16R ZP15 | 1.5 | 6.6
SER1616H16 - 7.1 - TKF16R200-S16R ZP15 | 2.0 | 6.6
SER2020K16 - 7.1 RBee Ganinivy us-ug* 30383
SER2525M16 - 9.3 .
T11N100 ZP15 1.0 | 3.0 ‘ USRS R
T11N150 ZP15 1.5 | 3.0
T11N200 ZP15 2.0 | 3.0 S
T16N100 ZP15 1.0 | 3.0
T16N150 ZP15 1.5 | 3.0
T16N160 ZP15 1.6 | 3.0
T16N180 ZP15 1.8 | 3.0
T16N200 ZP15 2.0 | 3.0
T16N230 ZP15 2.3 3.0 KTKFSL1010JX12 - 11.9
T16N250 ZP15 2.5 3.0 KTKFSL1212JX12 - 11.9
T16N300 ZP15 3.0 3.0 KTKFSL1212JX16 3 11.9
SNROO10K11 - 5.1
SNROO12M11 - 5.4 KTKFSL . .
SNROO13N16 - 6.1
SNROO14N16 - 6.7
SNR0016Q16 - 6.7 KTKFRO810JX12 - 11.9
SNROO20R16 - 7.1 KTKFR1010JX12 - 9.4
SNR0025S16 - 1.7 KTKFR1212JX12 - 9.4
KTKFR1616JX12 - 9.4
16° CTP10FR ZP15 1.0 | 5.9
Taper ? CTP15FR ZP15 1.5 | 5.9 KTKFR1010JX16 - 9.4
Ve \“ CTP20FR ZP15 2.0 | 5.9 KTKFR1212JX16 - 9.4
g 3 CTPA10FR ZP15 1.0 | 6.6 KTKFR1616K16 - 9.4
\ J CTPA15FR ZP15 1.5 | 6.6 KTKFR. . KTKFR2020JX16 - 10.7
CTPA20FR ZP15 2.0 | 6.6
e Yrberug 08,0
CTP10FRN ZP15 1.0 | 5.9
- i, CTP15FRN ZP15 1.5 | 5.9
D i 20 | 2 Fioteodriso p1s | 15| 4
5@?;:;;mfﬁig,aon‘ ' GTPA20FRN ZP15 20 | 66 FVV1604R300 ZP15 3.0 4.3
22357 § -ouLe
CTPSL10 - 10.7
CTPSL12 N 1. 9 Q03¢ eI B on® D’ FFonc
CTPASL10 - 10.7
CTPASL12 - 11.9
ThRsL CTPASL16 - | 143
CTPRO8 - 11.9
CTPR10 e 9.4 SVQCR2020K16-NJ - 11.9
CTPR12 - 9.4
CTPR16 - 9.4
CTPR20 - 10.7
CTPAR10 - 9.4
CTPAR12 - 9.4
CTPAR16 - 9.4
CTPR/CTPAR. . CTPAR20 - 10.7
CTPAR25 - 14.3
VC1604R250 ZP15 2.5 4.3
VC1604R300 ZP15 3.0 4.3
TTB6001 ZP15 - 5.9
Q08¢ eI* nN*8ea’on® "B I ort*
w4 d rmrirsh e
TBPR10 - 9.4
TBPR12 - 9.4 SGIVFR16Q16 - 14.3
SGIVFR20Q16 - 14.3
TBPAR10 - 9.4 SGIVFR25R16 - 16.7
TBPAR12 - 9.4
TBPAR16 - 9.4 SGIVFR.

De’I WL’ IVRD), BT DB DO*BBTI BRIVBIBB I IE.
FeS30%e’ Fed%ead Ao e’ Bo03* BB ISR T RIS WL’ http://www.mzg.tw
A e e e e c eIy, tr et ir 1 i Irir1riririrl eva@mzatool.cn



http://www.mzg.tw

Wod*ah S°°0BT 9B 908 N*CRD oN® 33 3 on*® ™
External Cylindrical n*Cpea’on® 80 3 on® dpe®

VBBIR BB BT FoT R3S Width USD VB BIN BB 3T FoF R esS’ Width USD
TGF32L050 ZP15
TGF32L080 ZP15
TGF32L100 ZP15
TGF32L110 ZP15
TGF32L120 ZP15
TGF32L125 ZP15
TGF32L130 ZP15
TGF32L140 ZP15
TGF32L150 ZP15
TGF32L160 ZP15
TGF32L170 ZP15
TGF32L180 ZP15
TGF32L190 ZP15
TGF32L200 ZP15
TGF32L210 ZP15
TGF32L220 ZP15
TGF32L230 ZP15
TGF32L250 ZP15
TGF32L260 ZP15
TGF32L270 ZP15
TGF32L280 ZP15
TGF32L290 ZP15
TGF32L300 ZP15

TGF32R050 ZP15
TGF32R080 ZP15
TGF32R100 ZP15
TGF32R110 ZP15
TGF32R120 ZP15
TGF32R125 ZP15
TGF32R130 ZP15
TGF32R140 ZP15
TGF32R150 ZP15
TGF32R160 ZP15
TGF32R170 ZP15
TGF32R180 ZP15
TGF32R190 ZP15
TGF32R200 ZP15
TGF32R210 ZP15
TGF32R220 ZP15
TGF32R230 ZP15
TGF32R250 ZP15
TGF32R260 ZP15
TGF32R270 ZP15
TGF32R280 ZP15
TGF32R290 ZP15
TGF32R300 ZP15

bl % Lt

O\OCD\IO\LDW!\)AOOCD\IO\W#@&I\)—\OWU'!
NN = Y =)

O\OCO\IO\(ﬂ(AJI\)—\O\OCO\IO\U'!b(AJEN—\OmU'\

-
WNRNRNNRNNNNNNN—E s

WNNNNNNPONNN = =S =

-k
QRS 03T’ Jfo2es* eriw 0.3-3.2mm
B3 3 333 DS 8¢ 0.8-4 mm

BRI BIR D2BWRD
B @I F b’ BB ITR’

@RS 0T S*uaw® wriw 0.3-3.2mm
B0 s 33T DB 8% 0.8-4 mm
BT BTD D2BBT
@3B b’ 83 3T

MRV NN RPN D DR N ESN
eNFoNI'< NI N N NYe NYe Yo NFoNFe ' NI’ Ni'e Ni'e N NYe NYe o NFe N NI NEe N

NINBINRND NN MR N RN R MBI NN NN N
[o Yo NY'e N N Nfe N Yo NYo Yo NY'e N’ N« Ni'e N N N NYe NYe Ni'e Ni'e N NIG N

KTGFR1010H16 - 6.9 KTGFL1010H16 ~ 6.9
KTGFR1212H16 - 6.9 KTGFL1212H16 - 6.9
KTGFR1616H16 - 6.9 KTGFL1616H16 - 6.9
KTGFR2020K16 - 6.9 KTGFL2020K16 - 6.9
KTGFR2525M16 - 9.0 KTGFL2525M16 - 9.0
KTGFL.
KTGFR1010H16F - 6.7 KTGFL1010H16F - 6.7
KTGFR1212H16F - 6.7 KTGFL1212H16F - 6.7
KTGFR1616H16F - 6.7 KTGFL1616H16F - 6.7
KTGFR2020K16F - 6.7 KTGFL2020K16F = 6.7
KTGFSL1010H16 - 6.9 KTGFSR1010H16 - 6.9
KTGFSL1212H16 5 6.9 KTGFSR1212H16 2 6.9
KTGFSL1616H16 > 6.9 KTGFSR1616H16 v 6.9
KTGFSL2020K16 - 6.9 KTGFSR2020K16 - 6.9
KTGFSL2525M16 - 9.3 KTGFSR2525M16 - 9.3

KTGFSL. .

KTGFSR. .

S. . —-KTGFL.

S16N-KTGFL16 - 9.3 S16N-KTGFR16 - 9.3
S20Q-KTGFL16 - 1.0 S20Q0-KTGFR16 - 1.0
S25R-KTGFL16 - 13.1 S25R-KTGFR16 - 13.1

S. . -KTGFR.

DeV’I WL’ ITR), BT DB BOBTIR BRIBIBT NI 3T .

e B0’ FeBe0d NI E° BoOT® 30N T 9T @ W,

http://www.mzg.tw
AT A I r ey eI ar e e rr et ar tIrr i arr i T rarr i ir1rrimrirl eva@mzatool.cn


http://www.mzg.tw

WD B°0°0BT* / AT IT* dAReO* N8RS on*® B33’ on*® et
External Cylindrical/a% @%0e0* Ri*8ez’on® Turning Tool

VB BRI BB FFo R3S Width USD VB BN BB FFo R3S Width USD
GER100-A ZP15 1.0 4.7
GER150-A ZP15 1.5 4.7
GBA43R250 ZP15 2.5 | 6.1 Aiedort Adart < 1 GEROK0AAH . o
GBA43R300 ZP15 3.0 | 6.1 e o - S
GBA43R350 ZP15 3.5 | 6.1 bl :
GBA43R400 ZP15 4.0 | 6.1 -
GBA43R450 ZP15 45 | 6.1 ool G U .9
T3S ort* J{eew*
QIS 0830 FFw2e3® i 1.0-4.8mm GER1 OO_B ZP15 1. 0 4.7
B3 3B BT RS ¥ 2.0-5.0 mm GER150-B ZP15 1.5 4.7
B IR D BRI B PBRBD GER200-B ZP15 2.0 4.7
OB B BT ot 83 BT GER250-B ZP15 2.5 4.7
GER300-B ZP15 3.0 4.7
CGBR. . ot ddorf
CGBR1616H43 - 9.3 ] SIGER1010B—EH - 9
CGBR2020K43 - 13.1 SIGER1210B—EH - 9
CGBR2525M43 - 16. 4 "ot eureo”
ses<rorte w4781 GER1010B—EHT - 9
S1GER1210B—EHT - 9
GER100-C ZP15 1.0 4.7
_ GER150-C ZP15 1.5 4.7
T - 128 GER200-C ZP15 20 | 47
' GER250-C ZP15 2.5 4.7
redoR,sdor GER300-C ZP15 3.0 4.7
GER350-C ZP15 3.5 4.7
_ SIGER1412C—EH - 9
SaBR2020K43 s & S1GER16160-EH - 3
- Fy RBSTori® Beerew”
SGBR25251M43 7.0 SIGER. .  m@“Tori*x]ueg] GER1412C—EH - 11.9
SGBSL. . GER100-D ZP15 1.0 | 5.1
oo || o EEE
SGBSL2525M43 - 14. Reor,adarT GER250-D ZP15 2.5 | 5.1
GER300-D ZP15 3.0 | 5.1
GER400-D ZP15 4.0 | 5.1
S1GER2020D~EH - 14.3
S1GER2525D—EH - 16.7
SIGER. JBSon* J{e’er*
GBA43L250 ZP15 2.5 | 6.1
GBA43L300 ZP15 3.0 | 6.1
GBA43L350 ZP15 3.5 | 6.1
GBA43L400 ZP15 4.0 | 6.1
GBA43L450 ZP15 4.5 | 6.1 7GR100 ZP15 1.0 | 2.6
PN 7GR150 ZP15 1.5 | 2.6
‘c \‘ 7GR200 ZP15 2.0 | 2.6
- SNGRO8JO7 - |86
Q3¢S 0638’ FFw2e3* wriw 1.0-4.8mm #. ASNSRJOK?J - 8.6
0b*G B3BF 3 ¥ 2.0-5.0 mm | BB Fonewieeos
BB ORTD BT DOBWRD - SNGR10K07 - 9.6
<3 P 83 BT
CGBL. .
M =0dwe” G e @ ori
CGBL1616H43 A 9.3
CGBL2020K43 - 13.1
CGBL2525M43 - 16. 4
8GR200 ZP15 2.0 | 2.9
GGBSR. 8GR300 ZP15 3.0 | 2.9
4 CGBSR2020K43 ! 12.4 rizdortdcdorf ) SNGR10K08 - |86
CGBSR2525M43 - 19.0 SNGR12MO8 - 9.0
TS ort* Joerew*
SNGR10K08 - 11.9
SGBL. .
SGBL1616H43 - 6.7 o sepons R
] SGBL2020K43 - 6.7 N
SGBL2525M43 - 9.0 ;u“
iAot e & ord 9GR100 ZP15 1.0 | 3.0
P 9GR200 ZP15 2.0 | 3.0
SGBSR. . J. L 9GR250 ZP15 2.5 | 3.0
SGBSR2020K43 - 0.7 * 9GRI00 ZP15 30 3.0
SGBSR2525M43 - 14.3 SNGR12MO9 - 90
SNGR16Q09 - 11.0
SNGR SNGR20R09 - 13.1

De’I W’ ITD, 3T D3R DOFBIIR BRI NI 3IT.
WeIBute’ d e ead VOt R BT 3893 T 9B RIT O’ http://www.mzg.tw
T I T At rar t eI i arir i raric rrararararararirar i arir i1 riririrT eva@mzatoo!l cn



http://www.mzg.tw

N0 I on* / Be3%-853° 303 on® Lapeo*

Grooving/Cut-Off Turning Tool

B BT BB BT oIS Width B BIR BB BT T I TR LS’ Width USD
TBBRDT B w’n DID N’ a3 MGMN150 CBN1 1.5 6.9
BT DT S0 MGMN200 CBN1 2.0 | 6.9 MRMN200-G ZP30 RILO | 1.6
= MGNMN250 CBN1 2.5 | 6.9 MRMN200-M ZP30 R1.0 | 1.6
MGMN300 GBN1 3.0 | 6.9 MRMN300-M ZP30 R1.5 | 1.6
MGMN400 CBN1 4.0 | 6.9 - -M MRMN400-M ZP30 R2.0 | 2.0
MGMN500 CBN1 5.0 6.9 riadoridgemrria daidd
<, 5 <, 3 < Jpem EL et wl
SemmeEmereel g | NGHN150 PCD1 1.5 | 6.9 SRR AF A e
MGMN200 PCD1 2.0 6.9 R ab oSBT B B 200 a3
MGMN250 PCD1 2.5 | 6.9 ]
MGMN300 PGD1 3.0 | 6.9 MRMN40O CBN1 R2.0 | 6.9
MGMN400 PCD1 4.0 | 6.9
g B
ﬂ‘ || MGGN300 ZP15 3.0 1 1.6 MGEHR1010-1. 5 1.5 | 9.0
?\I/ MGGN400 ZP15 4.0 1.7 MGEHR1010-2 20 | 90
B N MGEHR1212-1.5 1.5 | 9.0
nadoryeonds  W'80n MGEHR1212-2 2.0 | 9.0
Y MGEHR1212-3 3.0 | 9.0
( || MGGN200-Q ZP15 2.0 1.7 MGEHR1616-1.5 1.5 6.7
g " W | MeeN300-Q ZP15 3.0 1.7 MGEHR1616-2 20 | 6.7
8° Taper MGEHR1616-2. 5 2.5 6.7
Befugondn  © MGEHR1616-3 3.0 6.7
) S MGEHR1616-4 4.0 | 6.7
( || MGGN200 ZKOt 2.0 1.7 MGEHR2020-1. 5 1.5 6.7
' \ /| MGGN300 ZKO1 3.0 1.9 MGEHR2020-2 2.0 6.7
Cnppmmmh | MGGN400 ZKOT 40 | 23 MGEHR2020-2. 5 25 | 6.7
Medoniagonen | oReEdn MGEHR2020-3 3.0 | 6.7
MGEHR2020-4 4.0 6.7
MGGN150 ZP30 1.5 1.7 MGEHR2020-5 5.0 6.7
/*\ MGGN200 ZP30 2.0 1.7 MGEHR2020-6 6.0 8.3
‘c \‘ MGGN250 ZP30 2.5 1.7 MGEHR2525-1. 5 1.5 9.0
\\ /J MGGN300 ZP30 3.0 1.7 MGEHR2525-2 2.0 9.0
MGGN400 ZP30 4.0 2.0 MGEHR2525-2. 5 2.5 9.0
e dor i egemsn  ogson MGGN500 ZP30 5.0 237 MGEHR2525-3 3.0 9.0
MGGN150R-8 ZP30 1.5 | 1.7 R e O
— MGGN200R-8 ZP30 2.0 1.7 A -
" MGEHR2525-6 6.0 | 10.7
‘; /| MGGN250R-8 ZP30 2.5 1.9 e 20 b
J /| MGGN30OR-8 ZP30 3.0 | 2.0 e 50 e
8° Taper | MGGN4OOR-8 ZP30 4.0 | 2.4 . : :
MGGNS00R-8 ZP30 50 | 31 . MGEHR3232-4 4.0 | K1
derugondn 30 . - 0’08093 903 r*8wd’ ot / 3e3¥-88* MGEHR3232-5 50 16. 4
MGEHR3232-6 6.0 17.9
o~ e ol "B Porte ot MGEHR1010-1. 5T12 1.5 | 10.7
S MeeN250L-8 ZP30 55 19 MGEHR1010-2T12 2.0 10.7
- ' : MGEHR1212-1. 5T12 1.5 | 9.6
MGGN300L—8 ZP30 3.0 | 2.0
8° Taper MM | MGGNAOOL-8 ZP30 20 | 24 MGEHR1212-2T12 20 | 9.6
. : : MGEHR1616-1. 5T13 1.5 | 9.0
it MGEHR1616-2T16 20 | 9.0
MGEHR1616-2. 5T18 2.5 | 9.0
MGMN150-G ZKO1 1.5 1.7 MGEHR1616-3T12 3.0 9.0
MGMN200-G ZKO1 2.0 | 1.7 MGEHR1616-3T720 3.0 | 9.0
MGMN200-M ZKO1 2.0 1.7 MGEHR1616-4T20 4.0 9.0
G MGMN300-M ZKO1 3.0 1.7 MGEHR2020-1. 5T13 1.5 9.6
. MGMN400-M ZKO1 4.0 | 2.0 MGEHR2020-2T16 2.0 | 9.6
Copper or Alurminum MGEHR2020-3T20 3.0 | 9.6
OOooc s s -uF ozoe |CICIOI0T
MGEHR2020-4T20 4.0 | 9.6
: s e o o) oo b MGEHR2525-3T20 3.0 11.0
MGMN200-G ZN60 2.0 14 J0°0BT 23933 N*Cea’ont*/ Bwc-ay MGEHR2525-4T20 4.0 1.0
MGMN300-M ZN60 3.0 1.7
MGMN400-M ZN60 4.0 2.0 MGEHL1010-1.5 1.5 | 9.0
MGMN500-M ZN60 5.0 2.7 MGEHL1010-2 20 | 9.0
BIPIRIRPAE T o g MGEHL1212-1.5 1.5 9.0
e 2drnnw) a3 Sus*ZaabIIR Bl MGEHL1 212_2 2.0 9 0
MGMN200-T ZP30 2.0 1.6 MGEHL1616-1. 5 1.5 6.7
MGMN300-T ZP30 3.0 1.6 MGEHL1616-2 2.0 6.7
MGMN400-T ZP30 4.0 2.0 MGEHL1616-2. 5 2.5 6.7
MGEHL1616-3 3.0 | 6.7
_HSta\nless SteeI_T MGMN300-H ZP30 3.0 1.6 MGEHL1616-4 4.0 6.7
oooc T Jhe ew sgen]OO00) MGEHL2020-1. 5 1.5 | 6.7
. MGEHL2020-2 20 | 6.7
MGMN200-G ZP20 2.0 1.6 MGEHL2020-2. 5 2.5 | 6.7
MGMN250-G ZP20 2.5 1.6 MGEHL2020-3 3.0 6.7
MGMN250-M ZP20 2.5 1.6 MGEHL2020-4 4.0 6.7
MGMN300-M ZP20 3.0 1.6 MGEHL2020-5 5.0 6.7
g dor MGMN400-M ZP20 4.0 2.0 MGEHL2525-2 2.0 9.0
s xa® o S2ds MGEHL2525-2. 5 2.5 9.0
MGMN150-G ZP30 1.5 | 1.6 e 3.0 ) 9.0
MGMN200-M ZP30 2.0 | 1.6 N 4.0 199
MGNMN200-G ZP30 20 | 1.6 WGENL252670 5.0 o2
MGMN250-M ZP30 2.5 | 1.6 ALz zo=0 6.0 10.7
MGMN250-G ZP30 2.5 | 1.6 M2 Lyt 3.0 ) 164
o . MGMN300-M ZP30 3.0 | 1.6 e 4.0 ) 16.4
G M MGEHL3232-5 5.0 16.4
R MGMN400-M ZP30 4.0 | 2.0 MGEHL3739—0 e i
E— MGMN500-M ZP30 5.0 2.7 & 0’080 28908 n*Cea’on* / 3ut-ua : :

%R L’ ITD), BT’ DB DU BII R FRIRBF SIS
FeRVBOT® TeBeadh BVORE® BHOT L TIRRIB B W, htp://www.mzg.tw
T I I I O e O e O e Crrr eva@mzatool on


http://www.mzg.tw

End Face/lnner Hole R*Cnad®on® 383 on® tdpe®
End Face/w¥ @wew® nfdwes’on® Turning Tool

VI3 BIR B 3ITIE IO B3’ Width USD NI TIS B 3°ITIE o B33’ Width USD
MGIVR2016-1. 5 1.5 9.3
MGIVR2016-2 2.0 9.3
MGHH320R-35/48 3.0 19.0 MGIVR2016-2. 5 2.5 9.3
MGHH320R-48/66 3.0 19.0 MGI1VR2016-3 3.0 9.3
MGHH320R-64/100 3.0 | 19.0 MGIVR2520-1.5 1.5 11.0
MGHH320R-98/160 3.0 19.0 MG1VR2520-2 2.0 11.0
MGHH320R-160/400 3.0 19.0 MGI1VR2520-2. 5 2.5 11.0
MGHH325R-35/48 3.0 | 28.6 MGIVR2520-3 3.0 11.0
MGHH325R-48/60 3.0 | 28.6 MGIVR2520-4 4.0 11.0
MGHH325R-60/75 3.0 28.6 MGIVR3125-1.5 1.5 13.1
MGHH325R-64/100 3.0 | 28.6 MGIVR2925-2 2.0 13.1
MGHH325R-100/140 3.0 | 28.6 MGIVR3125-3 3.0 13.1
MGHH325R-160/400 3.0 28.6 MGI1VR3125-4 4.0 13.1
MGHH325R-200/800 3.0 | 28.6 MGIVR3125-5 5.0 13.1
MGHH420R-48/60 4.0 19.0 MGIVR3732-3 3.0 26. 1
MGHH420R-60/75 4.0 19.0 MGI1VR3732-4 4.0 26.1
MGHH420R-64/100 4.0 19.0 MGIVR3732-5 5.0 26.1
MGHH420R-98/160 4.0 19.0 o 8ze MGIVR3732-6 6.0 26.1
MGHH420R-160/400 4.0 |19.0 2% Boer HGRT oS
MGHH425R-48/66 4.0 28.6
MGHH425R-64/100 4.0 | 28.6 oo orts GRS
MGHH425R-100/140 4.0 |28.6 GETenTEEe
MGHH425R-160/400 4.0 28.6
MGHH425R-200/800 4.0 | 28.6
38893938 abo3*3
D0 FeBote’ fdea’ortt MG IVR2520-3T8 3.0 15. 4
T T ori* Srewew* MGIVR2520-4T8 4.0 15.4
MGHH320R13-30/50 3.0 21.9
MGHH320R15-50/80 3.0 21.9
MGHH320R17-80/160 3.0 21.9
e MGHH320R18-160/400 3.0 21.9
X MGHH325R18-160/400 | 3.0 | 23.9 B ort* e
‘ MGHH420R15-30/50 4.0 21.9 0¥ Be0 18pTon*
MGHH420R18-50/80 4.0 21.9
_ MGHH420R20-80/160 4.0 | 21.9 MGIVL2016-1.5 1.5 1 9.3
MGHH425R15-30/50 4.0 | 23.9 MGIVL2016-2 20 193
MGHH425R18-50/80 4.0 | 23.9 MGIVL2016-2. 5 2.5 1 9.3
MGHH425R20-80/160 4.0 | 23.9 MGI1VL2016-3 3.0 1 9.3
MGHH425R20-160-400 | 4.0 | 23.9 MGIVL2316-3 3.0 | 9.3
3,3°398203 o33 MGIVL2520-1.5 1.5 11.0
€ % 36330160 RER A € MG'VL2520_2 2 O 11 O
BBST o Ferews MGI1VL2520-2. 5 2.5 11.0
MGIVL2520-3 3.0 11.0
MGIVL2520-4 4.0 11.0
MGIVL2925-2 2.0 13.1
MGIVL3125-3 3.0 13.1
MFH216R08-20/140 2.0 16.7 MGIVL3125-4 4.0 13.1
MFH320R10-25/140 3.0 21.4 MGIVL3125-5 5.0 13.1
MFH325R10-25/140 3.0 24.6 o e e MGIVL3732-3 3.0 26.1
MFH420R12-25/140 4.0 | 21.4 DFFort o MG1VL3732-4 4.0 | 261
MFH425R08-25/140 4.0 24. 6 w¥ Bev *ded’ort* MGIVL3732-5 5.0 26.1
MFH425R10-25/140 4.0 24. 6
3,3398203 o33
203* FegIefey’ R*dea’ort®
MGEVR1616-2 2.0 8.6
MGEVR1616-2. 5 2.5 8.6
MGEVR1616-3 3.0 8.6
MGEVR1616-4 4.0 8.6
MGEVR2020-2 2.0 8.6
MGEVR2020-2. 5 2.5 8.6
MGEVR2020-3 3.0 8.6
MGEVR2020-4 4.0 8.6
MGEVR2525-3 3.0 1.0
& ¢*0B028908 r*deaor®
MGEVL1616-2 2.0 8.6
MGEVL1616-2. 5 2.5 8.6
MGEVL1616-3 3.0 8.6
MGEVL1616-4 4.0 8.6
MGEVL2020-2 2.0 8.6
MGEVL2020-2. 5 2.5 8.6
MGEVL2020-3 3.0 8.6
MGEVL2020-4 4.0 8.6
MGEVL2525-3 3.0 11.0
08028 IT8T A*de on<

eI WL’ IBD, BT D3R DUTBTIIR BRI NI 3T’
eI vBOt’ BeTead VAT *E’ BoTT B3I T 9B @I WL http://www.mzg.tw
[T I T e Irr eI i Iar e rirarrr i arr i rirarrir 1 rririrT eva@mzatool.cn



http://www.mzg.tw

VAN 3T ot et

CNC Turning Tool

B BIR B°3ITTE Size BTBII F°BITES  Size NB*FBII F°BITTS  Size uUsD

1010E 5.4 1010 6.7
1212F 5.3 1212 6.7
1616H 5.4 1616 6.7
2020K 6.0 2020 6.7
2525M 8.3 2525 9.0
3232P 14.7 KTGFRI/L.. |
S &0 0B098903 udFort wevs o fh A4048Rw | 21.9 ZQ.. DOOOOODOOO0 000-000 OpoOoooooooo 000000000 opooooon oooo
1616H 6.7 SPB226 11.9 KTGFRIL.. 1010 1.9
2020K 6.7 SP.. SPB326] 11.9 €3%,@° *0ec’on® 80 ort® twe 1212 11.9
2525M 8.6 \ SPB426 11.9 1616 1.9
3232p | 14.7 - SPB232 14.3 - 2020 | 131
4040R 29.0 SPB332 14.3 - 2525 15.4
SPB432 14.3
M &°¢? 08028208 0 ort* teu oRfb wi@* an’ SPB.. OOODODOOOOOPO 000 00000000000  I8°Ton* 8 wef
1616H | 6.7 SLTBN.. 1616 | 22.6 1010 7.1
2020K 6.7 ’ 2020 22.6 1212 7.1
2525M | 8.6 [ 2525 | 22.6 1616 7.1
I 3232P 16.4 - 3232 29.7 2020 7.1
4040R 32.4 2525 9.3
KTGFSRIL..
W & 033898903 80" 0n* 8e0* oFm 43¢ S’ Ooo0ooooooooooopooooon 00oo
1616H 9.3 MGEHRI/L.. jDDED]DD[D[ﬂ)ﬂI{E opcr. 1 1616 6.7
2020K 9.3 I*BRa’ont 8o ort* 1212 7.1 2020 6.7
B 2525m | 11.0 1616 6.4 N P 2525 8.9
gl 3232P 14. 6 2020 6.4
4040R 36.0 MGMN.. 2525 8.9
3232 16.4 SGBRIL..
D &¢’0B028903 30T ort* epo® o T 673 o’ Y
S £,3° ARR0 Breo* v ahoF Lpe* S06K 5.4 MGEHR/L.. JOO0OOO0OOO0 1000 O[09. 6 1616 9.0
SO07K 4.6 [M*Cpa’or* uo S ori weue 1212 9.6 2020 9.0
| SO8K 4.6 1616 8.9 ‘ 2525 1.9
=5  S10K 4.6 MGMN... 2020 9.6
S12M 5.0 2525 1.0
S14N 5.4 St oribt SGBSRI/L..
$16Q 5.7 S ,3° 0 ort® 38R ori e
$18Q 6.4 1616 8.6
SR | 64 2020 | 86 I I
$258 9.7 2525 | 11.0 i
$32T 14. 6 2525 16.4
S40U | 25.4 MG 3232 21.9
MGEVRIL.. CGBRIL..
0000000000000 0J000000 0000 &,8° 1*8ed’on* 88 on® epe)
§ 1,5 RS Bt et S07 5.4 BB F o< B 16 9.3 1616 | 11.9
. S08 5.4 20 11.0 2020 14.3
S10 5.4 25 13.1 2525 17.9
S12 6.9 32 25.7
S16 8.6 4% ; m954. 3
$20 9.7 RRENEe G B CGBSRIL..
SeBSFort® Feews Q”@L;’;’E;;LVSE;;;i';";i 20 15.4 8% RBREP o 5TRForts o0
H o5 s Rio* @acot veaes cows| S0 14. 6 CGWSRI/L.. DEDHDDEDDDB 0om. 6 QE.R/L.. DOOO0000O0CO OAI6ACD 9.3
S07 14. 6 I Bee or* 33 ort* 2020K 10.7 I 0R ort 3857 ont* e 2020 | 11.0
S08 14.6 2525M | 12.6
$10 16.4 3232P 20.0
S12 18.1 Zr.
S14 20.0
S16 21.7
S18 34.6 1616 10.3 DGTRL.. 0000000000 00g-00t616 | 15.3
S20 43. 6 2020 10.3 In*8eaont® ugix’ont aae* 2020 16.9
S25 65.0 GY2M.. 2525 11.9 P 2525 | 20.4
DGN.
High Speed Steel %ng?g;{;ﬁ?ﬁ%ig;%{?ogmj CoEHooe :
C @ aR*R0* Boco* viavea wevs|  CO4G 19.0 KGMR/L.. 0000000000 D00 0dn10. 3 FGHH..R/L. . 1616 28.6
C05G 19.0 I BRa’ o B30 on* upe® 1212 10.3 X 2020 28.6
C06J 19.0 £ 1616 9.3 2525 32.4
CO7K 19.0 2020 11.0
C08K 22.6 GMN.. | 2525 12.9 FMN.. o Hrea
C10K | 26.1 GMG.. 3232 20.0 T vomrm FaCe | ey
C12M 33.3 negegon @ra’son
C14N | 52.4 TTER/L.. 0000000000 Oooi@op 10. 3 N 1616 | 35.7
c1eQ | 69.0 IR*8Ra ort* 307 1212 | 10.3 2020 | 38.1
c18Q | 81.0 1616 9.3 2525 | 42.9
C20R | 95.3 2020 | 11.0
€258 204.7 2525 12.9
wavous gagsryse | CO41 | 4924 3232 | 20.0
TTIR/L.. TypeInnerHale 16 14.3 1616 23.9
rtaacort* gt 20 16.7 2020 | 21.9
25 19.0 e 2525 23.9
MGMN..
’ ©o@<ab FaCe
S..M.. &3¢ aR°I0* BRev® 0o 2T’ epw® J~F~odn~ a‘gﬂsgrs)‘ SN .

e’ WL’ IV, BT DB DO BTI R BRIDIB° NI BT’.
e note’ Jeead VAT R BouTT B3I T 9B @ WO, http://www.mzg.tw
AT T I I e eIy e arar i araryary tIirarar i arr i raririr i1 riririrl eva@mzatool.cn


http://www.mzg.tw

m AT’ L3O 3NN 383 o
D AR’ 30 I on*t et Parts

BTSN B°BCITTE Size uUsbD B TIS B BCITRE Size usbD
MC0903 0.M-00000000 s HL1810 0.4
MC1204 0.6 HL1814 0.4
MC1604 1.1 HL1917 0.4
MC1904 1.6 i HL2114 0.4
_ w227 | 04
HL2217%5 | 1.0
Cran= HL2414 0.4
: MD1103 ML520 0.3
MD1504 ML620 0.3
MD1506 ML625 0.3
ML630 0.3
ML830 0.8
O
MS0903 0.\-00000000C s WT16 0.4
MS1204 0.6 Wwwos 0.4
MS1504 1.1
MS1904 1.6
S—a,F ama |
MT1603 0. y-0000 Ot WC0525E 0.4
MT1604 1.1 WC0625E 0.4
<« WT2204 | 1 1
T-Uo Lo pd
MV1603 0. 6-00000C DC12 1.0
DD15 1.0
DT16 1.0
DV16 1.0
DWO8 1.0
MWO603 0. 4o-0000 DooooO0 000000 | DL525 0.7
MW0804 0.6 . DL625 0.7
W™ T T  Tama
STM16R 0.3 DDC12 0.5
- STM16L 0.3 DDD15 0.5
STM22R 1.0 DDT16 0.5
STM22L 1.0 DDV16 0.5
DDWO8 0.5
STM-O OO0 0000 OOod D-0000 0000 0000 Screw
CTM510 0.2 3,8 @S IV B3 Bwes B ot . 5 0.2
CTM513 0.2 L2.0 0.2
CTM613 0.2 L2.5 0.2
CTM617 0.2 L3.0 0.2
CTM619 0.2 L4.0 0.2
CTM515-T 0.2 L5.0 0.3
CTM618-W 0.2
CTM0822 0.3 T-08° @ R0° @ 8wes S sopdt1. & 1.0
CTM0822725| 0.7 S G - Y 10
CTM1022 0.3 TL2.5 1.0
CTM1022":5| 0.7 TL3.0 1.0
_ TL4.0 1.0
T/W TL5.0 1.0
03T BT BT e
M2. 0X5 0.1 BE RBESARFRS RS 031 T 0.2
M2. 2X5 0.1 T7 0.2
M2. 5X5 0.1 - 8 0.2
M2. 5X6 0.1 T10 0.2
M2. 5X8 0.1 T15 0.2
M3. 0X8 0.1 T20 0.2
M3. 5X10 0.1
M3.5X12 | 0.1 BSoar-88203 sfom* 35T o] T6 0.8
M4. 0X8 0.1 17 0.8
M4. 0X10 0.1 T8 0.8
M4. 5X12 0.1 T10 0.8
M5. 0X10 0.1 T15 0.8
M5. 0X12 0.1 120 0.8
3°-8Pe00w 3T’ BV ST 0w* TT6 1.0
17 1.0
T8 1.0
TT10 1.0
TT15 1.0
TT20 1.0
BFORDT WFVITBDT LBROT IBTN

De’F WL’ IVD), BT DB DO*BBTID BRTBIBB DB IE.
FeSedote’ Fedeadh aaRE° BT e33R IBTIRTT . http://www.mzg.tw
OO I e e, 00000 a0 a1 eva@mezatool.en



http://www.mzg.tw

Machine-Clamped Right-Angle Milling Cutter

Machine-Clamped Right-Angle Milling Cutter

396‘693.6&33, ©98* LR3* 3,3° Tu* sonv® 0B B’utL’on® Burwd® BT BT’ RO BLE Ty3° sonv*® aod* B’Uw’on® BuwsT eu B R BT
Locking Tooth Type Right-Angle End Milling Cutter Discarded Right-Angle End Milling Cutter Toolholder
APKT113502 02 | 69 D} 7 o b ¢
APKT113504 CBN1 0.4 6.9 ‘ T !
APKT113508 CBN1 0.8 6.9 PO RS ey
dxDxL usp
Q BAP300R C10-10-120-1T 3.3
APKT160402 CBN1 0.2 6.9 BAP300R C10-11-120-1T 3.3
APKT160404 CBN1 0.4 6.9 IS BAP300R C12-12-130-1T 3.3
APKT160408 CBN1 0.8 6.9 DxTxM gﬁggggg g}i-}i-}gg-;; i-g
NI - , BAP3-11-1T-M5 23.9 Wy '
08 eb t mmetes bt Faberas BAP300R C14-14-150-2T 4.6
R 053 BAPOOR C15-15-150-2T 4.6
APKT113502 PCD1 0.2 6.9 : BAP300R C15-15-200-2T 5.4
APKT113504 PCD1 0.4 | 6.9  BAP3-16-2T-M8 28.6 BAP30OR C15-16-150-2T 4.6
Bwommmpane 8 APKT113508 PCDT 0.8 | 69  BASTII2THE 25-8 BAPSOOR C15-16-200-2T 5.4
BAPI_ 215110 515 BAP30OR C15.6-16-150-2T | 4.6
o BAPI_98-3T M1 549 BAP30OR C15.6-16-200-2T | 5.4
; BAPS oo T 5.5 BAP30OR C16-16-120-2T 4.6
A APKT160402 PCD1 0.2 6.9 o. BAP300R C16-16-150-2T 4.6
APKT160404 PCD1 0.4 | 6.9  BAP3-26-2T-WM12 333 BAP30OR C16-16-200-2T 5.4
APKT160408 PCDT 0.8 | 69 [NEEaEuliaHE 333 BAP3OOR G16-16-250-2T 9.6
BRT* R NF TS BAP3-26-4T-M12 35.7 BAP300R C16-17-120-2T 4.6
Copper and Aluminum BAP4-25-2T-M12 33.3 BAP300R C16-17-1 50_21’ 4- 6
BAP4-26-2T-M12 33.3 17 90— ’
BAP4-30-2T-W16 38 1 BAP300R C16—-17-200-2T 5.4
APKT1135PDER-AL ZKO1 | 0.8 1.4 _30-37- ' BAP30OR G16-17-250-2T 9.6
BAP4-30-3T-M16 40. 4 _12-150—
BAPA—S9-3T M1 %9  BAP30OR C16-18-150-2T 5.4
APKT1604PDER-G2 ZKO1 | 0.8 1.9 BAPA-32-3T-M16 40 4  BAPSOOR C16-18-200-2T 6.1
DEIHRRIRE 0N : BAP300R C19-20-150-2T 5.4
Conperans ai@nium BAP4-35-3T-M16 429 BAP300R C19-20-200-2T 6.1
W’ od Ferew® Tyu® vone® BAP300R C20-20-120-2T 5.4
; 6 Eng Miling CR?;‘fiiAng\e BAP300R C20-20-150-2T 5.4
End Milling Cutter BAP300R C20-20-200-2T 6.1
_ APKT1604-AL ZKO1 0.2 1.9 BAP300R C20-20-250-2T 9 6
BAP300R C20-21-120-2T 5.4
Bearria B3 BAP300R C20-21-150-2T 5.4
(npnerndAlmionm BAP300R C20-21-200-2T 6.1
A BAP300R C20-21-250-2T 9.6
APMT1604-TG ZN60 0.8 1.9 BAP300R (24-25-250-3T 14: 3
S osarwdmbdEd rer < Boeeof BAP300R (C24-25-300-3T 20.4
2rn) eud sdaada BAP300R (25-25-150-3T 10.3
BAP300R ($25-25-200-3T 1.9
RfeNag- A BAP300R (C25-25-250-3T 14.3
APMT1135PDER-M2 ZP25 | 0.8 1.1 DxdxT BAP300R (€25-25-300-3T 20. 4
BAP300R 40-22-4T 11.9 BAP300R (C25-25-150-2T 7.4
APMT1604PDER-M2 ZP25 | 0.8 1.9 BAP30OR 50-22-4T 153 BAP300R C25-25-200-2T 8.9
o . BAP300R 63-22-6T 20.4 BAP300R (25-25-250-2T 1.9
Sipdndvmdidos, 0 BAP400R 40-22-3T 10.3  BAP300R C25-25-300-2T 19.0
BAP400R 50-22-4T 10. 3
APMT1135PDER-H2 ZP25 | 0.8 1.1 BAP400R 63-22-4T 11.9 BAP400R C24-25-150-2T 7.9
BAP400R 80-27-6T 20.4 BAP400R (24-25-200-2T 9.6
APMT1604PDER-H2 ZP25 | 0.8 1.9 BAP400R 100-32-6T 32.4 BAP400R (24-25-250-2T 11.9
BAP400R 125-40-7T 51.0 BAP400R (24-25-300-2T 19.0
M edium Raugh Machining BAP400R 160-40-8T 61.1 BAP400R €25-25-150-2T 7.9
P oon 2o 1oL 177 BAPOOR Ga5252502T | 119
= BAP400R 250-40-12T 187.1 —Z297 20U~ .
: ” o APNT1135PDER-XM ZP25 | 0.8 | 1.1 FEZ00R 25072071ar 2% 1 BAPAOOR C2525-30021 | 19,0
_ BAP400R 50-25. 4-4T 1.9 —20-150— .
— APMTT604PDER-XM ZP25 | 0.6 1 1.9 BrpgGOR 63-25, 4-4T 153  BAPOOR €25-26-200-2T | 9.6
e — BAP400R 80-25. 4-6T 23.9  BAP400R (25-26-250-2T 11.9
e — BAP400R 100-31. 75-6T 35.7 gﬁgjggg g%g-%g—?gg-%% 13-2
P, APMT1135PDER ZM90 0.8 2.0 AALL'B;:;'“:‘MW“"":W;"Zm‘l“":‘:’y;“’:"”‘i"‘“d‘ BAP400R C25-30-200-2T 1.9
-| uminum Right-Angle En illing Cutter
BAP40OR C25-30-250-2T 16.9
APMT1604PDER ZM90 0.8 2.7 BAP40OR (25-30-300-2T 20. 4
BAP400R (€32-32-150-3T 13.6
&, edeg 0m,0nr HRCB2° 1 BAP400R €32-32-200-3T 15.3
) BAP400R (€32-32-250-3T 18.9
; . - APMT1135PDER ZP20 0.8 1.6 BAP400R (€32-32-300-3T 23.9
- . ] BAP400R (32-32-350-3T 27.1
" S APMT1604PDER ZP20 0.8 2.3 BAP400R (€32-32-400-3T 35.7
| ————
B BAP400R (C32-35-150-3T 13.6
000" ooty Aelt i e D BAP400R ($32-35-200-3T 15.3
- > BAP400R (32-35-250-3T 19.7
IO A M A L]
BAP400R (€32-35-300-3T 23.9
APMT1135PDER ZP30 0.8 1.6 Dxd X BAP400R C32-35-350-3T 271
AL-BAP400R 50-22-4T 16.9 " BAP40OR C32-35-400-3T 35.7
APMT1604PDER ZP30 0.8 2.3 AL-BAP400R 63-22-4T 22.1 BAP400R C32-40-150-3T 15.3
S ol AL-BAP400R 80-22-6T 30.7 BAP400R ©32-40-200-3T 17. 6
-~ AL-BAP400R 100-22-6T 54.6 BAP40OR C32-40-250-3T 22.1
q APMT1135PDER ZP60 0.8 1.4 AL-BAP400R 125-27-7T 85.0 BAP400R C32-40-300-3T 25. 4
LY AL-BAP400R 160-27-8T 95.3 BAP40OR C32-40-350-3T 30.7
- APMT1604PDER ZP60 0.8 1.7 AL-BAP400R 200-27-10T 204.0 BAP400R C32-40-400-3T 39.0
AL-BAP400R 250-32-12T 272.1 BAP400R C32-50-150-4T 221
[ — e AL-BAP400R 300-32-14T 340.3 BAP400R (C32-50-200-4T 27.1
DR WL’ IV, BT D3R DO*ITI*R BRI NI*3T.
Wednote’ Jeead VAR’ BouTT B3I 9B @ W, http://www.mzg.tw

1O O00000000000d0 oo n, oo OO OO eva@mzgtool.cn


http://www.mzg.tw

Machine-Clamped Round Nose Milling Cutter

Machine-Clamped Round Nose Milling Cutter

03¢ B¢ T8¢ Feed 208 B or BuEsd 8D U8 D 5 F0T FpeR 20T i 80 uee*a;

3-6'_’ -G‘_\s 98-62364_..6 396-6693-65‘3 Locking Tooth Type Round Nose End Milling Cutter Discarded Round Nose End Milling Cutter Toolholder
b u} - ...__._.__._Id
RDMW1204MOT—PM ZP30 | Ré 1.7 ZHL |
o Fo TR LS e’
RDMW1605MOT—PM ZP30 | RS 2.4 N S
ittt s el EMR C10-4R10-120~1T 3.3
= EMR C12-4R12-130-1T 3.3
ﬁ- oM
vy RPGT1003-AL ZKO1 R5 1.9 EMR C16-4R16-200-2T 6.1
oM
- 9 72679 =36, o 2°e)° _ I - )
AN\ e ol EiR Cio-ara0-160-T 61
P ENRR4—17—2T-¥p o NEEE = s =l ¢
RPMI1003MO0 ZN60 R5 1.6 EMRR4-20-2T-M10 31.0  EMR C20-4R20-250-2T 11.9
RPMI1003 ZN60Owen crarerng| -~ RS 1.3 EMRR4-21-2T-M10 31.0  EMR C20-4R21-150-2T 6.1
v RPMT1204MO0 ZN60 R6 1.9 EMRR4-25-2T-M12 33.3 Ems g%g—gg%é—%gg—%; 2 ‘1)
OR300 DI 33 Berew] EMRR4-26-2T-M12 33.3 = -150- .
-~ amsoeoTino o0 SRGONCROR | Y
RPMTO8T2-JS ZP25 R4 1.1 Emsgg_%_g_mg 2; g EVR C20-SR20-250-21 -
~2=21 ) EMR C20-5R21-200-2T 7.4
RPNT10T3-JS ZP25 RS 1.4 EMRR5-26-2T-M12 33.3  EMR C20-5R21-250-2T 11.9
EMRR5-30-2T-M16 38.1  EMR C20-5R25-150-2T 7.9
e EMRWR5-30-3T-M12 40. 4 ~5R25-250~ :
EMRWR5-32-3T-M16 40.4  EWR GZ0-SRSO-110°21 e
: RPMT1204M0 ZM90 R6 2.0 ENRWRS—35-3TH16 427 EMR 024-5R25-200-2T 9.6
7 ' ENRE - 333 EMR C24-5R25-250-2T 13.6
EMRWR6-26-2T-M12 33.3 EMR (24-5R25-300-2T 19.0
o i vade HRC 62 ° EMRWR6-30-2T-M16 38.1  EMR C25-5R25-150-2T 7.9
: EMRWR6-32-2T-M16 38.1  EMR C25-5R25-200-2T 9.6
EMRWR6-35-3T-M16 42.9  EMR C25-5R25-250-2T 13.6
EMR C25-5R25-300-2T 19.0
RPMT1204M0 ZP30 R6 | 1.7 e il I
EMR C25-5R26-250-2T 13.6
QOB B TR0BS TR 20T BV orS BuuTT EMR C25-5R26-300-2T 19.0
#Rd A eFobutiuty RNV WV a3 ] EMR Steel Round Nose End Milling Cutter EMR C25-5R30-150-2T 10.3
©25-5R30-200-2T 1.9
025-5R30-250-2T 13.6
€25-5R30-300-2T 19.0
RPMT1204M0 ZP60 R6 1.7 032-5R35-150-3T 13.6
v 632-5R35-200-3T 15.3
ey
e C32-5R35-350-3T 28.9
o Gasay
[ ~5R40~150~ 5.
v 7 RPMT1204-XM ZP25 R6 1.3 C32-5R40-200-3T 18.9
- ©32-5R40-250-3T 20. 4
~ C32-5R40-300-3T 23.9
BIPU* D' ed abuSuce’ 08T A’ IR U3 ST gg%_g§28_288_3¥ gg g
€32-5R50-150-4T 23.9
e ©32-5R50-200-4T 27.1
Fo TR w3 G25-5R25-150-2T 7.9
RPMW1003MO ZM90O R5 1.7 DxdxT 025-5R25-200-2T 9.6
EMR 5R50-22-4T 10.3  EMRW C25-5R25-250-2T 15.3
e s 24 o B S
EMR 5R100-32-6T % 4 EMRW C25-5R30-250-2T 16.9
: EMRW C32-5R35-150-3T 13.6
A 2 i ] 510" ENRW €32-5R35-200-3T 15.3
RPMW1003M0 ZP20 R5 1.3 EMR 5R160-40-8T 61.1 EMRW C32-5R35-250-3T 189
N EMR 5R50-25. 4-4T 1.9 EMRW C32-5R35-300-3T 27.1
EMR 5R63-25. 4-4T 15.3  EMRW C25-6R32-150-2T 10.3
BIPU D' AU RO B08 T A’ R RBUIN I B T EMR 5R80_25 4_6T 23 9 EMRW 025_6R32_200_2T 1 1 L 9
EMRW 6R50-22-4T 10.3 ~6R32-300~ :
99— EMRW C32-6R32-150-2T 13.6
Sl S0 3 EMRW G32-6R32-200-2T 153
RPMW1003M0 ZP30 RS | 1.3 W] CLElere 4 EMRW C32-6R32-250-2T 18.9
EMRW 6R100-32-6T 324 EMRW C32-6R32-300-2T 23.9
, EMRW 6R125-40-7T 51.0 EMRW C32-6R32-350-2T 27.1
BIVUT D' e’ b UTRUY’ OBV A’ RV IUINBE T EMRw 6R1 60_40_81’ 6'] 1 EMRW 032_6R32_400_2T 30 7
_ EMR 6R200-40-10T 119.0  EMRW C32-6R35-150-2T 15.3
; EMR 6R250-40-12T 187.1 Emsw 83?2&3?52?% ; 8'3
:” EMR 6R300-60-14T 238.1 -6R35-250~ .
\ . i GIL 25 RS 1 13 EMRW 6R50-25. 4-4T 1o EMRW G32-6R35-300-2T 27. 1
et s s EMRW 6R80-25. 4-6T 239 ENRW C32-6R40-150-3T 16.9
EMRW 6R100-31. 75-6T 35.7 EMEW 835_2538_5(5)8_% ; 317
EMRW C32-6R40-300-3T 27.1
The Above F3*c’&*“w33” Are RP.. Inserts,
RPMW1003-XM ZP25 RS 1.3 OoOooog oooogd DDDDDDDDDDDD%%@%D%@E&S@E@ DDD]%%’%} OOOooOodr
The Above F°3*w°@<33° Are RP.. Inserts EMRW C32-6R50-150-4T 23 9
BTV B RP RO BOBP PFoaLB ] RC.. /RD.. Inserts and handle, please inquire! EMRW 032_6R50_200_4T 27.1

DV WL’ VTR, BT DBTR) BOBTI R BRTBIDBE’ R

FeSaB0%’ B30 BNATE BoUT* 3T
OO00OOoO00Ooood oboboootoon, OOoooOood Oooo o OO0, eva@mzgtool.cn

33T
I W’

http://www.mzg.tw



http://www.mzg.tw

Machine-Clamped Milling Cutter
Machine-Clamped Milling Cutter

Product PP RS usD Product TR usD

Product [P usD Product FoTI WS USDJ pistures Pictures

Pictures Pictures

283BRW*E D3¢ B3 NP DTS

- P3200-R4 ZP10 7.4
a S ST S S P3200-R5 ZP10 8.3 LNMUO303ZER-MJ 800-08A

| P3200-R6 ZP10 8.3
: ’ SEHT1204AFFN CBN1| 7.1 P3200-R8 ZP10 9.9
) P3200-R10 ZP10 11.9
P3200-R12.5 ZP10 20.3

o BRT RN F IS Profile Fine Milling of | P3200-R15 ZP10 31.1 PNMUO905GNEN-MJ 800-08T308M-C-G
! | copper and Aluminum sIduT e ebot | p3200-R16 ZP10 40.3

PNMUO905XNER-GM

‘ Cutting Below HRC55
SEHT1204AFFN PCD1| 7.1 ZPFG100 ZM55 17
ZPFG120 ZM55 17
v ZPFG160 ZM55 20
- 2 © ZPFG200 ZM55 23.
B Copper and Aluminum ZPFG250 ZM55 32.
1.7 ZPFG300 ZM55 51. ST STEEE]
. @ Cutting Below HRC55
3.1 n

800-08T308M-1-G

AROA

| | SEHT1204AFFN ZKO1

800-09T308H-P-G

BNM120 ZM55 17.
BNM160 ZM55 18.
BNM200 ZM55 23.
BNM250 ZM55 32.
BNM300 ZM55 41.

68 98° Jom 300
2P0 e aber
SECA1204AFTN ZP30

WNMUOBO60OSEN-SM R390-11T308-PM

ohrvVO =

QaR3* BP0w BT’ N Re¥ 08908 @0B¢ B e ort BuTLT® vad® ggﬂ}gggggg—m
: ) H SCMT09T308-MM
Lock Tooth T Sph I End Mill C |
00 e hod T ocking Toot ype Spherical En illing Cutter 3PKT190608R-M
BIJ* D’ e’edod o 3.1
3 SEHT1204AFSN ZM9O XJMG1204 é $-R215. 44-15T364M
FeEeon ansEaa abosfd, HNGX0906-FF S8 |naN3102c
BIVO* D’eFed’ bt . PR
SEKT1204AFTN ZM90 DxM
T2139M-5R-M5 : WNMX060312ZNN-HM GRIP3003Y
T2139M-6R-M6 31.0 WNMXO9T316ZNN-MM m GR1P4004Y
T2139M-8R-M8 33.3
NSRS T2139M-10R-M10 35.7
B0 B0 45 ° Fe* Do’ on® BuFud T2139M-12. 5R-M12 38.1
KM Steel 45° Face Milling Cutter T2139M-15R-M16 40.4 gngggggggggzm LNKX1506-G
3’BT*BT°R° B MRev 2839838 00B* D0 on* R B R BT _—~—
Discarded Spherical End Milling Toolholder @ CNHX100508T "‘- WXCU080612T
0T g - = CNHX131108T P 4
| |
L 9 LNKX1005-Y
o H LNKX1206-Y
FoTERS @ AXWTOS0Z08R-EN E. LNKT1507
dxDxLxT usbD
C10-4R-100-1T 8.9 -
C12-4R-130-1T 8.9 é BLMPO603R-M - $229.0300. 32
C16-4R-150-1T 10.7 =
Fo PR LS ©10-5R-120-1T 8.9
DxdxT C12-5R-150-1T 8.9
C16-5R-150-1T 10.7 BLMPO904R-ML SOEX090408-13
KM12-50-22-4T 72139 C12-6R-130-1T 8.9
KM12-63-22-4T 153 12139 C12-6R-150-1T 8.9
KM12-80-27-5T 25. 4 %1:3;3 g}g—gs—;gg—ﬂ 1(2). 7 Y
KM12-100-32-5T 35.7 —6R-200— 12.6
RIS 20 %} gg g}g_gs_; SS‘H 1(1)'8 || BLNP1205R-M ° HNPJ130720ANSN-HD
KM12-160-40-6T 61.1 ~8R-200- e
KM12-200-40—8T 136 0 12139 620-8R-200-1T 16.7 -
KM12—250-40-10T 204 0 12139 G25-8R-250-1T 19.7 A
K120 3005602121 955 0 12139 G20-10R-150-1T 13.9 BLMP1306R-M SPIRH5-LT-L
: 12139 C20-10R-200-1T 16.0
KM12-50-25. 4-4T 13.6° 12139 €25-10R-250-1T 19.7
—-80-25. 4— . T 5-12. 5R-150-1T 16.7 T
KM12-100-31. 75-5T 390 12139 €25-12. 5R-200-1T 19.6 TNGXZ207PNTN - SPIRHSLTD
12139 €25-12. 5R-250-1T 22.1
KM Aluminum 45° Face Milling Cutter 12139 ©25-12. 5R-300-1T 25.0
KM Alumingr43” Face Milling Cutter 1513 Gaotarisodr 53 ]u ZNHU080-08 - APNT1003-NN
D . - = .
12139 €32-15R-200-1T 21.0 Q
. 12139 €32-15R-250-1T 23.9 =
12139 G32-15R-300—1T 26.7 3
12139 €32-15R-350-1T 30. 4 8 SNMX1205XTN « } SEKN1203AFTN-NN
12139 €32-16R-150-1T 18.3
12139 €32-16R-200-1T 21.0
12139 G32-16R-250-1T 23.9 —
12139 €32-16R-300-1T 26.7 ‘
12139 €32-16R-350-1T 30. 4 ) 283%828%82’32 SEKR1203AFTN-NN
Insert:ZPFG.. ].—‘ - -
iy 229 HEN | Sowmosraos op
20-10R-150 31.7 v | SouTeaTSs-DP TPUN160308-NN
€20-10R-200 37.6
025-12. 5R-150 39.7
Fo TR LS €25-12. 5R-200 49.6
AL-KM12-50-22-4T 16.9° ABPF €32-15R-200 51.7
AL-KM12-63-22-4T 22.1 ABPF €32-15R-250 59.6
AL-KM12-80-22-5T 30.7 _ ABPF C32-15R-300 79.3
AL-KM12-100-22-5T 54.6 InsertBNM.. | RPHX1204M6EN-M31 SPMT120408-PM
AL-KM12-125-27-6T 85.0 EWE gg—gs—gg—ﬂ Hg 4
AR oo eT i BNML C16-8R-150-1T 15.0
M e o : BNML C16-8R-200-1T 17.9 XNEX080608-MD15 ONHU060408~PM
AL-KM12-250-32-10T 2121 BNML G20-10R-150-1T 21.0 ONHUOBT508-PIf
AL-KM12 300-32-12T 340.3 BNML G20-10R-200~1T 23.9
Aaiarr |4 somesd, | o
~KM12-63-25. 4~ . -12. 5R-150— 5.
AL-KM12-80-25. 4-5T 32.4  BNML 025-12. 5R-200-1T 29.7 u ROUXISCE0S IS ’ 8.8
AL-KM12-100-31. 75-5T 54.6  BNML C25-12.5R-250-1T 33.3

De’I W’ ITD, ST DB BV BII R BHRTIIB I3 .
e B0 e’ TeB%ad Ao E’ B3 333 T3 RS W’ http://www.mzg.tw
AT rarararararararararararar it rarararararirirarirt rararararararar1rarirriririririrlt eva@mzatool cn


http://www.mzg.tw

32D BB BRIV @ BT O T’

Insert Type Quick Drill

028 13 i@’ st eoriur dod® drutetontt dutud* 03¢ S0’ 8 pev28308 Q08¢ Y rori Buudt U8t 62 6= 9 D60 RE 26 936729 6 ¢ 32®
Locking Tooth Type Right-Angle End Milling Cutter | ocking Tooth Type Spherical End Milling Cutter TR B EEEE SR
WCMX030208 ZP25 0.8 1.4
WCMX040208 ZP25 0.8 1.4
M M WCMX050308 ZP25 0.8 | 1.7
~ WCMX06T308 ZP25 0.8 1.9
v 43¢ E S on mox e WCMX080412 ZP25 1.2 2.6
© ert R3901T. . WCMX030208 ZP30 0.8 | 2.3
DxTxM usD DxRxM s \ :
E—— WCMX06T308 ZP30 0.8 2.6
R39011-16-2T-M8 8.6 BNM-10-R5-M5 35.7 63° BYT T on~ Rox*B0e WCMX080412 ZP30 1.2 3.7
R39011-17-2T-M8 8.6 BNM-12-R6-M6 35.7 Bart 4
R39011-20-2T-M10 31.0 BNM-16-R8-M8 38.1 SPMG050204 ZP25 0.4 1.4
R39011-21-2T-M10 31.0 BNM-20-R10-M10 38.1 SPMG060204 ZP25 0.4 1.4
R39011-25-2T-M12 33.3 BNM-25-R12. 5-M12 40. 4 SPMGO7T308 ZP25 0.8 1.7
R39011-26-2T-M12 33.3 SPMG090408 ZP25 0.8 1.9
R39011-30-2T-M16 35.7 eF TR e 37800 SPMG110408 ZP25 0.8 | 2.3
R39011-32-2T-M16 35.7 = S
R39011-33-2T-M16 35.7 SPMG050204 ZP30 0.4 2.7
R39011-35-2T-M16 42.9 SPMG060204 ZP30 0.4 2.9
SPMGO7T308 ZP30 0.8 2.9
098¢ LR3F WB¢ Ty Bono® 0od* B U ont* BuuT Hon T LR B kv FTWeF’ 303 LvBBTn GoT* SPMG090408 ZP30 0.8 3.3
Locking Tooth Type Right-Angle End Milling Cutter ~ Tungsten steel anti-vibration tool rod 33% B’ on* JoT B30 ggmgllgigg %Egg 8 g g 2

2. Razz [EBand)

WC 8202’83 3°30°3 B*0°0* 5’ 3°

WC Insert Type Quick Drill g
| (E— Y |
et

Insert: JDMTO0702..

o T I3’ e’
DxTxM usp
JDMTO7-11-2T-M5 35.7 8 12 XCMT040104 61.7) 91.4 - -
JDMT07-12-2T-M5 35.7 10 12 XCMT050204 57.1| 85.0 4 -
JDMTO07-12-2T-M6 35.7 12 16 XCMT060204 47.1 65.3 = -
JDMT07-13-2T-M6 35.7 14-14.5 20 WCMX030208 25.3] 32.9 37.6| 67.1
JDMT07-14-2T-M6 35.7 15-20 25 WCMX030208 25.3] 32.9 37.6 | 67.1
JDMT07-16-3T-M8 42.9 oM AR A we’ 20.5-24.5| 25 WCMX040208 35.3] 42.6 50.3| 72.9
JDMT07-17-3T-M8 42.9 dxDxLxM usD 25 32 WCMX050308 35.3] 42.6 50.3| 72.9
—08—100—| 25.5-30 32 WCMX050308 42.6| 45.3 52.9 1 80.0
AU, = o0 30.5-31 32 WCMX050308 57.6| 59.6 72.91 100.4
—10-100— 31.5-40 32 WCMX06T308 57.6| 59.6 72.9 | 100.4
P R Ay 32 | WOMX06T308 | 69.0| 76.7 | 960|125 7
0B R uFT Tyu* sortut QoB® B’ ont* BLwTt : 42 40 WCMX06T308 69.0 76.7 96.0 125.7
Locking Tooth Type Right-Angle End Milling Cutter  MFL12—12—100-M6 75.0 22—28 28 WgM§8ggig (732 2 ;g ; 19062. 09 ]%? 17
MFL12-12-150-M 102. - : :
WL 27210 1929 5185 40 | WOMX0B0412 | 85.0| 109.7| 130.3| 148.6
LY M 56-57 40 WCMX080412 89.0| 112.4| 171.4] 165.7
58-59 40 WCMX06T308 89.0| 112.4| 171.4| 165.7
MFL15-15-150-M 131.0
LS oo e 178 6 60-63 40 | WCMX06T308 | 93.3| 123.3| 197.9| 201.1
MEL16-16-100-M8 4 s 6465 40 | WCMX06T308 | 1003 137.1| 224.0| 231.0
9 AL i 1310 6668 40 | WCMX06T308 | 101 7 151.0| 228 6| 240.0
e r——  WEL16-16-200-WB 86 69-70 40 | WCMX06T308 | 102.9 160.0| 240.0| 262.9
ﬁdDdTmMs.ss WFL16-16-250-W8 2261 & HOoOooOOOO 0o0oDOO00000 000000 L
X 1X -
AXMTO6-11-2T-M5 357 MFL19-19-150-M10 204.7 sp Insert Type Quick Dill
AXMTO6~12-2T-M5 357 MFL19-19-200-M10 273.9 -
AXMT06-12-2T-M6 357 MFL19-19-250-M10 326. 1 = d
AXMTO6-13-2T-M6 357 MFL20-20-100-M10 154.7
AXMTO6~16-3T-M8 429 MFL20-20-150-M10 204.7
AXMT06-17-3T-M8 429  MFL20-20-200-M10 273.9
MFL20-20-250-M10 326. 1 o
Locking Tooth Type Fast End Milling Cutter MFL20-20-300-M10 373.9 13-14.5 20 SPMG050204 30.4 35.7 44. 7 78. 6
BR3* BR0ow’ S’ JeNT 20B* DL on® 3L w3 O &tﬁfrsl_zdiedzoirﬂiéss dM12 273- 9 15 - 25 SPMG()50204 30.4 35.7 44.7 78. 6
MFL24-24-200-M12 376 1 15.5-20 25 SPMG060204 30.4| 35.7 44.7 | 78.6
; MFL24-24-250-M12 450' 0 20.5-21.5| 25 SPMG060204 41.9| 47.6 60.7 | 83.3
¥ L M MFL24-24-300-M12 535' 7 22-24.5 25 SPMGO7T308 41.9| 47.6 60.7| 83.3
MFL25-25-150—M12 273' 9 25-27.5 32 SPMGO7T308 50.3| 54.7 65.4| 91.4
MFL25-25-200-M12 376. 1 28-30 32 SPMG090408 50.3| 54.7 65.4| 91.4
Q MFL25-25-250-M12 450' 0 30.5-33.5| 32 SPMG090408 66.9| 72.9 88.1 ] 108.6
LoEL . . 34-40 32 SPMG110408 66.9| 72.9 88.1 | 108.6
L2525 300-M12 557 4 32 | SPMG110408 | 79.0| 88.1 | 105.4| 137.1
ST L v’ AL 7500 4545 40 | SPMGI40512 | 79.0] 88.1 | 105 4] 1371
I _an_. w 46-50 40 SPMG140512 88. 1 98.9 125.7| 148. 6
AJX06-16-2T-M8 31.0 W a0 2007 Mo bLa3 75155 40 | SPMGO7T308 | 94 3| 111.0| 144.0] 171 4
AJX06—-17-2T-M8 31.0 MFL32-32-300-M16 916- 7 56 40 SPMGO7T308 98.9| 123.9| 208.1| 228.6
AJX08-20-2T-M10 33.3 MFL32-32-350-M16 1159. 6 57-59 40 SPMG090408 98.9| 123.9| 208.1| 228.6
AJX08-21-2T-M10 33.3 MFL32-32-400-M16 1428 6 60-63 40 SPMG090408 103.3 136.9| 250.0| 271.4
AJX09-25-2T-M12 35.7 ) 64-66 40 SPMG090408 111.0 161.9] 280.0| 300.0
AJX09-26-2T-M12 35.7 . 7= g&j 408 111. 161.9| 280.0| 300.0
A28 5112 %7 *B38955590093 5908 5553 e S e S b T Rke 10208 | 1144 173.9| 290.0| 328.6
AJX12-30-2T-M16 40. 4 oo - = .
350 WDXT ../ GPMT ... 82000783 3463208¢ 35838 30°0° 308, F83200° B<5ona!
AJX12-32-2T-M16 40.4 « Lock teeth type tool stock Specifi cation are complete e ’ o o OR R A
AJX12-35-2T-M16 47.6  Pleaseinquire for 3°0°@a 3’ not listed. Plus WDXT../GPMT... Type Stock Quick Drill Commodity, Welcome To Inquire!
DEV’T WO’ ITD), 3N D3R DOBITR) BRITIANBB N33R .
FeS30%e’ Fed%ad Ao Ed’ B3¢ B3 IS T 9T RSt W’ http://www.mzg.tw -

FaAr Ar aAr ar araraiririIirar 1 rarairairarararararirt rarararariararar i1 raraririri1riririri1i avammm=>atonl ~n


http://www.mzg.tw

e on® et

Boring Tool

3°BRR FeUT T wowaws NO. Range D oo [EAEUEEEC e —; HBOR &%t abaifort® wladort®
Be3°e30° (B3 ¢-w oo’ on*® S*24z2.0.002mm
seutabos aocb-omie] RBHI9C [LBK1[ 19-25 | 28.6  (@eedont®s7oes:8-280mm) ’ o = )

6
0000000000 O00PRBH25C  [LBK2| 25-33 | 28.6 iy ey a,;‘- 7o
Rounr Borma coisr | RBH32G  |LBK3[ 32-42 | 31.0 W \\ 2 e =
| RBHAOC |LBK4| 40-55 | 40.4  NBH2084Boring Tool (\ HBOR Fine-Tuning Boring /) \\ .
Pt RBH52C |LBK5| 52-70 61.9  (2wed’ont* B<0%e’: 8-280 imfl Cutter (Fine-Tuning L g
3 RBH68C |LBK6| 68-92 83.3 Fine-Tuning Accuracy 0.01mm Accuracy 0.002mm) ! Ty
RBH9OC |LBK6| 90-122 |102.4 Foraud Range D wer
Egngg LBBSK-l—6 128_;82 1:132 9 WPeT on* Lo BReV BT HBOR25 Boring Cutter
RBH200C | BST | 200-310 |273.9  SBJ2008-32 811 8. 6 HBOR25M(29-38) soring head 29-38 | 666.7
RBH300C | BST | 300-410 |544.0  SBJ2010-40 10-13 8. 6 HBOR25M (29-38) Back Boring 29-38 | 666.7
Insert:CCMT RBHA00C | BST | 400-510 |583.3  SBJ2012-53 12-17 | 8.6  BT30-HBOR25P 857.1
RBH500C | BST | 500-610 | 681.0 ggﬁglg—?& 16-21 8.6 g&gg—ngggggg gg; ]
. = - 16-21 | 20.4 - -
| Sedraesagmtutaaseot) OBH20 | LBKT| 2026 11357 $By2020-83 20-130 | 8.6  SK40-HBOR25P 857. 1
J O e P epa | GBH25 | LBK2|  25-33 | 154.7 3B 2020-125 20-130 | 20.4  HSK63A-HBOR25P 976.1
OOOO00 Boring Cutter| GBH32 - 1LBK3|32-42 1163.1 3B 2020-150 20-130 | 239 CA0602-09Tcarbide Boring 2-3.2 | 59.6
CBH40 ~ |LBK4| 40-55 181.0  $By2020-200 20-130 | 28.6  CA0603-16Tcamice sorng 3-4.2 | 59.6
CBH52 |LBK5| 52-75 |204.7
- 25-135 20.4 . Carbide Boring —0. .
CBH100 |LBK6| 100-152 |273.9  3p12025-150 25-135 | 23.9  CA0606-32Tcaride Boring 6-7.2 | 59.6
CBH150 |LBK6[ 150-202 1323.9 5B j2025-200 25-135 | 28.6  CB06050-21 ( 6C03) | 5-6 | 123.9
CBH200 | BST | 200-310 | 714.3  gBJ2030-115 30-140 | 8.6  CB06055-26 0C03) | 5.5-6.5 | 123.9
ggﬂigg oo igg:g}g g% g SBJ2030-173 30-140 | 23.9  CB06060-26( €Co3) | 67 | 1239
oBH500 | BST | 500-610 11024, 9 SBJ2030-200 30-140 28.6  CB06065-31 ( €C03) | 6.5-7.5 | 123.9
ggjgggg-%m 120-280 | 8.6  CB06070-31( €C04) 7-8 123.9
EWN20 | CK1 | 20-36 [123.9 _ 1207400 | 23.9 'LBOR32 Boring Cutter
i oGl e 1155 weeroncusu soows HBOR32M (36-52) sornoneas | 36-52 | 800
Bl 2258 11es T NBH2084cc 8-280 | 138.1 HBOR3ZM(36-5)gackzorng | 36-52 | 800
Zlgci;wg%mm Ewmgg gEg 6583_19550 1;3 2 ﬁ$3g§“33g08§£8p g_%gg %gg g HBOR40 Boring Cutter
EWNTOO | K6 | 100-203 |214 3 ~ NT40-NBH2084-8P 8-280 | 233.3  HBORAOM (44-68) Boring head 44-68 | 833.3
g;ig—mgngggj—gg 8-280 | 309.6  HBOR4OM (44-68) Back Boring 44-68 | 833.3
wRed’on* wee® 3*u208° _ o —| — 8-280 233.3 R . B o
oot i | CBHI2 2531 | 131  BISO-NBH2084-8P 8-280 | 2739 HBORSO wwedorivaeyaleods
"\ ’ - - SK40—-NBH2084-8P 8-280 | 278 6  HBORS0BM (57-90) soringhead | 57-90 | 742.9
CBH1-3 30-36 | 13.1
CBH2—1 25-33 | 13 1 SK50-NBH2084-8P 3_230 309 ¢  HBOR50BM (57-90) Back Boring | 57-90 | 742.9
CBH2—2 32-40 | 13 1 BT30-HBOR50 (06-90) 6-90 | 857.1
CBH2-3 39-47 | 131 NBJ16 weed®onts epe® BT30-HBOR50 (06-90) -14P 6-90 1190. 4
CBH3-1 39-42 | 131 (weedors gedess 8- SOmm) BT40-HBOR50 (06-90) 6-90 | 8571
CBH3—2 251 | 13 1 BT48-HB8R58 Egg—ggg-mp 6-90 | 1190.4
_ i ' BT50-HBOR50 (06— 6-90 | 904.7
gg:ij ‘51?_22 lg 1 NBJ16 Boring Tool / \\\Q\“ BT50-HBOR50 (06-90)-14P |  6-90 | 1273.9
{(4 CBHA-2 50-63 | 131 (0eTPorts B<T%er: 8-50mm) SK30-HBOR50 (06-90) —14P 6-90 1273.9
A S :;j‘ CBH4-3 61-74 13.1 Fine-Tuning Accuracy 0.01mm SK40_HBOR50 (06_90) -14P 6-90 1273.9
= CBH5-1 53-70 | 13 1 SK50-HBOR50 (06-90) 6-90 | 904.7
CBH5-2 65-82 | 131 FoTE S SEREE S SK50-HBOR50 (06-90)-14P | 6-90 | 1273.9
CBH5—3 78—95 1 3 1 T or® e Bpeer <@g HSK63A—HBOR50 (6_90) _1 4P 6_90 1 309 6
CBHO=T o |15 sBul606-24 6=9 | 8.6 HBORG3 wimedorswnvsspod'a’
CBH6-2 94-126 | 131 SBJ1608-32 8-11 8.6 HBOR63BM (70~110) soringhead| 70110 | 804. 7
126-179 | 13 1 SBJ1610-40 10-13 | 8.6 HBOR63BM(110-150) corngreee | 110-150 | 804. 7
CBH6-3 118-150 13.1 SBJ1612-53 12-15 8.6 HBOR63BM (70—1 10) Back Boring 70-110 804.7
P 150-203 | 13 1 SBJ1614-60 14-17 8.6 HBOR63BM (110-150) saccsoing | 110-150 | 804. 7
ggj} 2; g-gg 16-21 8.6 NT40-HBOR63 ( ) 6-150 |1071.4
- 20-26 8.6  NT40-HBOR63 (6-150)-15P | 6-150 | 1381
DEOOA 4 187 sButea0-150L 20-26 | 23.9  NT50-HBOR63 6-150 | 1119
W ort* wuassdn BE12A MG 16.7 SBJ1620-200L 20-26 | 28.6  NT50-HBOR63 (6-150)-15P | 6-150 |1428.6
- BE14A M6 16 7 SBJ1625-90 25-31 8.6 BT40-HBOR63 6-150 | 1071.4
BE16A M6 167 SBJ1625-150L 25-31 23.9  BT40-HBOR63 (6-150) 15P 6-150 | 1381
BE18A W0 167 SBJ1625-200L 25-31 28.6  BT50-HBOR63 6-150 1119
BE20A W0 16 7 SBJ1630-90 30-36 8.6  BT50-HBOR63 (6-150) 15P 6-150 |1428.6
BE22A Wo 167 SBJ1630-150L 30-36 | 23.9  SK40-HBOR63 (6-150) 15P 6-150 | 1381
BE24A M10 167 SBJ1630-200L 30-36 | 28.6  SK50-HBOR63 (6-150) 15P 6-150 |1428.6
BE26A W10 167 SBJ1635-90 35-41 8.6  HSK63A-HBOR63 (6-150) 15P| 6-150 |1452. 4
BE28A M10 16. 7 SBJ1635-150L 35-41 23.9 Boring Accessories
BE30A M10 16‘ 7 SBJ1635-200L 35-41 28. 6 Boring Accessories
BE32A 10 190 SBJ1640-90 40-46 8.6 BR1606-21 (WBGT0601. . L) 6-9 23.9
BE34A Wo 190 SBJ1640-150L 40-46 | 23.9  BR1608-28 (TBGT0601. .L) 8-11 23.9
BE36A Mo | 239 SBJ1640-200L 40-46 | 28.6  BR1610-35(TBGT0601..L) | 10-13 | 23.9
BE38A W10 239 SBJ1645-90 45-51 8.6  BR1612-42(TP..09..L) 12-15 | 23.9
BEAOA Wo 239 SBJ1645-150L 45-51 23.9  BR1614-50(TP..09..L) 14-17 | 23.9
' SBJ1645-200L 45-51 | 28.6  BR1616-60 ETP. . 09. . Lg 16-20 | 23.9
oo <~ ~ BR1620-65 (TP. . 11. . L 20-24 | 23.9
Eg] g?g - ]j- g Wt ort® U BRod R’ BR1624-68 (TP. . 11..L) 24-28 | 23.9
EC Conversion Sleeve . BM5 35.7
EC1612 - 14.3 NBJ1éBoung head 8-50 138.1 SRTP2938 (TP .09.. L) 28_38 35.7
EC1614 - 14.3 mgg—ggﬂg—gg—gg 8-50 | 233.3  SRTP3652(TP..09..L) 36-52 | 35.7
PET——— - -65- 8-50 | 233.3 .. 09.. - .
sorfdust Rt 1108 5100 | M5 | 59.6  BT30-SB.J16-55-12P o gﬁgp“‘“’s (Ip..09..L) 44-68 o
D ngsten Steal | STI0-W6-110L | M6 | 69.0 —-SBJ16-55- -
Tungsten Steel : BT40-SBJ16-55-12P 8-50 | 309.6 SRTP70110(TP..11..L) 70-110 | 47.6
Boring Bar ST12-W6-120L M6 88. 1 BT50-SBJ16-65-12P 8-50 | 233.3  SRTP110150(TP..11..L) | 110-150
ST12-W6-150L | M6  |107.1 AL 47.6
SK30-SBJ16-60-12P 8-50 273.9
e | O[14WOTOO0L | M6 119.0 SK40-SBJ16-60-12P 8-50 | 278.6
ST1eMo-1g0L| Mo |13 SKSOSBUIEES-1P | 850 | 309.6

eV’I WL’ IBD, BT D3R DUBII R BRI NI 3T’
FeSdot’ JeBead VAR BouTT BT IR I 9B RS W’ http://www.mzg.tw
OO0 O00000000000000 0000000000000, 0000000000 000000 00 eva@mazatool.en


http://www.mzg.tw

e ont et

Boring Tool

BSA OO0 OOOOOO

OO B8F)eed’onrt* 36338 Holder
Rough Boring Cutter Holder
| TBS9..-L Eﬁ

BST/NBH tapomieedd

QOB BRV® BREVFBTE

CK apo®@pe*3da*

BSA Rough BST/NBH e LB\ "Toolnolder
Boring Cutter, P Toolholder
7 3 o R3S’ ‘Q W TP R3S’ (A3
Buewt (WU memem | s -

e " -45-L | TP . - : e " e "
BT40-BSA25-120 | 47.0  IBS913-6-L 11nit) 1.9 o Ronioee 327 BT30-LBKI-55 | 21.0 BT30-CK1-55 35.7
BT40-BSA30-150 | 47.6  1pZl078em- | ol 1 NT50-NBH2084 714  BT30-LBK1-70 21.0  BT30-CK1-70 35.7
BT40-BSA38-165 50.0 TBS919-70-L TC16 19' 0 SK40-NBH2084 35.7 BT30-LBK2-80 21.0 BT30-CK2-80 35.7
BT40-BSA42-165 | 500 1BSoio-90-L |7Cis| 190  SKOO-NBH20B4 [14 BT30-LBK3-80 21.0  BT30-CK3-80 35.7
BT40-BSA50-165 | 53.6  1RS019-85-L |Tci4| 19 0 - -7 BT30-LBK4-70 21.0  BT30-CK4-70 35.7
BT40-BSA62-180 | 63.1  TBS919-105-L |1C16| 23 9  BBISO-NBIZ084 2V} BI30-LBK5-70 21.0  BT30-CK5-70 35.7
BT40-BSA72-180 ;(1? .431 %gggg 1(322 IE 1812 gé .? CATS0_NBH2054 059  BT30-LBK6-60 21.0  BT30-CK6-60 35.7
BT40-BSA90-180 . : HSK63A-NBH2084 154.7
BT50-BSA25-135 | 81.0 — HSK100A-NBH2084 214.3  BT40-LBK1-75 21.0  BT40-CK1-75 35.7
BT50-BSA30-165 | 81.0 ) Tes9.R] 1S040-NBH2084 46.4  BT40-LBK1-105 | 21.0  BT40-CK1-105 35.7
BT50-BSA38-180 | 83.3 (5050 MNEtigoo4 927 BT40-LBK1-130 | 28.3  BT40-CK1-130 44.7
BT50-BSA42-210 | 83.3 N3 NoHo064 95 ¢ BT40-LBK1-165 | 357  BT40-CK2-75 35.7
BT50-BSA50-180 | 86.9 TBS910-36-R MT4-NBH2084 47,9  BT40-LBK1-195 59.6  BT40-CK2-115 35.7
BT50-BSA50-240 | 92.9  TRS910-45-R MT5-NBH2084 50.4  BT40-LBK2-85 21.0  BT40-CK2-130 44.7
BT50-BSA62-195 | 95.3  TBS913-48-R MT6-NBH2084 66.7  BT40-LBK2-115 | 21.0  BT40-CK3-80 35.7
BT50-BSA62-270 | 107.1  TBS913-65-R mggzngngggj fé- g BT40-LBK2-130 | 28.3  BT40-CK3-100 35.7
BT50-BSA72-195 | 95.3  TBS916-60-R Lty 25, BT40-LBK2-165 | 357  BT40-CK3-135 44.7
BT50-BSA72-285 | 131.0  TBS916-80-R MTBA_NBH2084 24 7 BT40-LBK2-200 | 59.6  BT40-CK3-155 44.7
BT50-BSA90-210 | 164.3 }ggg] g:gg:g R8-NBH2084 357  BT40-LBK3-95 21.0  BT40-CK4-75 35.7
BT50-BSA90-300 | 208.3 133709~ 70°R BT40-NBH2084-100L | 59.6  BT40-LBK3-125 | 28.3  BT40-CK4-100 35.7
BT50-BSA105-195| 297.6 BT40-NBH2084-150L | 90.4  BT40-LBK3-165 | 35.7  BT40-CK4-150 44.7
BT50-BSA105-285| 381 0 1oogse 199° BT40-NBH2084-200L | 119.0  By40-| BK3-210 | 59.6 BT40-CK4-170 53.6

: TBS925-100~ BT50-NBH2084-100L | 71.4 Sl : -l :
BSA DJO0D DO0DOO000 O0oCTB$925-135- BT50-NBH2084—150L 90.4 BT40-LBK4-85 21.0 BT40-CK5-60 35.7
- SEERLE | pemes | 0 pemew | o
oug — —| — i —| — . — — .
Boring Cutt?":-‘:"‘" - BT40-BST-70 6.7  BT40-LBK4-150 | 28.3  BT40-CK6-65 35.7
. BT40-BST-100 6.7 BTAO-LBKA-175 | 357  BT40-CK6-100 35.7
-BST- 4 BT40-LBK4-220 | 59.6  BT40-CK6-150 44.7
BT40-BST-200 85.7 | BK5—

CBS008-30-L —BST- BT40-LBK5-75 21.0
et B0 BSII® 8] BTA0-LBK5-125 | 28.3  BT50-CK1-115 | 75.0
CBS910-45-L BT50-BST-200 33 3  BT40-LBK5-175 35.7  BT50-CK1-145 82.1
BSA30-42-LBK2 | 27.4 BT50-BST-250 107.1 BT40-LBK5-235 | 59.6  BT50-CK1-200 95.3
BSA38-52-LBK3 | 28 6 BT50-BST-300 119.0  BT40-LBK6-65 21.0  BT50-CK2-105 75.0
BSA50-65-LBK4 | 33.3 E}gg;gg}j‘gg ]gg g BT40-LBK6-115 | 21.0  BT50-CK2-135 82.1
BSA62-90-LBKS | 41.7 BT20-BST-450 io0 % BT40-LBK6-150 | 28.3  BT50-CK2-165 78.6
MEER ) maels |5 geems |
BSE 000 0000000 DDD%@ sK40-BST-150 123.9 —— BT50-CK3-140 | 82 1
BSB Rough gg SK50-BST-100 92.9  BT50-LBK1-115 | 53.6  BT50-CK3-175 78.6
Boring Cutter SegasT 10 1239 BIS0-LBK1-145 | 596  BT50-CK3-290 140.7
N T 194 5 BT50-LBK1-200 | 80.4  BT50-CK3-300 140.7
\ SKS0-BST-250 L% 7 Brs5o-LBk2-110 | 526  BT50-CK3-350 189.3
DU DRI .« BT50-LBK2-140 | 59.6  BT50-CK4-100 75.0
o LBK Extension Rod h | BT50-LBK2-175 | 65.4  BT50-CK4-160 78.6
1.0 __ _ BT50-LBK2-235 | 108.3 BT50-CK4-205 101.0
1.9 FPowaas 950 BT50-LBK3-125 | 53.6  BT50-CK4-270 140.7

_ _ 47 6 11.9 . BT50-LBK3-140 | 59.6  BT50-CK4-300 140.7
Eﬁg_ggggg_]gg 47 6 cooe| 119 EERAI-30 BT50-LBK3-155 | 59.6  BT50-CK4-350 189.3
BT140-BSB50-125 | 53.6 0C09[ 1.9 LBK3-3-30 BT50-LBK3-185 | 5.4  BT50-CK5-90 75.0
BT40-BSB62-180 | 62.6 Cco9f 1.9 LBKA-4-4 BT50-LBK3-215 | 75.0  BT50-CK5-165 78.6

. cco9l 11.9 LBK4-4-60 - . ol 1

_ _ s BT50-LBK3-255 | 91.7  BT50-CK5-210 101.0
BT40-BSB72-165 71.4 cco9 | 11. 9 LBK5-5-60

- - ' LBK5-5-90 BT50-LBK3-290 | 108.3 BT50-CK5-270 140.7
BT40-BSB90-180 | 89.3 cc12[19.0  pREST>I0

_ A 80 4 BT50-LBK3-300 | 108.3 BT50-CK5-300 140.7
BT50-BSB25-135 CC12[19:0  [Rre—aj00

1 _ BT50-LBK3-350 | 148.9 BT50-CK5-350 189.3
BT50-BSB38-180 81.9 CcC12] 19.0 LBK6-6-120
BT50-BSB50-180 | 86.4 -R [CC12]23.9  Zoswrmagsoias o BT50-LBK4-115 53.6  BT50-CK6-95 75.0
BT50-BSB50-240 | 92.4 CBS925 100-R [CC12[31.0 BT50-LBK4-145 59.6  BT50-CK6-155 78.6

_ _ CBS925-135-R |CC12| 38. 1 BT50-LBK4-160 | 5.4  BT50-CK6-215 101.0
BT50-BSB62-195 | 95.3
BT50-BSB62-270 | 107. 1 ' BT50-LBK4-205 | 75.0  BT50-CK6-250 140.7

_ 1 [ Bse.  \ \\° 45° LBK Conversion Slee BT50-LBK4-255 | 91.7  BT50-CK6-300 140.7
BT50-BSB72-195 | 104.3
BT20-RBSR77-285 | 1400 ES— BT50-LBK4-305 | 108.3 BT50-CK6-350 189.3
BT50-BSB90-210 | 163.9 soFEus b LBK2-1-36 L) R SR Y ~ 3
BT50-BSB90-300 | 208.3  TBS410-45 TPO9| 1.9 LBK3-1-41 ') BT50-LBK5-105 | 53.6 =8 os‘wie =
BT50-BSB105-195| 297.9 TBS410-50 TPO9| 11.9  LBK3-2-37 ‘0 BT50-LBK5-180 65.4  CK ExtensionRod
BT50-BSB105-285 | 383 1  1BS413-60 TP11[ 1.9 LBK4-1-58 7 BT50-LBK5-240 | 75.0 ————

: TBS416-75 TP11| 11.9  LBK4-2-50 7 BT50-LBK5-300 | 108.3 .g
BSB-LBK [ OOOOOOC CTBS419590 TC16| 19.0 LBK4-3-50 7 BT50-LBK5-350 148.9
TBS419-115 TC16( 19.0 LBK5-1-60 -4 BT50-LBK6-95 53 6 —
gSB’LBCK HROUQh TBS425-130 TC16] 38.1 tgﬁg_%_gi 40- i BT50-LBK6-155 65.4 _
orin utter —2— . . 9 36735 3663 3° 20
’ LBK5-3-47 40 4 BT50-LBK6-170 | 65.4 SoEaes &9
Leko-3-72 404 BTSO-LBK6-230 | 75.0  CK1-1-30 29.7
a4 . BT50-LBK6-290 108.3  CK2-2-30 29.7
= LBKS-4-67 40.4 BT50-LBK6-350 | 148.9
9 CK3-3-30 29.7
CBS408-30 11.9  LBK6-1-70 46 4
e - LBK6-2-63 46. 4 CK4-4-45 35.7
Soeaes A 119 LBke-2-93 500 HSK63A-LBK1-105| 148.9  (CKd-4-60 35.7
BSB25-52-LBK2 | 27.4  (BSA10-50 110 LBK6-3-56 46 4 HSK63A-LBK2-115| 148.9  CK5-5-60 38.9
BSB38-70-LBK3 | 28.6  (BS413-60 116  LBK6-3-96 56.0  HSK63A-LBK3-125| 148.9  GK5-5-90 44.7
BSB50-90-LBK4 | 32.9  CBS416-75 1.9  LBKE-a-l, 200 HSKE3A-LBKA-115| 148.9  GK6-6-60 38.9
BSB62-90-LBK5 | 41.7  CBS#19-115  [CC12[ 190 [BKe 5-a1 20 HSK63A-LBK5-125| 148.9  GK6-6-100 44.7
BSB72-135-LBK6 | 59.6 CBS425-130 CC12] 38.1 LBK6-5-91 56.0  HSK63A-LBK6-115| 148.9  CK6-6-120 59.6

DeO'I WL’ ITR), BT DB BOBTI D BRI N33 .
WeS30%e’ Fed%ead Ao e’ Bo03* ISR 9T RIS W’ http://www.mzg.tw
A Arararararar i rarrararararirirary rararararararartrraririr1riririrT eva@mzatool.cn

N
(@)



http://www.mzg.tw

CNC Tool Holder

CNC Tool Holder

oMl -l AT
DxColletxA/MxL S

B0 8ReL’t® LRV B RV BT PP RS QB0° OB T LI I BT Bee’ L FMB &’e3°0°3* 8e3* &’ofe’on* pos ke 3o
ER Collet Toolholder NO. xColletxA/MxL UsD ER Extension Collet FMB_Metric Face Milling Tool Holder
R8-ER25 17.1 Fo WS
R8-ER32 17.1 M0, vl
R8-ER40 19.7 BT30-FMB22-45 14.6
MTB3-ER20 16.0 BT30-FMB22-60 14.6
MTB3-ER25 16.0 BT30-FMB22-100 18.6
e i || T o e i
MTB4-ER32 18.6 IR BEREREEEEE  BT30-FMB27-100 18.6
[ vy MTB4-ER40 22.4 BT30-FMB32-45 16.0
R MTB5-ER40 26.4 BT30-FMB32-60 16,0
NT30-ER25 17.1 BT40-FMB22-45 17.1
BT30-ER11-70 16.0° NT30-ER32 17.1 BT40-FMB22-60 17.1
BT30-ER11-100 16.0 NT30-ER40 19.7 BT40-FMB22-100 18.6
BT30-ER16-70 18.6 NT40-ER25 17.1 BT40-FMB22-150 22.4
BT30-ER16-100 18.6 NT40-ER32 17.1 ghtg—mggg—ggg 431; Js
BT30-ER16-150 19.7 NT40-ER40 19.7 H ~ .
BT30-ER20-70 18. 6 1S020-ER16-35MS 40. 4 v BT40-FMB22-300 61.0
- = 18025-ER20-35MS 40. 4 ER Wrench / Nuts BT40-FMB22-350 74.0
BT30-ER20-100 18.6 BT40-FMB27-45 17.1
BT30-ER20-150 19.7  |S030-ER32-42 27.4 &R wrench/Nuts ~FMB27-
1S030-ER32-60 27.4 BT40-FMB27-60 17.1
BT30-ER25-70 186 TTHSK32E-ER16-050MS 82.1 BT40-FMB27-100 18.6
BT30-ER25-100 18.6 HSK32E-ER20-050MS 82 1 (V ’ BT40-FMB27-150 23.9
BT30-ER25-150 19.7 HSK32E-ER20-060MS 82.1 b BT40-FMB32-60 17.1
BT30-ER32-70 18.6 - — 82.1 A M ou N " BT40-FMB32-100 17.1
BT30-ER32-100 18.6 BT30-GER16-70 21.4 BT40-FMB32-150 23.9
BT30-ER32-150 19.7 BT30-GER16-100 21.4 — BT40-FMB40-60 19.7
BT30-ER40-80 171 BT30-GER20-70 21.4 oIS Wrench BT40-FMB40-100 21.1
BT30-GER20-100 21. 4 Collet BT40-FMB40-150 26. 4
BT30-ER40-100 71 BI30-GER25-70 214 ERSA/M 2.6 4.0  BIS0-FNB22-60 39.7
I BT30-GER25-100 214 ER11A/M 14 1.7 BIS0ghME 225100 3.7
BT40-ER11-70 21.1 BT40—GER16-70 21 4 : . BT50-FMB22-150 50. 3
BT40-ER11-100 21.1 BT40-GER16-100 21 4 ER16A/M 1.7 1.7 BT50-FMB22-200 61.0
BT40-ER16-70 211 BT40-GER20-70 239 | ER20A/M 1.7 1.7 BT50-FMB22-250 81.9
—ER16— i L ER25UM 2.6 2.6 BT50-FMB22-300 100. 4
BT40-ER16-100 21.1 BT40-GER20-100 23.9
—ER16- - i ER32UM 3.1 3.1 BT50-FMB22-350 119.0
BT40-ER16-150 22.4 BT40-GER25-70 23.9 R s
BT40-ER16-200 371 BT40-GER25-100 239 ER4OUM A0 A0 Brdo-rue22-a50 153.3
BT40-ER20-70 21.1 BT40-GER32-70 23.9 ER50UM 15.3 BT50-FMB22-500 185.3
_ER20— BT40-GER32-100 23.9 :
BT40-ER20-100 21.1 BT50-FMB22-550 211.7
BT40-ER20-150 22.4  ERColletExtension Toolholder BT50-FMB22-600 238. 1
g}ig—gs%g—;go gz 1 ER Collet Extension Toolholder FMB 200 2% 270’ orts cano* Bt adas g;gg—gmg%;-?go gg ;
—ER25- 1 Collet : i H - :
BT40—ER25—1 00 211 o e FMB Inch Face Milling Tool Holder BT50-FMB27-150 529
BT40-ER25-150 22 4 NO. BT50-FMB27-200 63.6
' oy \ . ¥ BT50-FMB27-250 84.7
BTA40-ER25-200 37.1 -5 BT50-FMB27-300 103.1
BT40-ER32-70 21.1 > BT50-FMB27-350 119.0
BT40-ER32-100 21. l BT50-FMB27-400 145.4
4
1 0
3 9
4
0 :
0
7 4
9 0
7 1
9
0
0
7
4

BT40-ER32-150 22. U D BT50-FMB32-60 42.
BT40-ER32-200 37. C10-ER8-100 9.3 BT50-FMB32-100 45.
BT40-ER32-250 50. C10-ER8-150 10. 4 < ggg—mgg—; 88 2;)
—ER32- C12-ER8-100 9.3 -FMB32- .
Elig_EEf{é_gg‘J 173' C12-ER8-150 10. 4 &/ BT50-FMB32-250 87.
BT40-ER40-100 1 9 C12-ER11-100 6.7 BT50-FMB32-300 119.
i C12-ER11-150 6.7 BT50-FMB40-60 42
BT40-ER40-150 23. C16-ER11-100 67 BT50-FMB40-100 45.
BT40-ER40-200 39. C16-ER11-150 6.7 oM ag-alxl: 0’ BT50-FMB40-150 58.
C16-ER16-100 6.7 NO. xdxL BT50-FMB40-200 68,
BT50-ER16-100 39.7 C16-ER16-150 6.7 R8-FMA25. 4 17.1 BT50-FMB40-250 90.
BT50-ER16-150 50. 3 C16-ER16-200 11.9 R8-FMA31. 75 171 g%g-mggg-ggo 1 81 f
BT50-ER16-200 636 C16-ER16-250 16.0 o0 FMB25, 4 o -FMB60-
— - s . BT50-FMB60-150 145.
BTS0-ER20-100 2T e ERa0-1%0 &7 NT50-FWA31.75-75 436
BT50-ER20—200 1 . 0 C16-ER20-200 11.9 NT50-FMA38. 1-75 43. 6 R8-FMB22 16.0
: $20-ER20-100 67 NT50-FMA47. 625-75 92.6  R8-FMB27 16.0
BT50-ER20-250 81.9
C20-ER20-150 6.7 NT50-FMA50. 8-75 55.4  R8-FMB32 17.1
BT50-ER20-300 100.4 " 620-ER20-200 119 BT40-FMA25. 4-60 17.1  Re-FNBAO 19.7
BT50-ER25-70 39.7  (G20-ER20-250 16.0  BT40-FMA25. 4-100 19.7  320°FNB22 4610
BT50-ER25-100 39.7° G20-ER16-100 6.7 BT40-FMA31.75-60 18. 6 ST =
BT50-ER25-150 50. 3 C20-ER16-150 6.7 BT40-FMA31. 75-100 19.7 C25-FNB22 171
BT50-ER25-200 61.0  C20-ER16-200 1.9 BT40-FMA3S. 1-60 197 S25hMBIZ "
BT50-ER25-250 84.7 R 160 BT40-FMA38. 1-100 211 C25-FMB32 17.1
BT50-ER25-300 100.4  C207ER11-100 22 BT50-FMA25. 4-60 14 C32-FMB22 18 6
BT50-ER32-70 39.7  G20-ER11-150 9.3 ' ' C32-FMB27 18 6
g _ : C20-ER25-100 10. 4 BT50-FMA25. 4-100 42. 4 i :
BT50-ER32-100 39.7 C20-ER25-150 10. 4 BT50-FMA25. 4-150 52.9 C32-FMB32 18.6
BT50-ER32-150 50. 3 Sy : . iy f ' MT3-FMB22 17.1
C25-ER16-100 6.7 BT50-FMA25. 4-200 63.6 8
BT50-ER32-200 61.0 =y MT3-FMB27 17.1
- 025-ER16-150 6.7 BT50-FMA25. 4-250 84.7 [rSieies o
slatm s 819 G25-ER16-200 119 BT50-FMA25. 4-300 1111 MT4-FMB22 197
BT50-ER32-300 97.9 C25-ER16-250 17.1 BT50-FMA31. 75-60 43. 6 MT4-FNB27 19 7
- 126.9 e 67 BT50-FMA31. 75-100 43,6 NT4-FNB32 19.7
BT50-ER32-400 158.9  C25-ER20-150 67 BT50-FMA31. 75-150 56.9  NT30-FNB22 18.6
BT50-ER40-100 42,40 I, 1 BT50-FMA31. 75-200 67.4  NT30-FMB27 18.6
BT50-ER40-150 52.9 C25-ER25-100 10.4 BT50-FMA31. 75-250 87.4 NT30-FMB32 18.6
25-ER25-150 11.9 - - 0
Bl e e 636 G52 ERo 200 171 BT50-FMA31.75-300 119.0  NT40-FuB22 180
BT50-ER40-250 7.4 (25-ER25-250 19°7  BT50-FMA38. 1-60 424 NTao-euess e
BTS0-ER40-300 105.7 (25-ER32-100 14.6  BT50-FMA38.1-100 450 NTAO-FMB40 211
BT50-ER40-350 129.6 C25-ER32-150 17.1 BT50-FMA38. 1-150 59.6 NT50-FMB22 42.4
BT50-ER40-400 158.9 C32-ER32-100 146 BT50-FMA47. 625-75 84.7  NT50-FMB27 42.4
BT50-ER50-150 81.9 C32-ER32-200 18.6 BT50-FMA47. 625-200 198. 3 NT50-FMB40-75 43.6
BT50-ER50-200 92.6 C32-ER32-250 22.4 BT50-FMA50. 8-75 55. 4 NT50-FMB32-150 52.9
= C40-ER40-100 19.7 - : NT50-FNB32-200 63.6
BT50-ER50-250 121.7 BT50-FMA50. 8-100 68.9
BT50-ER50-300 158.9  CA40-ER32-100 17.1 : : NT50-FMB60-75 92.6
: ©32-ER40-100 18. 6 BT50-FMA50. 8-150 79.3
DT WO’ VTR, BTN DA DO BIT R BRITBVDT NI3T’.
- WeJdwte’ 3edead BATIE B2TT B30T 9TTRIT W’ http://www.mzg.tw

T 11 rarAr I e e triririririrrarr ey T it ir1rrr i i 1riririr eva@mzatool cn


http://www.mzg.tw

CNC Tool Holder

CNC Tool Holder

R2ATB B, I°SeB* DI C Powerful Collet Toolholder SDC a3 *-abe* e’ puaRe 0 do* oT oV AR T3 T 3¢ o BReV BT
b} b b

S 00S3 wpuBReV B3
g High Speed And

High 233 Toolholder

-~

oW’
NO. xCol letxL

s C Powerful Collet Toolholder SDC Back-Pull Collet Toolholder SLN Side Fixed Type Toolholder

BT30-GSK10-60 20.3
BT30-65K1 660 203
. NO. xCol letxL usb NO. xCol letxL usb 5 o o
BT30-GSK16-90 20.3 FoTEwS
BT40-GSK10-60 23.9 R8-C32 63. 6 BT30-SDC6-90 59.6 NO. xdxL
_ _ 23 0 NT30-C25 63.6  BT30-SDC8-90 59.6 _
B140-GSK16-60. 239 NT30-032 63.6 BT30-5DC10-90 59.6  Brao-sNie v
BT40-GSK16-100 23.9  NT40-G25 636 BT30-SDC12-90 596 BT30-SLN20 16.0
' NT40-G32-105 61.0  BT40-SDC6-90 63.6 '
MT4-C32 740 BT40-SDC8-90 63.6  DIS07SLN2S 100
Collet SK10 7.1 MT5-032 100. 4 \ BT30-SLN32 16.0
Collet SK16 9.0 s 1994 BT40-5DG10-90 63.6 BT40-SLNO6-75 211
e 1500 BT40-SDC12-90 63.6 BT40-SLNO8-75 M1
Bearing Spanner 15.4 NT50-C32-105 92 6 Ek‘tg:ggggj %8 ;g g BT40-SLN10-75 211
NT50-C42-115 119.0 | Brin aD610-120 0 BT40-SLN12-75 17.1
MTA/ B &%0¢09%< 580* une @t dae BT30-C20-80 61.0 BT40-SDG12-120 79°3 BT40-SLN16-75 17.1
MTA/B Morse Taper Toolholder g¥gg_g§g_?85 gjl] 8 COLLET - gijg_gtn%g_zgo ;g ;
MITA ~ MTB Bra0-c20-90 61.0  Collet SDCO6 1.9 BT40-SLN25-100 17.1
— BT40-625-90 61.0  Collet SDCO8 1.9 BT40-SLN25-150 25.3
- BT40°632°109 55.4  Collet SDG10 131 BT40-SLN32-100 17.1
i BT40-C42-100 105.7  Collet SDC12 13.1 BT40-SLN32-150 95 3
T T GT e ggg‘ggg‘}gg 720 BT40-SLN40-100 19.7
NO. xMT. . xL usb —LLo™ : 320°830° B o’ on® 30w’ E B¢ wpu arewdss BTS50—SLN06—105 46.1
BT30-MTA2-75 16.0 g$gg:gg§:} (3)2 19025' 67 Torsional Tapping Protection Toolholder BT50-SLN08-105 46. 1
BT30-MTA3-75 160 BT50-C32-165 119 BT50-SLN10-105 46.1
BT30-MTA4-75 160 BT50-032-200 145 4 BT50-SLN12-105 39.7
BT40-MTA1-120 26. 4 BT50-C32-250 171 ’ 9 BT50-SLN16-105 39.7
BT40-MTA1-45 18.6 BT50-C32-300 224.7 BT50-SLN20-105 39.7
BT40-MTA2-120 25.3 BT50-C42-115 119.0 BT50-SLN25-105 39.7
BT40-MTA2-60 16.0 BT50-C42-135 132.4 BT50-SLN32-105 39.7
BT40-MTA3-135 25.3 BT50-C42-165 145. 4 BT50-SLN40-105 42.4
BT40-MTA3-75 16.0  BT50-C42-200 171.9 - BT50-SLN40-150 52.9
BT40-MTA4-165 31.7  BT50-C42-250 211.7 ; ) BT50-SLN40-200 63.6
BT40-MTA4-90 17.1 BT50-C42-300 259. 3 BT50-SLN40-250 92.6
BT50-MTA1-120 55 4 SK50-C32-110 171.9 R o BT50-SLN40-300 105.7
BT50-MTA1-45 43. 6 JT50-C32-110 171.9 NO. xCol | etxL BT50-SLN50. 8-120 55.4
BT50-MTA2-135 52.9 Collet G20 3.6
BT50-MTA2-60 39 7 Collet C25 3.6 BT50-J4112 119.0 ©10-SLN4-100 22. 4
BT50-MTA3-150 5.9  ColletC32 3.6 | BTS0-Ja124 132.4° " (10-SLN4-150 22.4
BT50-MTA3-75 39.7  ColletC42 7.6 BT40-J4112 793 610-SLN6-100 22.4
BT50-MTA4—180 66. 1 Wrench G20/25/32/42 3.9 BT40-J4124 92. 6 C10-SLN6-150 22 4
BT50-MTA4-90 397  @pot 3208 ug* MT3-J4112 74.0 G12-SLN4-100 22.4
BT50-MTA5-105 43. 6  RBPRHRYDS BP0 B . MT4-J4112 79.3 C12-SLN4-150 22.4
BT50-MTA5-210 9.0 oo MT5-J4124 1004 G12-SLN6-100 22.4
NT40-MTA2 18.6  seif-Tion C12-SLN6-150 22.4
NT40-MTA3 18.6  Diil Chuck Tap Collets C12-SLN8-100 22.4
NT40-MTA4 18. 6 GT312 China Standard 16.0 C12-SLN8-150 224
NT50-MTA1-45 43 6 GT312 Japanese Standard 18.6 C16-SLN10-100 22 4
NT50-MTA2-60 42 4 GT24 China Standard 19.7 C16-SLN10-150 22.4
NT50-MTA3-75 424 GT24 Japanese Standard 22.4 C16-SLN6-100 22.4
NT50-MTA4-90 42.4 P——— - T C16-SLN6-150 22.4
NT50-MTA5-105 43 6 N?.dxccja le ewth ?Ss(’-[’) B2 BN BB DU on* v Beew dd C16-SLN8—100 22 4
Side Milling Tool Holder of Saw Blade 01 6_SLN8_150 22 4
BT40-MTB1-120 26:4 [ESSUEIEES 23.9 * C20-SLN10-100 25. 3
BT40-MTB1-45 18.6 APU16 Drill Chuck %(7) ?1 ©20-SLN10-150 25 3
BT40-MTB2-120 253 praoapbeS 80 7 020-SLN6-100 25.3
BT40-MTB2-60 16.0 BT30-APU16-100 39- 7 C20-SLN6-150 25.3
-MTB3- i €20-SLN8-100 25.3
BT40-MTB3-135 25.3  BT40-APU08-100 37.1
BT40-MTB3-75 16.0  BT40-APU13-100 371 C20-SLN8-150 25.3
BT40-MTB4-165 31.7 = - 39.7
r __ T
BT50-MTB1-120 55.4  BT50-APU13-180 79.3 FoTaw NT40-SLN16 19.7
BT50-MTB1-45 43.6  BT50-APU16-130 62.1 9. s@oll et NT40-SLN25 19.7
BT50-MTB2-135 52.9  BT50-APU16-180 84.7  BT40-SCA22-90 65.4 NT40-SLN32 19.7
BT50-MTB2-60 397  NT30-APU13-100 39.7  BT40-SCA25. 4-90 65. 4 NT50-SLN12 42.4
BT50-MTB3-150 52.9  NT40-APU13-100 39.7  BT40-SCA25.4-120 83.3 NT50-SLN16 42.4
BT50-MTB3-75 39.7 NT30-APU16-120 42.4 BT40-SCA27-90 65. 4 NT50-SLN20 42.4
BT50-MTB4-180 66. 1 NT40-APU16-120 42.4 BT40-SCA32-90 65. 4 NT50-SLN25 4.4
BT50-MTB4-90 39.7 BB FePDE BPocus1-1319. 7 NT50-SLN32 42.4
BT50-MTB5-105 436 SRtievRs dTudal—16 20 7 @ aeur 8@erus wia s 0ou NT50-SLN40-105 43.6
BT50-MTB5-210 90.0 C20-APU13 gl g Machine Tool Spindle Test Rod NT50_SLN42—1 05 47.6
NT40-MTB2 18,6 (20-APUTS g r — N NT50-SLN50. 8-120 55. 4
NT40-MTB3 18.6 C32-APU13 317 ——— J
NT40-MTB4 18.6  R8-APU13 343 - - 15020~11. 3-Probe 40.4
NT50-MTB1-45 43. 6 R8-APU16 30. 4 Fo B E WS 18025-11. 3—Probe 40. 4
NT50-MTB2-60 42.4  NT3-APU13 30.4 NOIxI 18025-20~Probe 40. 4
NT50-MTB3-75 42.4  MT4-APU13 331 BT30 92.9
NT50-MTB4-90 42.4  MT3-APU16 331 BT40 92.9  HSK32E-11. 3Probe 82.1
NT50-MTB5-105 43.6  MT4-APU16 1.9 BT50 131.0

APUWrench (087 13716)
DUV WL’ IV, BT DR BOBTIR BRITBIBE 33T .
eI vdot’ TeTead VAT R BouTT B3I T 9B @I W’ http//wwwngtw
FArAr aArararararairiIirar 1 rararairarararararir1t rarararariararar i1 raraririri1riririri avammm-=a+tonl ~n

N
oo



http://www.mzg.tw

CNC 6300 300*B3* 23’ 30N %)

CNC Tool Holder Accessories

T oRT’ L0 BReUTETT DTS whew LT CNC epo® 8%e0*30* 0Wed 3 = ey CNC epo® 80e0*30* 0wed s
CNC Tool Holder Puller Bolt CNC Tool Holder Lockset CNC Tool Holder Lockset

45°/60°/90°

CNC epo® 8%e0*30* 0Wed S =’ ey
CNC Tool Holder Lockset

BT DIN69872 1S0 JIs
FOFR B ST RES ST RES TR EI
BT30-45° 1.4 NBT30 14.3 18020 59.6 BT30 17.9
BT30-60° 1.4 18025 59.6 BT40 19.0
BT30-90° 1.9 HSK25 59.6 BT50 38. 1
BT40-45° 1.4 HSK32 59.6
BT40-45° &pevf Swes 1.9 HSK40 71. 4
BT40-60° 1.9 HSK50 71.4
BT40-90° 1.9 HSK63 83.3
BT50-45° 3.1 HSK100 119.0
BT50-45° &pcer Swoez g 2
BT50-60° 30 ohEteswss dutuds FoFT oBe* 33080° BE R a0 IB° 0BT B on* BB
BT50-60° &eco* Rwes 3.6 Z-Axis Setter CNC Edge Finder Machine Tool Spindle Cleaning Rod
BT50-90° 3.6
DIN69872-30 3.6
DIN69872-40 6.0
DIN69872-50 4.6
1S07388-30 4.6
1507388-40 6.0
1507388-50 3.6
J186339-30 3.6
J1S6339-40 6.0 Photoelectric dober® Toaoxtah soeFR oo Earamic Photoelectric
J186339-50 3.6 PR
MAZAK-BT40 6.0 FoFE IS FO TR WS No. = alj 5
MAZAK-BT50 -
Photoelectric Z-axis Setter | 61.9 Joaad type 2.4 BT30 3.9
OO0 Z-axis Setter 66.7 . 3.6 BT40 3.9
esoed’ bt e’3¢ type 10.7 BT50 5 4
JT e3¢ oot e type 13.3

Photoelectric type

eV’I L’ I3, BT D3R DUBTIIR BRIDDBIB NI 3T’
eI But’ FeBead VAT R BouTT B3 IITT 9B EIT W’ . http://www.mzg.tw
1 00000000 00000000000, OO0 90000 Oad4d e eva@mzatool.en


http://www.mzg.tw

OB BB DT BONY)

Lathe Chuck Accessories

233¢ 8° wF02d¢ o
Chuck T Block DDDDDD uUsD
5 inch 10.7
. 6 inch 11.9
> 8 inch 15. 4
10 inch 19.0
12 inch 22.1
BB* B 2T¢ 3R 0N S
o R WS’ Chuck Jaw Fixing Plate 30D 2DR
4 inch SBL-204 | 435.3 | SB-204 | 435.3 | SBS-204 | - 5 T
5 inch SBL-205 | 435 3 | SB-205 | 435 3 | SBS-205 | 482.9 ,ﬁ . 8 inch S
Faute #Eedaedds |6 inch SBL-206 | 492.9 | SB-206 | 492.9 | SBS-206 | 561.9 (¥ 7 8 inch 107 1
8 inch SBL-208 | 544.0 | SB-208 | 544.0 | SBS-208 | 629.7 - 0 ot -
10inch SBL-210 | 697.6 | SB-210 | 697.6 | SBS=210 | 800.0 inc 115.4
Hollow Hydrautic Chuck| 12inch SBL-212 | 1190.4| SB-212 |1190.4| SBS-212 | 1326.1 —————
R E T SBL-215 | 2642 9| SB-215 | 2642 9| SBS=215 |3000.0 @R B Tews saead S'v'oud
SRE @IV 4 inch 2DTK-206 | 647.6 | 3DTK=206 | 647. 6 | 4ADTK=206| 714.3  solid Hydraulic s
BedoarEds |8 nch 2DTK-208 | 782. 1 | 3DTK-208 | 782. 1 | 4DTK-208 | 869.0  Rotary Cylinder .
Hollow Hydraulic Chuck | 10inch 2DTK-210| 935.7 | 3DTK-210| 935.7 | 4DTK-210 | 1038. 1 2 g !ncm?g;g;
i 3JDB~206 | 988. 1 ) inc 131.0
s EEwasast |8 inch 3UDB-208 | 1121. 4 ; 8/10inch(1225)|150.0
o] roke .
Hollow Hydrautio Chuck | 10inch 3JDB-210 | 1258. 3 12 inch(1530) (197.6
e o 5 inch SBL—205KQ| 595. 3 | SB—205KQ | 547. 6 |SBS-205KQ| 666. 7 -
L e e & inch SBL-206KQ| 631 0 | SB-206KQ | 611 9 [SBS-206KQ) 714 3 ~ “*0°=ieorwsionermpems
Hollow Hal-Through |8 inch SBL—208KQ| 714. 3 | SB-208KQ | 681.0 |SBS—208KQ| 788.1  toliow Hydraulic T
Preumatic Chuck | 10inch SBL-210KQ| 785.7 | SB=210KQ| 750. 0 |SBS-210KQ| 908.6  Rotary Cylinder ]
4 inch INL-04 | 428 .6 | JIN-04 | 401 1 g !ncﬂ(ﬁgg%
5 inch INL-05 | 4524 | JIN-05 | 409.6 inch(1036) -
s aesargege |6 1NGH INL-06 | 500.0 | JN-06 | 459.6 6 inch(1246) |306.0
FREETO 8 inch INL-08 | 547.6 | JN-08 | 511.9 8 inch(1552) |357.1
Solid Hydraulic Chuck | 10pch INL-10 | 714.3 | JIN-10 | 666.7 10 inch(1875) |647.6
12inch INL-12 [1119.0] JN-12 | 1088. 1 12 inch(2091) 1309.6
15inch INL-15 IN-15 | 2309. 6 P —
«peegmge |5 inch| 1L-05 | 547.6] 2L-05 [511.9 | 8L-05 | 595.3
e |6 inon| 1L-08 | 595.3 | 2L-06 | 544.0 | 3L-06 | 642.9 Chuck Connecting Disc. gkt
~ £éhg Stroke 8 inch| 1L-08 | 619.0 | 2L-08 | 542.9 | 3L-08 | 666.7 ARG
Solid Hydraulie Ghuck | 10inch| 1L-10 | 833.3 | 2L-10 | 750.0 | 3L-10 | 881.0 5 fineh 214
veontBuidRedt |4 jnch JLS-206 | 892.9 6 inch 214
B0 BB TB DB |8 inch JLS-208 | 940.4 i
o Inc 8 inch 35.7
Hol\ovl;OHsdrSz:LEI)iI::eChuck 10inch JLS-210 | 1038. 1 10 inch 476
12 inch 71.4
BB 020°8° Y TRort 82076 »oB¢
Hard Jaw For esah oD
Hydraulic Chucks
5 inch .
6 inch 119.0
8 inch 131.0
». 10 inch 163.1
~ 12 inch 204.7
. 15 inch 369.0
e inch| 3GB-06 | 720.3
00 U3 hisdrdHaR SBRO TR - :
H@fauhccmck gjlnch 3G6B-08 | 839 3 DDDDDDDDDDDDDDDDDDDDDjDDDDD[
. 5 inch JYL-05 | 738.1 | JY-05 714.3 | JYS-05 | 833.3  Fan SoftJaw For St s
v ge |6 inCh JYL-06 | 785.7 [JY-06 | 761.9 | JYS-06 | 9047  “ereviccmce  EEEES
Vertital Hollow |8 inch JYL-08 | 928.6 |JY-08 904.7 | JYS-08 | 976.1 E
Hydraulic Chuck | 10jnch JYL-10 [ 1023.9|JY-10 988.1 | JYS-10 | 1107.1 - ',’:]‘zh
1 |
: e s 5 inch SBL-205KQL| 714.3 | SB—205KQL | 690.4 |SBS-205KQL| 785.7 .
- D;S;"’DE?D‘“DE;’“DD@Diﬂch SBL-206KAL| 773.9 | SB-206KAL | 750.0 |SBS-206KQL| 857. 1 10 inch
Hollow Half-Through inch SBL-208KQL| 904.7 | SB-208KQL | 881.0 |SBS—208KQL| 952.4 12 inch
Vertical 000000000000 t00neh SBL-210KQL| 976.1 | SB-210KQL | 952.4 |SBS—-210KQL| 1071.4 15 inch
DO0000E08000 0000000 00000 LHEYes0 a°=120° a°=120° av=1200
iifdtre‘ljjhwc':g;vucks @@ at/ 5 0000000000 00000000 IDOEIOO000DO00 000000 O AT I I O O [MO 000 00000 O OOOoH 000 0000 |
: : \‘ 5 Inch Soft Jaw For Hydraulic Chucks 6 Inch Soft Jaw For Hydraulic Chucks 8 Inch Soft Jaw For Hydraulic Chucks 10 Inch Soft Jaw For Hydraulic Chucks 12 Inch Soft Jaw For Hydraulic Chucks
[OddCc w w'e” [EI P et td) H w'e’ Sl el ts) H e eah oY H sah oL H
usbD usb usb
5H40 13.6 6H50 17.1 8H40 20.4 10H50 23.9 12H60 60 | 34.6
5H50 50 | 17.1 6H60 60 | 20.4 8H50 50 |20.4 10H60 60 |27.4 12H70 70 | 40.4
5H60 60 | 20.4 6H70 70 | 23.9 8H60 60 | 23.9 10H70 70 [31.0 12H80 80 [47.6
5H70 70 | 23.9 6H80 80 | 28.9 8H70 70 | 27.4 10H80 80 | 34.6 12H90 90 |59.6
AL G AR gR sRmrsHse000 0p80n 8918 06H30I000900[ 2.4 8H80 80 | 31.0 10H90 90 | 41.7 12H100 | 100 | 73.9
W  5H90 90 | 453 6H100 | 100 | 37.6 8H90 90 |357 10H100 | 100 | 50.0 12H120 | 120 | 80.0
BiEiEEEE RO 5H100 | 100 [51.1 6H120 | 120 | 51.1 8H100 | 100 | 42.9 10H110 | 110 | 54.7 12H150 | 150 | 94.0
6H130 | 130 |56.0 8H120 | 120 |51.1 10H120 | 120 | 59.6 B — a’=120° B
6H150 | 150 | 61.9 8H130 | 130 | 547 10H130 | 130 | 68.1 '@ CCC000nmmnEEAEEIna0Ho00
8H140 | 140 | 654 10H150 | 150 | 80.0 -
8H150 | 150 | 69.0 10H170 | 170 A sovorivs
8H200 | 200 |135.7 10H180 | 180 |109.6
15H100 | 100 |154.7
10H200 | 200 |146.4 454920 | 120 |170.3
15H150 | 150 |257.1

DT W’ IVR, BT D3R DO BTIIR BRINIBF NIIT.
eSS B0’ BB BT E’ BoT® 3T T 93 @ W’
T ] e e rrrrt eva@®moatanl on

http://www.mzg.tw



http://www.mzg.tw

Linkedin

QB0 0NF, SVFTDI D VOBV E R’

Dongguan Ming Ze Hardware Machinery Co., Ltd.

Operation Center: No.42-1,# Article,Changrong International Machinery Hardnery Hardware Plaza,No.56,
Wusha Zhen'anzhong Road,Changan town,Dongguan city,Guangdong Province, China

TEL: +86-013929492387

(Wechat/Facebook/Twitter/Whatsapp/Linkedin)

FAX: +86-769-85359513

Website: http://www. mzg. tw
E-mail: eva@mzgtool. cn



	1: Machine Tools Price
	2: P1.Caibide End Mill
	3: P2.Cemented Carbide Cutter
	4: P3.Extrusion Screw Tap
	5: P4.Apex Tap
	6: P5.Spiral Grooved Tap
	7: P6.Hand Tap/Circular Die
	8: P7.CCMT/CNMG..
	9: P8.DCMT/DNMG..
	10: P9.SCMT/SNMG/TCMT/TPGH..
	11: P10.TNMG/TNGG..
	12: P11.VCMT/VBMT/VNMG..
	13: P12.WNMG..
	14: P13.Thread Turning Tool
	15: P14.Cut-Off/Grooving/Back
	16: P15.External Grooving
	17: P16.Inner Hole Grooving
	18: P17.MGMN Grooving/Cut-Off
	19: P18.End Face/Inner Hole Grooving
	20: P19.CNC Turning Tool
	21: P20.CNC Turning Tool Parts
	22: P21.APMT Right-Angle Milling Cut
	23: P22.RPMW Round Nose Milling Cut
	24: P23.R Face Milling
	25: P24.Insert Type Quick Drill
	26: P25.Boring Tool
	27: P26.Boring Toolholder
	28: P27.ER/FMB Toolholder
	29: P28.GSK/MT/APU/SDC/SLN
	30: P29.CNC Tool Holder Accessories
	31: P30.Lathe Chuck Accessories
	32: Contact Us

